EDITION 2010
() AIR TORQUE

Pneumatic Actuators

PNEUMATISCHE STELLANTRIEBE

Pneumatic Actuators with interesting Innovations 1

Principle of Function with sizing examples
The principle of double acting actuators 2

The principle of single acting actuators

The AIR TORQUE - Part turn Actuators with technical Details

Technical Description Protection A-B -D - E - P - EC - Stainless Steel 3
Technical Data of the EDITION 2010 in overview with technical details 4
Technical Data DR/SC00010U - DR/SC10000U 5

Data sheets Actuators 90° » Part description ¢ Data sheet stainless steel « Data sheet spare parts

Air consumption

Special actuators 6
Turning range 120°-135°-180° ¢ 3-position 90°/180° » Speed control « Fail safe position

SC 180° (spring return) ¢ Extreme low femperature ¢ Operating media water

Accessoiries 7
Limit switch kit ¢ Multifunction indicator « Adaptors ¢ Centerings ¢ Block and Lock

Travel stop adjustment ¢ Indicator for switches

The Automation with technical Details 8
In Progress

Manual and Maintenance 9
Manual

Maintenance

The electric Actuators (see separate data sheets) 10
ER Premier, ER Plus, VR, VT, VRX, VSX

Company Profile and References 11

Appendix 12

Certificate of Approval ¢ GOST
Classification of Ships and Mobile Off Shore Units

More Information ...

info@airtorque.de ¢ www.airtorque.de

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy.

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 00e



mae :::Z;I;ce ourselves... @ m
S —,

. Part Turn Actuators SREDTATISCHE STELLANTRIEBE
=T

Air Torque GmbH - 4th Generation pneumatic part turn actuators
Innovations for the future with new and intelligent highlights!

The company AIR TORQUE GmbH, located in Efflingen, near to
the Black Forest, is your technical partner for pneumatic and
electric actuators.

The development and production of the pneumatic actuators
is done in accordance with the practicable standards, for
example the ISO 5211, DIN 3337, VDI/VDE 3845 or the

NF E29-409 considering the ISO 9001.

Our team in the sales depart-
ment, the project planning
and in the assemblage
assures to you a perfect
support and a high quality
standard.

To garantee the daily delive- == v
) ) ) S o " ]

ries we maintain the world- RS G
wide biggest stock with Air Torque part turn
actuators.

Additional we are to meet online af www.airtorque.de anytime.
Here we provide beside the technical informations a large download area
with documentation.

AIR TORQUE part turn actuators of the 4. Generation:
Interresting news and a lot of fechnical developments
combine best practice now with the requirements of the futu-
re and fulfil the newest demands of the ISO 5211 yet!

@ Body - The Aluminium body with the appea-
ling ‘New Edge Design’ is inside and outside
complete coated with ALODUR.

Advantages

of the ALODUR coating:
extremely abrasion resistant,

low surface roughness, optimal resistance

@ External stroke adjustment - a great saving of time is achieved,

when mounting the actuator on the valve, through the service friendly

adjustment of both end positions with the precise cam system. The

rotation angle is easily changeable with a special cam, f.e. for 0°-15° and 75°-90°.
Safety for emergency cases is possible through blocking of the actuator. This new
feature can be used by simply changing the screw into a longer one.
All adjustments of the end positions are possible service
friendly without disassembling.

@ Multifunction indicator - the position of the multifunction indicator is
quick adapted for a parallel or 45° position of the square as well as
for along or across to the pipe mounted actuator positions.
The direct mounting - through exchange of the yellow inserts the multifunction indicator
is suitable as cam for the direct mounting (mechanic, inductive).

@ The connections - ISO 5211, DIN 3337 (FO3-F25), VDI/VDE 3845 (Size 0 to 4)
ISO T (CNOMO) and NAMUR for flexible usability and exchangeability.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2009.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Advantages

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0101e



We infroduce ourselves...
Pneumatic
Part Turn Actuators

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Technical details

The tooth profile, and so the way of force, for the used rack and pinion
principle was optimized through the involute gearing.

@

IR

The driveshaft - square - flathead - key - star

A more flexible construction is obtained through the possibility of free adjust-
ment of the driveshaft in 45°-steps (square on the bottom).

With a rotation of the drive shafft the requested position can be realized. For
correct position indication the plug of the indicator (drive shaft top) is designed
as an octagon, so the position indicator also can be mounted in 45°-steps.

Optional a flathead, key connection or a star is available (for the star the lower
usable torque is to consider).

Additional it is possible to adjust the forque through the reliable spring
cartridges, made with high quality spring steel, according fo the requi-
rements.

The new multifunction indicator for 4th Generation actuators (2. Line).

The multifunction indicator

The new indicator is suitable for 45° or 90° position (s. a.). A visual indication is
realized through coloured inserts (white) in the (red) indicator. The inserts are
variable to fit.

The indicator has a VDI/VDE-interface. So mostly every standard aftachement can
be mounted without problems.

M6x12

The direct mounting
Through exchange of the standard inserts with metal inserts the multifunction indicator can be
quick and easy changed for direct mounting.

With this new Multifunctionindicator nearly the most of the possibilities with common switches
are easily and variable to mount. And all this with the standard cams !

Example for
mechanical
or
IFM sensors

Plastic insert for
standard indication
Metal insert for sensors
Size
DR/SC00015
to
DR/SC00150

Example for
proximity
switches

(P+F, TURCK

efc..)

Example for
multiport valve

Plastic insert for o
indication

mechanical
switches, variabel
upgradeable with a
metal pin for sensors

possible plugs for the
indication of
multiport valves

Note: Indicators for the actuator sizes DR/SC00220 o DR/SC05000 @85 / @115 see page 0706/0707 —>

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2007.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Advantages

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0102e



o mmes () AR TORQUE

L= DR/DL00015-05000

PNEUMATISCHE STELLANTRIEBE
e & o

The principle of the double acting actuator

If the port 2" is under pressure and port ‘4" evacuated, the both pistons are
- moving info the endpositions and a turning of the drive shaft is the result (a
- furning of the drive shaft in its opposite is possible through a tfurned mounting
. of the pistons -> type DL).

] —\ [ Ml
[

Dz) Iff+=

[ | |\l ) |
| |
"2" t ﬂ "4" "2" U t "4"

Fig. DR0O2: Top view and principle of a double acting actuator under pressure Principle of a double acting actuator

If the port 4" is under pressure and the port 2" de-aerafed, the pistons are moving into the middle position. This also has
as result a furning of the drive shaft (a turning of the drive shaft in its opposite is possible through a tfurned mounting of
the pistons).

With rack and pinion construction the output forque of an actuator is obtained by mulfiplying the piston force (given by
air supply pressure) by the pitch shaft radius (lever arm) as shown in fig. DRO3 less the force lost for friction (efficiency).
Because of this concept, the output torque is linear as shown in the diagram DR04 in both clockwise and counterclock-
wise rofation.

The suggested safety factor for double acting actuators in normal working conditions is 15-20%.

h,,= lever arm (effective)
f T

Torque AT Mo
9 [Nm] M b, actuator
<= | Pressure
<
2 L 0° Rotation [°] 90°
Fig. DRO3: Top view of a double acting actuator Fig. DRO4: Principle of the forque
under pressure (double acting)

Sizing example for double acting actuator (data see datasheet):

Published butterfly valve torque =40 Nm
Safety factor =40 Nm + 20 % = 48 Nm
Air supply pressure available =5 bar

The double acting AT actuator that produces a minimum of 48 Nm at 5 bar is the DR60.

MD
[Nm]

M b, broooso

Flg DRO5: M b, sutterly vaive
Principle of the sizi le-acti tuat >
rinciple of the sizing a double-acting actuator 0 Rotation [] 90°
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2007.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRDL00015-05000

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0201e



fgescro @Am TORQUE
SC/SO00015-05000

ENEUMATISGHE STELLANT RIEBE

Principle of Single Acting Actuators (Spring Return)

If the port 2" is under pressure and port ‘4’ evacuated, the both pistons are
moving into the endpositions and compress the springs - result is a turning
of the drive shaft (a furning of the drive shaft in its opposite is possible
through a turned mounting of the pistons -> type SO).

-g@ﬁiﬁ;@

L

]
"2"' Ll "4" "2" U

Fig. SCOT:
Fig. SC02: Top view and principle of a single acting actuator under spring pressure Principle of a single acting actuator

By of the spring force a fail-save position by air or electricity loss is guaranteed.

In spring return applications the output torque is obtained in two different operations. Each operation produces two
different values in relation to the stroke position (0° or 90°). For spring return actuators the output torque is produced by
multiplying the force (air or springs acting on the pistons) by the lever arm.

First case:

The output torque is generated by air supply
pressure at port 2" after compressing the springs,
called ‘output torque air stroke’. In this case air £~
forces the pistons from the 0° to the 90° position

h,, = lever arm (effective)

Moo, ai pressure

and consequently the torque starts from a high s @ =
value and during the stroke it constantly decre-
ases until 90° due to the natural force that springs . L
generate (oppose) when they are compressed 0° Rotation [] 90°
(see diagram SC04). Fig. SCO03: Diagram SC04:
Top view of a single-acting actuator Principle of the air forque

h,=lever arm (effective)
)i |

Torque N[
L on Y

Second case:
The output torque is generated by the force

that springs release onto the pistons when air
Spring fails, called ‘output torque spring stroke’. In this
g torque case the torque, starting from the 90° positi-
Xmm on, constantly decreases until 0° because of
' . HL | springs extending (see diagram SC06).
0° Rotation [°] 90°
Fig. SC0&: Diagram SCQ06:
Top view of a single acting actuator Principle of the spring forque

AT spring return actuators are designed to produce a balanced torque in the two conditions explained above when the
number of springs per side is equal to the air pressure supply (4 bar - 4 springs each side) as shown in the diagram SCO07.
For certain applications it is possible to achieve (where desired), the unbalanced torque, as shown in diagram SCO08,
by changing the relation between the number of springs per side and air pressure supply in bar (for example 6 springs
and 5,5 bar or vice versa).

In spring return applications two conditions can be archieved: air failure fo close or failure o open.
The suggested safety factor for spring return actuators in normal working conditions is 20-25%.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2007.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. SCSO00015-05000

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0202e



. S —
i Goncraion /2> AIR TORQUE

SC/SO00015-05000

. PNEUMATISCHE STELLANTRIEBE
et

Sizing of a single acting actuator (Data see datasheet):

1. Spring to close (when air fails):

Published ball valve torque =80 Nm
Safety factor =80 Nm + 20 % = 96 Nm
Air supply pressure available =5 pbar

The spring return AT actuator selected is the SC300 - 5, because it produces the following values:

Spring stroke 0° =105 Nm
Spring stroke 90° =165 Nm
Air stroke 0° =172 Nm
Air stroke 90° =112 Nm Mo
[Nm] Mo, air pressure Mo, spring
Safety factor
Valve torque _
0° Rotation [°] 90° -

Diagram SCO07: Principle of balanced torque

2. Spring to open with unbalanced torque (when air fails):

Published ball valve torque =45Nm
Safety factor =45 Nm + 20 % = 54 Nm
Air supply pressure available = 5,5 bar

The spring return AT actuator selected is the SC150 - 5, because it produces the following values:

Spring sfroke 0° =50,7 Nm
Spring stroke 90° =788 Nm
Air stroke 0° =056 Nm
Air stroke 90° =67.5Nm
Mo
[Nm] Mo, air pressure Mo, Spring
Safety factor
Valve torque o
o 0° Rotation [°] 90° -
Diagram SCO08: Principle of unbalanced torque
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 07.2007.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. SCSO00015-05000

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0203e




Version A

Technic DR/SC

DR/SC00015-10000

/2\) AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Rack and pinion actuator with constant torque version ‘A’

throughout the entire output rotation with convincing advantages

The body is ALODUR coatfed, inside as well as outside. The
end caps are chromatized and coated with light-grey poly-
ester. The coating is abrasion-free and is used for standard
industrial purposes. The ALODUR-coating has compared
with the common hard anodizing the advantage of a better
surface roughness with nearly the same strengh, by a better
stability.

External seviceable travel stops for open and close position
allow a fine adjustment of £ 4°, This special feature eliminates
alignment problems due to a clearance of connections
between the stem of the valve adaptor and the shaft of the
actuator.

Due to a triple bearing of the piston all actuators have a
constant torque, even under high load. Beside the guides on
the outside of the piston there is an additional guide inside
which absorbs the cross load through the infegrated support
at the drive shaft.

Test Certificate:

Salt spray test:
Kesternich test:

no. SAC/655/98

no. SAC/299/98 GOST:

Classification of ships:

The drive shaft is held in position by two bearings, one at
the top of the pinion, one at the botfom. These guarantee
less friction and abrasion-free operation. Due to the special
design of the bearings at the shoulders of the piston, the
drive shaft is blowout proof and fulfills the hard US-standards
for product liability.

The drive shaft has a 25-30 um electroless nickel coating.

The bearings are temperature resistant to 155°C. Because
of an internal retaining shoulder the bearings are blowout
safe.

The maintainance free springs allow a safe and simple
assembly and disassembly. The adaptation of the AT

- actuators to your working conditions with the recom-
mended pneumatic pressure can so be arranged. The
conversion of a double acting fo a spring return actuator
can be easily managed. Only the necessary springs have
to be mounted. This advantage of AT - actuators reduces
stocking costs significantly.

Silicon free:

All actuators are silicon free according fo the automobile
industry recommendations.

Exception: High and low temperature actuators

Serial inspection:

Each actuator has to pass a comprehensive serial inspec-
fion with e.g. a tightness / density check and a torque
check. After passing the inspection the actuator is given a
serial number according to ISO 9001.

Approval:

DET NORSKE Nr. P-12465
no. 7435773, PPC 00-26447

’ Parts and Protection suitable not recommended
Protection
Body End-Caps Drive Shaft Pistons for for
Material EN AW 6063 GD-AISi8.5Cu3.5Fe C22 GD-AISi8.5Cu3.5Fe
caustic soda,
el eurselss Carbon steel anodized
Description ALODUR Polyester g general all strong acids
ted ENP black
oS service ol
Coating 30-35 um 80 - 90 um 25-30 um 15-20 um
basic solutions
Colour light grey light grey, Ral 9007 black
= This coating is achieved through a special method, which uses a special surface freatment with brushing and
rocess
sandblasting followed by an electrochemical oxidation of the aluminium surface.
Good corrosion resistance, very high surface hardness for good abrasion resistance
Advantages in connection with the standard hard anodation the inside surface roughness was reduced about 40%.
The outcome of this is lower friction in combination with a higher sealing lifetime.
Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 09.2009.
No guarantee for accuracy.
Older data sheets are invalid.

Version A
0301e



Version B

Technic DR/SC

DR/SC00015-10000

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Rack and pinion actuator with constant torque version ‘B’

throughout the entire output rotation with convincing advantages

The body is hard anodized, inside as well as outside. Additional
the body is coated with PTFE. The end caps are chromatized
and coated with light-grey polyester. The coating resists light
acids and basic solutions.

External seviceable fravel stops for open and close position
allow a fine adjustment of + 4°, This special feature eliminates
alignment problems due to a clearance of connections
between the stem of the valve adaptor and the shaft of the
actuator.

Due to a triple bearing of the piston all actuators have a
constant torque, even under high load. Beside the guides on
the outside of the piston there is an additional guide inside
which absorbs the cross load through the integrated support
at the drive shaft.

Test certificate:

Salt spray testt:
Kesternich test:

Nr. SAC/656/98

Nr. SAC/300/98 GOST:

Classification of ships:

The drive shaft is held in position by two bearings, one at
the top of the pinion, one at the boffom. These guarantee
less friction and abrasion-free operation. Due to the special
design of the bearings at the shoulders of the piston, the
drive shaft is blowout proof and fulfills the hard US-standards
for product liability.

The drive shaff has a 25-30 um electroless nickel coating.

The bearings are temperature resistant to 155°C. Because
of an internal retaining shoulder the bearings are blowout
safe.

The maintainance free springs allow a safe and simple
assembly and disassembly. The adaptation of the AT

- actuators to your working conditions with the recom-
mended pneumatic pressure can so be arranged. The
conversion of a double acting to a spring return actuator
can be easily managed. Only the necessary springs have
to be mounted. This advantage of AT - actuators reduces
stocking costs significantly.

Silicon free:

All actuators are silicon free according to the automobile
industry recommmendations.

Exception: High and low temperature actuators

Serial inspection:

Each actuator has to pass a comprehensive serial inspec-
tion with e.g. a tightness / density check and a torque
check. After passing the inspection the actuator is given a
serial number according to ISO 9001.

Approval:

DET NORSKE Nr. P-12465
no. 7435773, PPC 00-26447

info@airtorque.de - www.airtorque.de

Older data sheets are invalid.

q parslandisiolecron suitable not recommended
Protection
Body End-Caps Drive Shaft Pistons for for
Material EN AW 6063 GD-AISi8.5Cu3.5Fe C22 GD-AISi8.5Cu3.5Fe )
general chlorine,
- s Shlteel el Carbon steel anodized, service sulphuric
Description + PTFE Polyester ENP -
coated coated blac! Caustic Soda and salted
Coating PTFE 25 - 30 um 80-90 um 25 -30 um 15-20 um inlow environment
Colour light grey light grey, Ral 9007 black CelueEteileln ilueerele
= This coating is achieved through a special method, which uses a special surface treatment with brushing and
rocess
sandblasting followed by an electrochemical oxidation of the aluminium surface. Add. the body is PTFE coated.
Optimal corrosion resistance, through PTFE coating highest chemical resistance, PTFE has a wide range of
Advantages
temperature application. End cap Polyester coated, therefore more cost-efficient than D-version.
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 09.2009.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Version B

0302e



Version D

Technic DR/SC

DR/SC00015-10000

/2\) AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Rack and pinion actuator with constant torque version ‘D’
throughout the entire output rotation with convincing advantages

The body is hard anodized, inside as well as oufside. Additional
the body is coated with PTFE. The end caps are chromatized
and also coated with PTFE. The coating resists acids and
basic solutions.

External seviceable fravel stops for open and close posifion
allow a fine adjustment of + 4°, This special feature eliminates
alignment problems due fo a clearance of connections
between the stem of the valve adaptor and the shaft of the
actuator.

Due to a friple bearing of the piston all actuators have a
constant torque, even under high load. Beside the guides on
the outside of the piston there is an additional guide inside
which absorbs the cross load through the integrated support
at the drive shaft.

Test certificate:

Salt spry test:
Kesternich test:

no. SAC/890/96

no. SAC/896/96 GOST:

Classification of ships:

The drive shaft is held in position by two bearings, one at
the top of the pinion, one af the bottom. These guarantee
less friction and abrasion-free operation. Due to the special
design of the bearings at the shoulders of the piston, the
drive shaft is blowout proof and fulfills the hard US-standards
for product liability.

The drive shaft has a 25-30 um electroless nickel coating.

The bearings are temperature resistant to 155°C. Because
of an internal retaining shoulder the bearings are blowout
safe,

The maintainance free springs allow a safe and simple
assembly and disassembly. The adaptation of the AT

- actuators to your working conditions with the recom-
mended pneumatic pressure can so be arranged. The
conversion of a double acting fo a spring return actuator
can be easily managed. Only the necessary springs have
to be mounted. This advantage of AT - actuators reduces
stocking costs significantly.

Silicon free:

All actuators are silicon free according to the automobile
industry recommendations.

Exception: High and low temperature actuators

Serial inspection:

Each actuator has to pass a comprehensive serial inspec-
fion with e.g. a tightness / density check and a torque
check. Affer passing the inspection the actuator is given a
serial number according to ISO 9001.

Approval:

DET NORSKE Nr. P-12465
no. 7435773, PPC 00-26447

) Parts and Protection suitable not recommended
Protection
Body End-Caps Drive Shaft Pistons for for
Material EN AW 6063 GD-AISi8.5Cu3.5Fe C22 GD-AISi8.5Cu3.5Fe general
- ALOIDEL el Carbon steel anodized, SR nitric acid
Description + + ENP black acids or
PTFE resin coated special PTFE and all
basic solutions painting solutions
Coating 50 - 55 um 80-90 um 25-30 um 15-20 um in low
Colour light grey light grey black concentration
e This coating is achieved through a special method, which uses a special surface treatment with brushing and
rocess

sandblasting followed by an electrochemical oxidation of the aluminium surface. Add. the body is PTFE coated.

Optimal corrosion resistance, through PTFE coating highest chemical resistance, PTFE has a wide range of
Advantages temperature application.

In connection with the standard hard anodation the inside surface roughness was reduced about 40%.

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 09.2009.
No guarantee for accuracy.
Older data sheets are invalid.

Version D
0303e



Version E

et

Technic DR/SC

DR/SC00015-10000

/2\) AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Rack and pinion actuator with constant torque version ‘F’
throughout the entire output rotation with convincing advantages

The body is hard anodized, inside as well as outside. Additional
the body is coated with PTFE. The end caps are chromatized
and also coated with PTFE. The coatfing resists acids and
basic solutions.

External seviceable travel stops for open and close position
allow a fine adjustment of £ 4°, This special feature eliminates
alignment problems due to a clearance of connections
between the stem of the valve adaptor and the shaft of the
actuator.

Due to a triple bearing of the piston all actuators have a
constant torque, even under high load. Beside the guides on
the outside of the piston there is an additional guide inside
which absorbs the cross load through the infegrated support
at the drive shaft.

The drive shaft is held in position by two bearings, one at
the top of the pinion, one af the bottom. These guarantee
less friction and abrasion-free operation. Due to the special
design of the bearings at the shoulders of the piston, the
drive shaft is blowout proof and fulfills the hard US-standards
for product liability.

The material of the drive shaft is stainless steel.

The bearings are temperature resistant fo 155°C. Because
of an internal retaining shoulder the bearings are blowout
safe,

The maintainance free springs allow a safe and simple
assembly and disassembly. The adaptation of the AT

- actuators to your working conditions with the recom-
mended pneumatic pressure can so be arranged. The
conversion of a double acting to a spring return actuator
can be easily managed. Only the necessary springs have
to be mounted. This advantage of AT - actuators reduces
stocking costs significantly.

Silicon free:

All actuators are silicon free according to the automobile
industry recommendations.

Exception: High and low temperature actuators

Serial inspection:

Each actuator has to pass a comprehensive serial inspec-
fion with e.g. a tightness / density check and a torque
check. Affer passing the inspection the actuator is given a
serial number according to ISO 9001.

Test Certificate:

Salt spray fest:
Kesternich fest:

no. SAC/886/96
no. SAC/897/96

Approval:

DET NORSKE Nr. P-12465
no. 7435773, PPC 00-26447

Classification of ships:
GOST:

Parts and Protection suitable
Protection
Body End-Caps Drive Shaft Pistons for
Material EN AW 6063 GD-AISi8.5Cu3.5Fe S.8. 303 GD-AISi8.5Cu3.5Fe through $.8. shaft good
bescrinfion ALO+DUR chrorrlohzed daimoss stol anodized, resistance
P . X black against strong environmental
PTFE resin coated special PTFE
- influences
Coating PTFE 25 - 30 um 80 - 90 um 15-20 um e
Colour light grey light grey black basic solutions
= This coating is achieved through a special method, which uses a special surface treatment with brushing and
rocess
sandblasting followed by an electrochemical oxidation of the aluminium surface. Add. the body is PTFE coated.
e . Optimal corrosion resistance, through PTFE coating highest chemical resistance, PTFE has a wide range of
vantages
temperature application. With stainless steel drive shaft optimal chemical resistance.
Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 09.2009.
No guarantee for accuracy.
Older data sheets are invalid.

Version E
0304e




Version P

.

v R

Technic DR/SC

DR/SC00015-10000

G

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Rack and pinion actuator with constant torque version ‘P’
throughout the entire output rotation with convincing advantages

The body is special hard anodized (ALODUR), inside as well
as outside. The end caps are special hard anodized too. The
coating is abrasion-free and resists against different aggres-
sive medias.

External seviceable fravel stops for open and close position
allow a fine adjustment of + 4°. This special feature eliminates
alignment problems due to a clearance of connections
between the stem of the valve adaptor and the shaft of the
actuator.

Due to a triple bearing of the piston all actuators have a
constant torque, even under high load. Beside the guides on
the outfside of the piston there is an additional guide inside
which absorbs the cross load through the integrated support
at the drive shaft.

Test certificate:

The drive shaft is held in position by two bearings, one at
the top of the pinion, one at the bottom. These guarantee
less friction and abrasion-free operation. Due o the special
design of the bearings at the shoulders of the piston, the
drive shaft is blowout proof and fulfills the hard US-standards
for product liability.

The drive shaft has a 25-30 um electroless nickel coating.

The bearings are temperature resistant to 155°C. Because
of an internal retaining shoulder the bearings are blowout
safe.

The maintainance free springs allow a safe and simple
assembly and disassembly. The adaptation of the AT

- actuators to your working conditions with the recom-
mended pneumatic pressure can so be arranged. The
conversion of a double acting to a spring return actuator
can be easily managed. Only the necessary springs have
to be mounted. This advantage of AT - actuators reduces
stocking costs significantly.

Silicon free:

All actuators are silicon free according to the automobile
industry recommendations.

Exception: High and low temperature actuators

Serial inspection:

Each actuator has to pass a comprehensive serial inspec-
tion with e.g. a tightness / density check and a torque
check. After passing the inspection the actuator is given a
serial number according to ISO 9001.

Salt spray fest:
Kesternich test:

no. SAC/304/98
no. SAC/301/98

Approval:

Classification of ships:

GOST:

DET NORSKE Nr. P-12465

no. 7435773, PPC 00-26447

) Parts and Protection suitable not recommended
Protection
Body End-Caps Drive Shaft Pistons for for
Material EN AW 6063 GD-AISi8.5Cu3.5Fe C22 GD-AISi8.5Cu3.5Fe
. Caustic soda
- General 4
Description ALODUR hard anodized ENP Cliteelriztel !
e ] black services, all strong acids
Codti 30-35 30-35 25-30 15-20 ow saed =i
oatin - m - m - m - m -
\ e e e e = Soionme i basic solutions
; Colour grey silver grey black
{ = ALODUR is a special coating treatment, which is created in connection with a electro-chemical reaction of the
rocess
Al base material. This ALODUR coating is generated in two different coating tfreatments.
Comparable to the good surface hardness like the hard anodizing. Therefore high life time. Very good corrosion
Advantages resistance in general service and salted environment. Through the lower layer thickness compared with hard
anodizing a lower friction in connection with a higher sealing life time is achieved.
Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34

info@airtorque.de - www.airtorque.de

Modifications reserved. Date 09.2009.

No guarantee for accuracy.

Older data sheets are invalid.

Version P
0305e



4th Generation
() AIR TORQUE

Stainless Steel Actuators

ENEUMATISGHE STELLANT RIEBE

FORGED STAINLESS STEEL

Rack and Pinion Actuator
Air Torque has developed a new line of forged stainless steel actuators with material fraceability. This new line of
stainless steel actuators has been designed to be used in corrosive environment by using forged high quality stain-
less steel body material in A 182 F316/ EN 10088/3 1.4401.

Appropriate Field of applications:

* Food Industry * Enology

* Pharmaceutical * Marine and Offshore Plant
* Sanitary » Corrosive environments

* Cosmetics

These actuators are manufactured in Double acting and Spring Return versions.
The stainless steel actuators are also available with optional polished surface, particulary for Sanitary and
Pharmaceutical applications.

FEATURES AND BENEFITS

The new line of stainless steel actuators offers a lot of innovative design features and benefits like:

* High performance * Two independent external fravel stop

* Full compliance with worldwide latest adjustments, of 4° in both, open and
specifiactions close positions

* Simple, compact and modern shape o * Dual piston rack and pinion design for
avoid cavity contamination and corrosive compact construction, symmetric moun-
deposit build up ting position, long life cycle and fast ope-

* Namur air connection interface for easy ration. Reverse rotation can be performed
mounting of solenoid valves on site by simply inverting the pistons

e Namur mounting dimension on top for * Modular preloaded spring cartridge
simply ancilliary installation design. With coated springs for simple ver-

* Full conformance to the latest specifications: satile range, greater safety and corrosion
ISO 5211 and DIN 3337 resistance

OPTIONS

1. Polished surface particulary for Sanitary and Pharmaceutical applications.
2. Stainless steel pistons and spring cartridges.
3. Maximum supply pressure up to 15 bar when supplied with stainless steel pistons.

For technical data see chapter 6, page 0619e and 0620e.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2007.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. S.S. Actuators

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0306e



EDITION 2010
Version EC
DR/SC00015U-10000U

RAL 7046

Parts and coating specifications:

) AIR TORGUE

suitable for

*General service

* Acid or basic solutions
in low concentration

not suitable for:

« Nitric acid

*N-methyle pirolidone
(Solvent)

137131
::::' Quantity / Note Part Description Standard Material Corrosion Protection Coaﬂn%‘T:Ickness Standard Colour
02 2 not for DR/SC00010U Stop cap screw Stainless Steel A4 70 (ISO 3506) -
03 2 not for DR/SC00010U Washer Stainless Steel Ad (ISO 3506) -
04 2 not for DR/SC00010U Nut (Stop screw) Stainless Steel A4 70 (ISO 3506) -
10 1 for DR/SC00010U-5000U Thrust Washer (Pinion) Stainless Steal AISI 304
13 [8/12/16| for DR/SC0O0010U-5000U Cap Screw (End cap) Stainless Steel A4 70 (ISO 3506)
131 16 only for DR/SC10000U Washer (Cap Screw end cap) | Stainless Steel A4 70 (ISO 3506)
18 1 for DR/SC00010U-10000U Spring clip (Pinion) Stainless Steel AlSI 302
for DR/SC00010U-5000U Pressure Die Cast Aluminium alloy Anodized + 30-40
30 2 End cap «18f . Primer coating 30-40 RAL7046
only for DR/SC10000U Cast Aluminium alloy « 2nd ¢, Expoy coating -4
for DR/SC00010U - 5000U Pressure Die Cast Aluminium alloy
40 2 Piston Anodized 10-15 Black
only for DR/SC10000U Cast Aluminium alloy
Anodized + 25
for DR/SC00010U-4000U Extruded Aluminium alloy «15f . primer coating 5-10
« 2Nd ¢, Expoy coating 40-70
50 1 Body RAL7046
Anodized + 15-20
LS DR/?&%%%OU e Cast Aluminium alloy <18t C. Primer coating 30-40
« 2Nd C. Expoy coating 40-60
60 1 for DR/SC00010U-10000U | Drive shaft (With Integral Top) Stainless Steel AlSI 316 (1.4401) EN.P. 20-25

Note: For all other part descriptions and material see technical data sheet of the proper model

Test cetificate: Approval:
Salt spray test: Nr. SAC/892/96 Classification of ships: DET NORSKE Nr. P-12465
Kesternich test: ~ Nr. SAC/895/96 GOST: Nr. 7435773, PPC 00-26447

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 11.2010.
Preliminary release. No guarantee for accuracy.
Older data sheets are invalid.

Version EC
0307e



_—
Specfisafion/Toraue AIR TORQUE
————

DR/SC00010U-10000U

PNEUMATISCHE STELLANTRIEBE

Protection and Serviceability
Representation TS Part and Protection suitable
Body End Caps Drive Shaft Pistons for
chromatized and carbon steel )
A ALODUR e ——— ENP normal anodized .
Coating 30-35um 80-90 um e 15-20 um service
Colour bright S.S. S.S. Ral 9007 H black
ALODUR + PTFE chromatized and carbon steel ) general service,
@)
B . normal anodized
coating polyester coated ENP acid or basic
Coating | 30-35/25-30 um 80-90 um 0530 um 15-20 um solufions n low
Colour light grey $.S. Ral 9007 H black concentration
ALODUR +PTFE chromatized and carbon steel ) aggressive
D ) normal anodized
coating PTFE coating ENP environment,
Coating | 30-35/25-30 um 80-90 um 0530 um 15-20 um acid or basic
Colour light grey light grey H black solutions
+ chromatized an . ) )
ALODUR +PTFE h tized and
E . . normal anodized | acid or basic
coating PTFE coating
stainless steel solutions,
Coating 30-35/25-30 um 80-90 um 15-20 um seawater
Colour light grey light grey black
resin impregnated carbon steel ) . .
P ALODUR + hard anadized ENP normal anodized acid or basic
solutions,
Coating 30-35 um 30-35um 2530 um 15-20 pm seawater
Colour bright S.S. bright S.5. u black
EC At(:g)L(J\I; ’ Chrg?g;':?ﬁ ’ normal anodized | 98neral service,
acid or basic
Edelstahl o
Coating 80-95 um 80-95 um 15-20 pm solufions in low
Colour blue grey blue grey black concentration
Conditions of Usage DR/SC05000 only available in protection A or P
Air Supply Temperature Range according to Design max. Turning Range
filtered, lubricated or dry air, standard -20°C to +80°C press. +4° adjustable
non corrosive media, Dp -20°C (pew point) low temperature -40°C to +80°C 8 bar 90°
(Dp min. 10°C < Tarea), particle size < 30 um high temperature -15°C to +150°C a 120°-135°-180° o.r.
DR Output Torque for Double Acting Actuators in Nm
2,5bar | 3bar | 3,5bar | 4bar | 42 bar | 4,5bar | Sbar | 5,5bar | ébar | 6,5bar | 7bar | 7,5bar | 8bar
00010V 6,0 7.2 84 9.6 10,1 10,8 12,0 13.2 14,4 15,6 16,8 18,0 19.1
00015V 8.3 10 11.6 13.3 14 15 16.6 18.3 19.9 21.6 23.3 24.9 26.6
00030U 14.7 17.6 205 235 24.6 264 29.3 32 352 38.1 41 44 469
00060U 29.1 34.9 40.7 465 489 524 582 64 69.8 75.6 814 87.3 93.1
00100V 458 54.9 64.1 73.2 769 824 915 101 110 120 128 138 146
00150U 66.5 79.8 93.1 106 112 120 133 146 160 173 186 199 213
00220V 107 129 150 172 181 193 215 236 258 279 301 322 344
00300U 138 166 194 222 233 249 277 305 332 360 388 415 443
00450U 217 261 304 348 365 391 435 478 522 565 609 652 696
00600V 284 340 397 454 477 511 567 624 681 737 794 851 908
00900U 383 459 536 613 643 689 766 842 919 996 1072 1149 1225
01200V 532 638 745 851 893 957 1064 1170 1276 1383 1489 1595 1702
02000V 893 1072 1251 1430 1501 1608 1787 1966 2144 2318 2502 2684 2859
03000U 1297 1556 1815 2075 2179 2334 2594 2853 3112 3372 3631 3890 4150
04000U 1795 2154 2513 2872 3015 3231 3590 3949 4308 4667 5026 5400 5744
05000U 2252 2703 3153 3604 3784 4054 4504 4955 5405 5855 6306 6756 7207
10000V 4169 5003 5837 6671 7005 7505 8339 9173 10007 10841 11674

example of layout DR900 at 5,5bar air supply -> 842Nm output torque

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DG4

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0401e



EDITION 2010
Torque AlR TORQUE

DR/SC00010U-10000U

FNEUMATISCGHE STELLANTRIEBE

SC|sp/s 2,5bar 3bar 3,5bar 4bar 4,2bar_|Sp. torque sP/s 4,2bar | 4,5bar Sbar 5,5bar ébar 8bar |[Sp. torque
0°  90° 0°  90° 0°  90° 0°  90° 0°  90° 90°  0° 0°  90° 0°  90° 0°  90° 0°  90° 0°  90° 0° 90° | 90° 0°
S1 50 3,0 70 47 | 80 63 | 100 80 |107 87| 53 33 |S4 |76 58| 97 64 | 113 81 130 98 | 147 114 85 53
l"_7 $2 40 19 60 3,6 77 53 93 69 100 76| 64 40 S5 70 49 90 54 107 70 123 87 140 100 | 206 170 | 96 59
8 s3 53 25 [ 70 42 | 87 58 | 94 66 | 74 46 | S6 84 43 100 60| 11,7 76 | 133 93 | 200 160 | 106 66
O | s4 63 30 | 80 50 | 87 55 | 85 53 | S§7 94 49 | 110 6,6 | 130 82| 193 149 (11,7 73
S5 73 37 81 44 96 59 S8 104 60 120 72187 138|128 79
2/3| 91 62 120 92| 150 121 (179 150 | 191 162 | 84 6,0 4 15,7 11,1 | 1756 129 | 204 158 | 234 187 | 263 217 135 90
8 3 80 45 | 109 75| 139 104|168 133 18 145|101 70 [4/5]|146 94| 164 11,2 | 193 141 | 223 17,1 | 252 200 369 317[ 152 100
8 3/4 98 58 (128 87157 116|169 128 (11,8 78| & 153 95 [ 182 124 | 21,1 154 | 241 183 358 300 169 11,1
ol 4 1.6 70146 100|157 11,1 | 135 90 | 5/6 17,0 108 | 20,0 13,7 [ 230 166 347 283[ 186 120
4/5 135 83| 146 94152 100| 6 189 120 | 21,9 149| 336 26,7 202 133
2/3| 180 11,8 | 238 17.6| 297 234| 355 299 378 31.6| 173 11,1 4 | 31,2 21,2| 347 247 405 305| 463 368 521 421 27.7 177
% 3 158 83 | 21,6 14,1 275 199| 333 258| 356 281 | 208 133|4/5|(290 177 325 21,2| 383 270| 441 328| 499 386 | 732 619|312 199
8 3/4 194 107 | 252 16,5 31,1 223| 334 246| 242 155( 5 302 17,7| 36,1 23,6| 419 294 47,7 352 71,0 5885|346 221
ol 4 230 130| 28,8 188| 31,2 21,2| 277 17.7|5/6 338 20,1 | 39,7 259 455 31,7 | 687 550( 381 243
4/5 262 154 290 17.7] 312 199| 6 375 224| 433 283 | 665 515|415 265
2/3| 274 169 | 366 260| 457 352| 549 443 | 585 480| 289 183| 4 | 475 30,7 | 530 362 622 453| 71,3 545| 805 63,6 462 293
8 3 238 11,1 | 32,9 20,3 42,1 294 51,2 386 | 549 422 347 220|4/5| 439 249 | 494 304| 585 395| 677 487| 768 578| 113 945|520 330
= 3/4 292 145| 384 23,6 475 328 | 512 364 404 257 5 457 24,6 | 54,8 338| 64,0 429| 731 521 110 887|578 367
ol 4 347 179| 43,9 27,0| 47,5 30,7| 462 293|5/6 51,2 280| 60,3 37,1 695 463 106 829 635 403
4/5 402 212 | 439 249| 520 330| 6 56,7 314| 658 405| 102 77,1| 693 440
2/3| 41,1 27,1 | 544 404| 677 537 | 810 670 863 723 | 394 253 | 4 | 71,1 48,7| 79.1 566 924 699| 106 832 [ 119 965 630 405
8 3 361 192 | 49,4 325( 62,7 458 760 59,1 | 813 644 | 473 304|4/5| 660 408 | 74,0 48,8| 873 621 | 101 753 | 114 886 | 167 142|709 456
5 3/4 443 246 | 57,6 379| 709 512| 762 565| 551 355| 5 690 409 | 823 542 956 675| 109 808 162 134 | 788 50,7
ol 4 525 300| 658 43,3| 71,1 48,7| 630 405|5/6 772 463 | 90,5 59,6| 104 729 | 157 126 | 867 557
4/5 608 355| 661 408| 709 456| 6 854 51.7| 99.0 650 | 152 118 | 945 608
2/3| 665 41,9 | 879 634| 109 849| 131 106 | 140 115| 655 410| 4 | 1156 757 | 128 886 [ 149 110 | 171 132 | 192 153 105 656
8 3 583 288 79,7 50,3| 101 71,8 123 933| 131 102 | 786 492|4/5| 107 626 | 120 755 141 Q70| 163 118 | 184 140 270 226|118 738
s 3/4 715 372| 930 59,0| 115 802| 123 888| 91,7 574| § 111 620 | 133 839 154 105| 176 127 | 262 213 | 131 820
ol 4 848 456| 106 67,1| 115 757| 105 656|5/6 126 710 146 92,3| 168 114 | 254 200 | 144 902
4/5 98,1 540 107 626| 118 738| 6 138 790| 159 101 245 187 | 157 984
2/3 860 56,1 114 838 141 111 | 169 139 | 180 150 | 824 525| 4 149 101 | 165 117 | 193 145 | 221 173 | 248 201 132 840
8 3 | 755 396|103 673|131 950 | 159 123 | 170 134 | 989 630|4/5 (138 843| 1585 101 | 182 129 | 210 156 | 238 184 | 349 295 | 148 945
8 3/4 930 508|120 785|148 106 | 159 117 | 116 735 | 5 144 84 | 172 112 | 200 140 | 227 168 | 338 278 | 165 105
o 4 110 620 | 138 89,7| 149 101 | 132 840 | 5/6 161 960 | 189 123 | 217 151 328 262 | 181 116
4/5 127 733 | 138 843 [ 148 945 | 6 179 107 | 206 135 | 317 245 | 198 126
2/3| 135 88,6 | 179 132|222 176|265 219|283 236|129 824 | 4 |233 159|260 185|303 229|347 272|390 316 206 132
8 3 119 630 [ 162 106 [ 206 150 | 249 193 | 266 211 | 155 99 |4/5 (217 133|243 159 | 287 203 | 330 246 | 374 290 | 547 464 | 232 148
g 3/4 146 80,0 | 189 124 [ 233 167 | 250 185 | 180 115 5 227 134|270 177 | 314 221 | 357 264 | 531 438 | 258 165
ol 4 178 980|216 142 [ 233 159 | 206 132 | 5/6 254 151 | 297 195 | 341 238 | 515 412 | 283 181
4/5 200 116 | 217 133 [ 232 148 | 6 281 169 | 324 213 | 498 386 | 309 198
2/3| 171 118 | 228 174|285 231|342 288 (364 310|166 112 4 |297 211|331 245 388 302 | 444 358 [ 501 415 266 180
8 3 149 840 | 206 141 | 262 198 | 319 255 | 342 277 | 199 135 |4/5|275 178|309 212 | 365 268 | 422 325 | 479 382 706 609 | 299 202
8 3/4 183 108 [ 240 165 | 297 221 | 319 244|233 157 | § 286 178 | 343 235 | 400 292 | 456 349 | 683 575 | 332 224
ol 4 218 131|274 188 [ 297 211 | 266 180 | 5/6 320 202 | 377 259 | 434 315 | 661 542 | 365 247
4/5 252 155|275 178 [ 299 202 | 6 355 225 | 411 282 | 638 509 | 399 269
2/3 | 225 146 | 301 223 | 378 299 | 455 376 | 485 406 | 237 158 | 4 | 390 264 | 436 310 [ 513 387 | 589 464 | 666 540 379 253
8 3 193 990 | 270 175 | 346 252 | 423 329 | 454 359 | 284 190 | 4/5 (359 217 | 405 263 | 481 340 | 558 416 | 634 493 | 941 799 | 426 285
8 3/4 238 128 | 315 205 | 391 281 | 422 312 | 332 221 5 373 216 | 450 292 | 526 369 | 603 445 | 909 752 | 474 316
o 4 283 157 | 360 234 | 390 264 | 379 253 |5/6 418 245 | 495 321 | 571 398 | 877 704 | 521 348
4/5 328 186 | 359 217 | 426 285 | 6 463 274 | 540 351 | 846 657 | 568 379
2/3| 319 217 | 426 323 | 532 430 | 638 536 | 681 578 | 3156 213 | 4 |553 390 | 617 453 [ 723 560 | 830 666 | 936 772 504 340
8 3 277 154 383 260 | 489 367 | 596 473 | 638 515 | 378 255 | 4/5 (511 327 | 575 390 | 681 497 | 787 603 | 894 709 [1319 1135| 567 383
N | 3/4 341 197 | 447 304 | 553 410 | 596 453 | 441 298 | 5 532 327 | 638 434 | 745 540 | 851 646 |1277 1072| 630 425
ol 4 404 241 | 511 347 | 553 390 | 504 340 |5/6 596 371 | 702 477 | 809 583 |1234 1009| 693 468
4/5 468 284 | 511 327 | 567 383 é 660 414 766 520 [1192 946 | 756 510
2/3 | 533 372 712 551 890 730 | 1069 908 |[1141 980 521 360 4 924 667 (1032 774 (1210 953 | 1389 1132 | 1568 1310 834 577
8 3 461 268 | 640 447 | 818 625 | 997 804 |1068 876 | 625 433 | 4/5|852 563 | 959 670 | 1138 849 | 1317 1028 | 1495 1206 | 2210 1921 | 938 649
8 3/4 568 343 | 746 521 | 925 700 [ 996 771 | 730 505 | 5 887 566 |1066 745 |1245 923 | 1423 1102 | 2138 1817 | 1042 721
o 4 674 417 | 853 596 | 924 667 | 834 577 | 5/6 994 640 |1173 819 [ 1351 998 [ 2066 1713 | 1146 793
4/5 781 491 | 852 563 | 938 649 | 6 1101 715 | 1279 894 | 1994 1608 | 1251 865
2/3 | 751 496 | 1011 755 | 1270 1015|1529 1274 (1633 1378| 801 546 | 4 |1306 8971461 1053 (1721 1312|1980 1571 | 2239 1831 1281 873
8 3 642 336 | 902 595 | 1161 854 (1420 1114|1524 1217| 961 655 | 4/5 |1197 7371352 8931612 1152 1871 1411 | 2130 1671 | 3168 2708 | 1442 982
8 3/4 793 435 | 1053 694 1312 954 1415 1057 (1121 764 5 1245 7321504 992 | 1763 1251 | 2023 1510 | 3060 2548 [ 1602 1091
ol 4 943 534 [1202 793 [1306 897 (1281 873 | 5/6 1395 832 | 1654 1091 | 1914 1350 | 2951 2388 | 1762 1200
4/5 1093 633 |1197 737 |1442 982 | 6 1545 931 | 1805 1190 | 2842 2228 | 1922 1309
2/3 | 1064 703 | 1423 1062|1782 1421| 2141 1780 | 2284 1924|1092 731 | 4 |1846 1269 | 2061 1484 | 2420 1843 | 2779 2202 3138 2561 1746 1170
8 3 | 918 485 | 1277 844 | 1636 1203| 1995 1562 | 2138 1706 | 1310 877 | 4/5 (1700 1051 [ 1915 1266 | 2274 1625 | 2633 1984|2992 2343 | 4428 3779 | 1965 1316
9: 3/4 1131 626 | 1489 985 | 1848 1344 | 1992 1487 | 1528 1023 | 5 1769 1048 | 2128 1407 | 2487 1766 | 2846 2125 | 4282 3560 | 2183 1462
o 4 1343 766 | 1702 1125 | 1846 1269 | 1746 1170 | 5/6 1982 1188 (2341 1547| 2700 1906 | 4135 3342 | 2401 1608
4/5 1556 907 | 1700 1051 | 1965 1316 | 6 2194 1329 2553 1688 | 3989 3124 | 2620 1754
2/3 | 1332 1014 | 1783 1465|2233 1915| 2684 2365 | 2864 2546 | 1238 920 | 4 |2312 1803 | 2582 2073 | 3033 2524 | 3483 2974|3934 3424 1981 1472
8 3 | 1149 767 | 1599 1217 (2049 1667 | 2500 2118 | 2680 2298 | 1486 1104 | 4/5 | 2128 1555 | 2398 1825 | 2849 2276 | 3299 2726|3750 3177 | 5551 4978 | 2229 1656
8 3/4 1416 969 [ 1865 1420 2316 1870 | 2496 2050 | 1733 1288 | 5 2215 1578 | 2665 2028 |3115 2479 3566 2929 |5386 4731|2476 1839
ol 4 1682 1172|2132 1623 | 2312 1803 | 1981 1472 | 5/6 2481 1781 | 2931 2231 | 3382 2682 | 5184 4483 | 2724 2023
4/5 1948 1375 | 2128 1555 | 2229 1656 | 6 2748 1983 | 3198 2434 |5000 4236 2971 2207
2/3 | 2474 1695 | 3308 2529 | 4142 3362 | 4976 4196 | 5310 4530 | 2475 1695| 4 | 42923045 | 4793 3545 | 5627 4379 | 6461 5213 | 7294 6047 3960 2712
8 3 | 2135 1200 [ 2969 2034 (3803 2867 | 4637 3701 | 4971 4035 | 2970 2034 | 4/5 | 3953 2550 | 4454 3050 | 5288 3884 | 6122 4718 6955 5552 (10291 8887| 4455 3051
8 3/4 2630 1539 | 3464 2373 | 4298 3206 | 4632 3540 | 3465 2373 | 5 4115 2555 | 4949 3389 | 5783 4223 6616 5057 |9952 8393 | 4949 3390
— | 4 3125 1878| 3959 2711 | 4292 3045 | 3960 2712 | 5/6 4610 2894 | 5444 3728 | 6277 4562 | 9613 7898 | 5444 3729
4/5 3620 2217 | 3953 2550 | 4455 3051 é 5105 3233 | 5938 4067 (9274 7403 | 5939 4068
SP/S springs/side recommended size SC600-5/6 at 5,5bar air supply -> 377Nm at 0°, 259Nm atf 90°; max. spring forque 3656Nm at 90°
(end cap) (symmetric) 247Nm at 0° (lower than air torque). Important for fail save closed/-opened layout
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DG4

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0402e



EDITION 2010
Dimensions
DR/SC00010U-10000U

DR/SC10 - DR/SC30 DR/SC60 - DR/SC4000 DR/SC5000 - DR/SC10000

* only DR/SC10
TOP VIEW

E M6x12 AX4*

(BOTTOM VIEW IS0 5211 )

SQUARE SQUARE SQUARE
DOUBLE PARALLEL DIAGONAL

(AIR CONNECTION VDI/VDE 3845 )

T Port '4'

Port s

15 20 35 70 110 160 258 332 522 681 919 1276 2144 3112 4308 5405 10007
5 8 13 27 44 61 99 126 198 269 379 510 865 1309 1688 2207 4067
FO4 FO4 F05-07 | F05-07 | FO5-07 | FO7-10 | FO7-10 | FO7-10 | F10-12 | F10-12 |(F12)F14|(F12)F14 [(F14)F16|(F14)F16|F16(F25)| F16-25 [F16-25-30
11x12 | 11x12 | 14x16 | 14x18 [ 17x19 | 17x24 | 22x30 [ 22x34 |27 x39| 27 x40 | 36 x39 | 36 x40 | 46 x 63 | 46 x 51 | 46 x 51 [ 55x 60 | 75 x 80
1/8" 1/8” 1/8" 1/8" 1/8” 1/4” 1/4” 1/4” 1/4” 1/4” 1/4” 1/4” 3/8” 1/2" 1/2" 1/2" 1/2"
118 136 153.5 203.5 241 259 304 333 3945 | 4225 474 528 605 710 812 876 950
66 69 85 102 115 127 145 157 177 196 220.5 245 298.5 330 383 410 518
62 72 84,5 93 106 118.5 136 146,5 166 181 200 2215 262 330 371 418 528

M5x8 M5x8 M5x8 Mb5x8 M5x8 M5x8 Mb5x8 Mb5x8 | Mb5x8 M5x8 M5x8 M5x8 | Méx10 | Méx10 | Méx10 | Méx10 | Méx10
M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 Mbx8 | M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 M5x8 Mé6x10

80 80 80 80 80 80 80 80 80 80 130 130 130 130 130 130 200
30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 50
11 11 11 17 17 17 27 27 27 27 36 36 36 36 36 36 36
15 20 20 20 20 20 30 30 30 30 50 50 50 50 50 50 80
42 42 50 50 50 70 70 70 102 102 140 140 165 165 165 165 165
= & 70 70 102 102 102 125 125 = = = = & 254 254
= = = = = = = = = = = = = S = = 298
32 32 32 32 32 32 32 32 32 32 32 32 45 45 45 45 45
24 24 24 24 24 24 24 24 24 24 24 24 40 40 40 40 40
M5 M5 M6 M6 Mé M8 M8 M8 M10 M10 M16 M16 M20 M20 M20 M20 M20
= 5 M8 M8 M8 M10 M10 M10 M12 M12 5 5 5 5 5 M16 M16
- - - - - - - - - - - - - - - - M20
42 42 42 42 42 42 58 58 67,5 67,5 80 80 115 115 115 115 115

*Torgue at 6 bar supply pressure, SC -> minimum spring torque (Fail safe action)
0,15/ 0,21 0,2 10,25/0,25( 0,3 |0.30,35/04[05|05|06|0.7|08|09|1,1[1.2|14[15|17| 2 |22|27(32(35| 4| 4 |45| 5| 6 | 6 |75]| 8 | 10
0,2 |0,25(0,25/ 0,303 |035/04[05|05]|06|07[08(09|1,1]|12[1,4]|15[1,8|1,8[21]|24[28|35| 4 |41|46]|45]| 5 6| 7 7185 9 |1
0.06 0,09 0,16 031 0,51 0,71 119 1.54 241 3.14 4,26 594 10 145 20 25 49
0,1 0,15 0,26 0,49 0,78 1,11 18 2,34 3,78 492 6,89 9,46 15,2 21,38 33 40 84
o75]09 106172731 ]37]4a3]52]61]80] 03 o8] 12]14]17] 18] 22| 24333442 5367 74 [ 93 [123]155] 127169 170] 238
1) Sec. 2L 3) kg
Note: (A) the above indicated moving time of the actuator is obtained under the following test conditions:
Fiir Typ DR/SC10 - DR/SC600: (1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn 400L/min., (4) inside pipe @ 8 mm,
(5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7) actuator without external resistance load.
Fiir Typ DR/SC900 - DR/SC10000: (1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 11 mm and flow capacity Qn 6000L/min., (4) inside pipe
@ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7) actuator without external resistance load.
Caution: It has to be expected, that for field applications, when one or more of the above parameters are different, the moving time will be different.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DG4

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0403e



EDITION 2010

h : Dimensions AlR TOHQUE

DR/SC00010U-10000U

PNEUMATISCHE STELLANTRIEBE

TS B -

02 04 03 1

13 30 41

14 17 40 15 09

06 08 01

Spring Cartridge for ]Q
DR/SC 00030 - 10000

Spring for

17.3

R/SC 00015

17.2
171

60.1

Pos. Quantity / Note Description Material
. Stainless Steel (for DR/SC00015U - DR/SC00150U)
- ) oSl £ Carbon Steel / Nodular Cast Iron, zinc coated
02 2 Stop Cap Screw Stainless Steel
03 2 Washer Stainless Steel
04 2 Nut (Stop screw) Stainless Steel
05 O i for DR/SC 10000U Bearing (Piston top) hochwertiger Kunststoff
06 O 1 Bearing (Pinion top) high-grade plastic
07 O 1 Bearing (Pinion bottom) high-grade plastic
08 O 2 Thrust bearing high-grade plastic
000 0|2 Plug Silicone
0910 O |2 for DR/SC 05000U-10000U | O-Ring plug M-NBR
10 1 Thrust Washer Stainless Steel
nNo 0dI|2 O-Ring (stop screw) M-NBR
12 2 Piston Guide high-grade plastic
8 for DR/SC 00015U-02000U
13 12 for DR/SC 03000U-04000U |Cap Screw Stainless Steel
16 for DR/SC 05000U-10000U

13.1 16 for DR/SC 10000U Washer (Cap screw end cap) Stainless Steel
140 0O]2 O-Ring (End cap) M-NBR
15 O 2 Bearing (Piston head) high-grade plastic
160 0|2 O-Ring (piston) M-NBR
17 max.12 | for DR/SC 00030U-10000U | Spring Cartridge
17.1 Spring ’ .
172 max. 2 |for DR/SC 00015U Spring SRl
17.3 Spring
18 1 Spring Clip SiCr Spring Steel, ENP
19 1 for DR/SC 00015U-00030U | Position Indicator high-grade plastic / Stainless Steel
19.0 1 Graduated Ring high-grade plastic
19.1 1 for DR/SC 00015U-00030U | Position Indicator high-grade plastic
19.5 1 for DR/SC 00015U-00030U | Top Adaptor Extruded Aluminium alloy, anodized
19.6 2 for DR/SC 00015U-00030U | Hex. Socket Screw (Top adaptor Stainless Steel
200 0|1 O-Ring (Pinion bottom) M-NBR
210 0O|1 O-Ring (Pinion top) M-NBR
30 9 End Cap Pressure DileICos’r Aluminium alloy, coafted

Cast Aluminium alloy, coated (DR/SC10000)
39 1 Cap Screw (Indicaton) high-grade plastic

. Pressure Die Cast Aluminium alloy, coated

40 2 Piston —

Cast Aluminium alloy, coated (DR/SC10000)
41 1 Label Polyester Aluminium

| 43 1 Spigot (on request*) Extruded Aluminium alloy, anodized

50 1 Body Extruded Algminium alloy, coated

Cast Aluminium alloy, coated (DR/SC 05000+10000)

) Extruded Aluminium alloy, anodized (DR/SC10000)

60 ! Drive Shaff Carbon Steel, ENP
60.1 1 noft for all types Integral Drive Shaft Stainless Steel, ENP
65 1 Plastic Insert high-grade plastic

O enclosed in spare part kit

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

3 enclosed in O-Ring kit

*on request

Modifications reserved. Date 11.2011.
No guarantee for accuracy.
Older data sheets are invalid.

DG4
0403DSe



—_—
Technisal Data AIR TORQUE
- '

DR/SC00010U R p——

Dimensions in mm ISO 5211 - available flanges
51 @37
Standard optional
1SO 5211 FO4 FO3
@ d2 30 25
@d3 42 36
d4 M5 x 8 M5 x 8
@H 30 25
D - -
SWxlmin. os Nx12 9x11-11x12
h min. 0,5 0,5
h1 1,5 2

od2

spigot optional

Connection / Attachment

Pressure connection port 2 and 4 G1/8“
Ancillaries attachment AA0/1

Rotation and stroke adjustment

+4° only for version with external stroke adjustment
\+1° for standard actuator

Output torque for double acting in Nm . .
Pressure| 2,5 bar 3 bar 35bar| 4bar | 42bar | 45bar| 5bar | 55bar | 6 bar 7 bar 8 bar approx. weightin kg
0° 90° | 0° 90° | 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°
DR 6,0 7,2 8,4 9,6 10,1 10,8 12,0 13,2 14,4 16,8 19,1 0.7
Output torque for single acting in Nm Spring approx.
Pressure| 2,5 bar 3 bar 35bar | 4bar |42bar | 45bar| 5bar | 55bar | 6bar 7 bar 8 bar torque weight
Spring | 0° 90° | 0° 90° | 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° 0° in kg
Set
S1-1 (43 29 3,1 1,7 0,86
S1-2 47 24 48 2,6 0,87
S2-2 49 20|6,1 32|66 37|73 44 64 35 0,88
S2-3 66 28(78 40(90 52102 6,4 8,0 472 0,89
S 3-3 82 36(94 48118 7,2(141 95| 96 50 0,90
Pressure | Rotation |Screw stroke | Chamber | Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) ()
max. (STD) (C) | adjustment @ (mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
8bar | 0°-90° | s.note (C) 45 0,06 | 01 D 0151 D 020 -40to + 80 - 15to + 150 - 55 to + 80
S 020 S 0,25

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity @n  pPlease confact Air Torque GmbbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79.75 Psi), (7). (C) Rotation for standard actuator: 91,5° + 1° in open position and -0,5° in closed
actuator without external resistance load. Caution: It has fo be expected, e.g. for field applications,  position. Rotation for actuator with external stroke adjustment 94,5°, 90° + 4° adju-
when one or more of the above parameters are different, the moving time will be different. stable in open position and -0,5° in closed position.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00010U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 050Te



EDITION 2010
Technical Data
DR/SC00015U

PNEUMATISCHE S

ISO 5211 - available flanges
Standard optional
1SO 5211 FO4 FO3 + FO5
@ d2 30 25 -
d3 42 36 50
@ d4 M5 x 8 M5x8 | M6x9
. @H 30 25
D - Ox 11 - 11x12
2 SWxlmin. o nx12 1 x 12
h min. 0,5 05 05
hl 1,5 1.5 5
- _
—
AZ =
o
od2
o L
)
spigot optional
| Connection / Attachment
Pressure connection port2and 4 | G1/8“
Ancillaries attachment AAD
136
! optional squares Rotation and Stroke adjustment
D L DS 90° 7777 Max. adjustable
= diagonal parallel double stroke
- — square square square :l max. stroke
= 95°
<& > +
standard f. standard f.
P-Version A-Version
0°
-5°
Output torque for double acting and spring return in Nm Spring approx.
Pressure| 25bar | 3bar | 35bar | 4bar | 42bar | 45bar | 5bar | 55bar | 6bar 7 bar 8 bar torque weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 8,3 10 11,6 13,3 14 15 16,6 18,3 19,9 23,3 26,6 - 1,1
Springset
sCs1 |50 30|70 47|80 6,3(100 80|94 83/|11,7 9,6 13,3 11,3 53 33 1,12
SCS2 [40 19|60 36|77 53|93 69|90 74110 8,6 [12,7 10,2|14,3 11,9 6,4 4 1,14
SC S3 53 25|70 42|87 58|82 6,6(103 7,5(12,0 9,2 |13,7 10,8/15,3 12,5 74 46 1,16
SC S4 63 30|80 50|76 58|97 64|11,3 8,1 13,0 9,8 (14,7 11,4|18,0 14,7 85 53 1,18
SC S5 73 37|70 49(90 54 |10,7 7,0|12,3 8,7 |14,0 10,0{17,3 13,7({20,6 17,0 9.6 59 1,2
SC S6 8,4 4,310,0 6,0 (11,7 7,6 (13,3 9,3 |16,7 12,6/20,0 16,0/ 10,6 6,6 1,22
SC S7 94 49110 6,6 13,0 8,2 [16,0 11,6(19,3 14,9| 11,7 7,3 1,24
SC S8 10,4 6,0 |12,0 7,2 |15,3 10,5(18,7 13,8| 12,8 7,9 1,26
Pressure | Rotation | Screw stroke | Chamber | Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) | adjustment @ (mm) OPEN CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
. . for 1° D 020|D 0,25
8 bar 0°-90 1/6 rotation 50 0,09 0,15 s 0255 030 -40to + 80 -15to + 150 -55to + 80

Operating Medium:

(A) the above indicated moving time of the actuator is obtained under the following test conditions:
(1) room femperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn
400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)
actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,
when one or more of the above parameters are different, the moving time will be different.

(B) Every temperature range option requires proper components and lubricant.
Please contact Air Torque GmbH.

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal fo -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 11.2011.
No guarantee for accuracy.
Older data sheets are invalid.

DRSC00015U
0502e



EDITION 2010
Technical Data
DR/SC00030U

Dimensions in mm ISO 5211 - available flanges

51

Standard optional
1SO 5211 FO5 + FO7 FO3* + FO FO4 + FO FO5
D d2 35 - 25 - 30 - 35
@ d3 50 70 36 50 42 70 50

d4 Mé6x9 | M8x12 | M5x8 | M6x9 | M5x8 | M8x12 | M6x9

oH 35 25 30 35
swxI | D - 9x11 - 14x16
min. [ps| 14x16 11x18 - 14x16
h min. 05[] 05 [05 0505 o5 [ 05
L
0 hi 2 | - T -T2 -12

*before selecting the flange connection please consider the indications of
standard n® 5211 on page 0911 of our manual for op. and maintenance

7, 2

o

od2

spigot optional

Connection / Attachment

Pressure connection Port 2 and 4 G1/8*

Ancillaries attachment AAl
optional squares Rotation and stroke adjustment
D~ L DS 90° max. adjustable
diagonal parallel double stroke
square square square ‘ :l max. stroke
O
/ T
standard f. standard f.
P-Version A-Version
0°
-5°
Output torque for double acting and spring return in Nm Spring approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 14,7 17,6 20,5 23,5 24,6 26,4 29,3 32 35,2 41 46,9 - 1,61
sC2/3 |91 6,2|12,0 9,2 15,0 12,1{17,9 15 |19,1 16,2|20,8 17,9(23,8 20,9 84 55 1,71
SsC3 |80 45109 7,5|13,9 10,4(16,8 13,3| 18 14,5/19,7 16,3|22,7 19,2|25,6 22,1 10,1 6,7 1,73
SC 3/4 9,8 5,8 (12,8 8,7 |15,7 11,6(16,9 12,8|18,6 14,6|21,5 17,5|24,5 20,4|27,4 23,4 118 78 1,75
SC4 11,6 7 |14,6 10,0|15,7 11,1{17,5 12,9|20,4 15,8|23,4 18,7|26,3 21,7|32,2 27,5 135 8,9 1,77
SC 4/5 13,5 83| 15 94 (16,4 11,2|19,3 14,1|22,3 17,1|25,2 20 |31,1 25,9(36,9 31,7 152 10 1,79
SC5 15,3 9,5 (18,2 12,4|21,1 15,4|24,1 18,3|29,9 24,2358 30 | 16,9 11,1 1,81
SC 5/6 17,1 10,8| 20 13,7| 23 16,6(28,8 22,5|34,7 28,3| 18,6 12,2 1,83
SC6 18,9 12 |21,9 14,9(27,7 20,8|33,6 26,7| 20,2 13,3 1,85
Pressure | Rotation | Screw stroke | Chamber | Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment @ (mm) OPEN CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
for 1° D 025|D 0,30
8 bar 0°-90° 1/6 rotation 63 0,16 0,26 s 030|s o035 -40to + 80 -15to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn Please contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, () air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:
The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal fo -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00030U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0503e



—_—
Technisal Data /\) AIR TORQUE
DR/SC00060U

ENEUMATISCHE

ISO 5211 - available flanges

Standard optional
1SO 5211 FO5 + FO7 FO5 FO4* + FO7
@ d2 35 & 35 c
P ?d3 50 70 50 42 70
d4 Mé6x9 |[M8x12| Méx9 | M5x8 | M8x12
@H 35 35 -
swxl | D : 11x18 - 14x16
S mn |Ds| 14x18 1418 - 17x18
h min. 05 [ 05 | 05 [ 05 [ 05
hil 2 - 2 -
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and mainfenance

—
A <
}
<
2d?2 B
spigot optional
Connection / Attachment
Pressure connection port2and 4 | G1/8“
Ancillaries attachment AAl

optional squares

Rotation and stroke adjustment

D

L«

DS

square square ouble 90° r777] Max. adjustable
diagonal parallel square stroke

XY L

S I 1 Max. stroke
8

' f

standard f. standard f.
P-Version A-Version

0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0> 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 29,1 34,9 40,7 46,5 48,9 52,4 58,2 64 69,8 81,4 93,1 B 2,68
sC2/3 | 18 11,8|23,8 17,6(29,7 23,4|35,5 29,2|37,8 31,6(41,3 35,0(47,1 40,9 17,3 111 | 2,83
SC3 |158 8,3 |21,6 14,1|27,5 19,9|33,3 25,8|35,6 28,1|39,1 31,6(44,9 37,4|50,7 43,2 20,8 13,3 | 2,86
SC 3/4 19,4 10,7|25,2 16,5|31,1 22,3|33,4 24,6|36,9 28,1|42,7 33,9|48,5 39,8|54,3 45,6 24,2 155| 2,89
SC4 23 13 |28,8 18,8|31,2 21,2|34,7 24,7|40,5 30,5|46,3 36,3|52,1 42,1|63,7 53,7 27,7 17,7| 2,92
SC 4/5 26,6 15,4 29 17,7(32,5 21,2|38,3 27 (44,1 32,8/49,9 38,6|61,5 50,3|73,2 61,9|31,2 199 | 2,95
SC5 30,2 17,7|36,1 23,6(/41,9 29,4|47,7 35,2|/59,3 46,8 71 58,5|34,6 22,1 | 2,98
SC 5/6 33,8 20,1|39,7 25,9|45,5 31,7|57,1 43,4|68,7 55 |38,1 24,3 | 3,01
SC 6 37,5 22,4143,3 28,3/ 54,9 39,9|66,5 51,5|41,5 26,5| 3,04
Pressure| Rotation | Screw stroke Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) () | adjustment @ (mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
. N for 1° D 030D 0,35
8 bar 0°-90 1/6 rotation 75 0,31 0,49 S 040] s 050 -40to + 80 -15to + 150 -55to + 80

(A) the above indicated moving fime of the actuator is obtained under the following test conditions:
(1) room femperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn
400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)
actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,
when one or more of the above parameters are different, the moving time will be different.
Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Class5). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal fo -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

(B) Every temperature range option requires proper components and lubricant.
Please contact Air Torque GmbH.

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 11.2011.
No guarantee for accuracy.
Older data sheets are invalid.

DRSC00060U
0504e



EDITION 2010

N —
Technical Data A AIR RQUE

DR/SC00100U e ———
ENEUMATISCHE
Dimensions in mm ISO 5211 - available flanges
Standard optional
1SO 5211 FO5* + FO7 FO7
@ d2 40 = 55
. @ d3 50 70 70
d4 Mé6x9 | M8x12 M8 x 12
@H 40 55
D - 11x19 - 14x18 - 17x19
] SW X | min.
‘:' DS 17 x 19 17 x 19
h min. 1,5 1,5 1.5
hl 1,5 . 2
*before selecting the flange connection please consider the indications of
standard n°® 5211 on page 0911 of our manual for op. and maintenance
- —
=
gd2 |
spigot optional
Connection / Attachment
Pressure connection Port2and 4 | G1/8“
Ancillaries attachment AA1
optional squares Rotation and stroke adjustment
D L ,Ds* 90° 7 Max. adjustabl
square square double 274 stri)l((ea justabie
diagonal parallel square '
T I [—1 Max. stroke
‘ o"$/ +95°
standard f. standard f.
P-Version A-Version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| O0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 45,8 54,9 64,1 73,2 76,9 82,4 91,5 101 110 128 146 - 3,82
SC 2/3 |27,4 16,9|36,6 26 [45,7 35,2|54,9 44,3|58,5 48 | 64 53,5(73,2 62,6 28,9 18,3 | 4,07
SC3 (23,8 11,1|32,9 20,3|42,1 29,4|51,2 38,6(54,9 42,2|60,4 47,7|69,5 56,9|78,7 66 34,7 22 4,12
SC 3/4 29,2 14,5|38,4 23,6|47,5 32,8/51,2 36,4|56,7 41,9|/65,8 51,1| 75 60,2|84,2 69,4 40,4 25,7 | 4,17
SC4 34,7 17,9|43,9 27 |47,5 30,7| 53 36,2|62,2 45,3|71,3 54,5|80,5 63,6|98,8 81,9 46,2 29,3 | 4,22
SC 4/5 40,2 21,2|43,9 24,9|49,4 30,4|58,5 39,5|67,7 48,7|76,8 57,8/ 95,1 76,1|113 94,5| 52 33 4,27
SC5 45,7 24,6|54,8 33,8| 64 42,9|73,1 52,1915 70,4| 110 88,7|57,8 36,7 | 4,32
SC 5/6 51,2 28 (60,3 37,1/69,5 46,3| 87,8 64,6| 106 82,9|63,5 40,3 | 4,37
SC 6 56,7 31,4|65,8 40,5/84,1 58,8102 77,1(69,3 44 4,42
Pressure | Rotation | Screw stroke | Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) ()
max. (STD) (€) | adjustment (@mm) | OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
5 . for 1° D 040 D 0,50
8 bar 0°-90 1/5 rotation 88 0,51 0,78 s 050 s 060 -40to + 80 -15to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity @n  Please contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00100U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0505e



—_—
Technisal Data /\) AIR TORQUE

DR/SC00150U

ENEUMATISCHE

ISO 5211 - available flanges

Standard optional
1SO 5211 FO7 + F10 FO5* + FO7 FO7
@ d2 55 - - 55
d3 70 102 50 70 70
D d4 M8x12| M10x15 | Méx9 | M8x12 | M8x12
@H 55 - 55
D S 14x18-17x19
N~ N
S| | SWxIme o 7 x2a 17x24-22x24
h min. 1,5 1,5 1.5 1.5 1.5
hil 2 - - 2
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance
- —
A =
—
o
od?2 B
spigot optional
Connection / Attachment
Pressure connection port2 and 4 | G1/4*
Ancillaries attachment AA 1
optional squares Rotation and stroke adjustment
D« =10 DS 90° A Max. adjustable
ds_quareI square double e stroke
iagonal
2 Rl b ' 1 Max. stroke
@ 2 +95°
standard f. standard f.
P-version A-version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 66,5 79,8 93,1 106 112 120 133 146 160 186 213 5,15
SC 2/3 |41,1 27,1|54,4 40,4|67,7 53,7| 81 67 |86,3 72,3|94,3 80,3| 108 93,6 39,4 253 | 5,50
SC3 |36,1 19,2|49,4 32,5/62,7 45,8| 76 59,1|81,3 64,4|89,3 72,4| 103 85,7| 116 99 47,3 30,4 | 5,57
SC 3/4 44,3 24,6|57,6 37,9|/70,9 51,2|76,2 56,5/84,2 64,5/97,5 77,8/ 111 91,1| 124 104 55,1 355| 5,64
SC 4 52,5 30 |65,8 43,3|71,1 48,7|79,1 56,6/92,4 69,9| 106 83,2| 119 96,5| 146 123 63 405| 571
SC 4/5 60,8 355| 66 40,8| 74 48,8(87,3 62,1| 101 753|114 88,6| 141 115|167 142 |70,9 456 | 5,78
SC5 69 40,9|82,3 54,2|/95,6 67,5/ 109 80,8| 135 107|162 134|78,8 50,7 | 5,85
SC 5/6 77,2 46,3|90,5 59,6| 104 72,9| 130 99,5|157 126 86,7 55,7 | 5,92
SC 6 85,4 51,7|98,7 65 | 125 91,6152 118|94,5 60,8 | 5,99
Pressure| Rotation | Screw stroke | Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (2 mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
) . for 1° D 050 D 0,60
8 bar 0°-90 1/5 rotation 100 0,71 1,11 s 070| s 090 -40to + 80 -15to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn  pPlease contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has fo be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00150U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0506e



—_—
Technisal Data AIR TORQUE

DR/SC00220U

ISO 5211 - available flanges

Standard optional
1SO 5211 FO7* + F10 F10
@ d2 55 - 70
3 @ d3 70 102 102
d4 M8x12 |M10x15 M10 x 15
D H 55 70
D - 14x 18 - 22 x24
o SW x | min.
A DS 22 x 30 17 x 24 - 22 x 30
h min. 1,5 1,5 1.5
h1 2 - 2
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and mainfenance
b
<
od2 N
spigot optional
Connection / Attachment
Pressure connection port2and 4 | G1/4“
Ancillaries attachment AA 2
optional squares Rotation and stroke adjustment
o e I 90° 0777 gfr;a))lié adjustable
square square double
diagonal parallel square [ max. stroke
Q +95°
S f
standard f. standard f. “
P-version A-version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| O0° 90°| O° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 107 129 150 172 181 193 215 236 258 301 344 - 8,07
SC 2/3 |66,5 41,9|87,9 63,4| 109 84,9|131 106|140 115|152 128|174 149 65,5 41 8,62
SC3 |58,3 28,8|79,7 50,3| 101 71,8|123 93,3|131 102|144 115|166 136|187 158 78,6 49,2 8,73
SC 3/4 71,5 37,2| 93 58,7|115 80,2| 123 88,8136 102|158 123|179 145|200 166 91,7 57,4| 8,84
SC4 84,8 45,6|106 67,1115 75,7|128 88,6149 110|171 132|192 153|235,3 196 105 65,6| 8,95
SC 4/5 98,1 54 |107 62,6]120 755|141 97 |[163 118|184 140|227,1 183|270 226|118 73,8 9,06
SC5 111 62,4| 133 83,9|154 105|176 127 (218,9 170|262 213|131 82 9,17
SC 5/6 125 70,8| 146 92,3| 168 114 |210,7 157 | 254 200|144 90,2| 9,28
SC 6 138 79,2| 159 101 |202,5 144|245 187|157 98,4| 9,39
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) () | adjustment | (Zmm) | OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
. 5 for 1° D 0,70/ D 0,80
8bar | 0°-90 1/5 rotation 115 1,19 1,8 s 090] s 110 -40to + 80 - 15 to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obfained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Q@n  Please confact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00220U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0507e



—_—
Technisal Data AIR TORQUE

DR/SC00300U

ISO 5211 - available flanges

Standard optional
1SO 5211 FO7* + F10 F10
@ d2 55 - 70
3 d3 70 102 102
@ d4 M8x12 | M10x15 M10 x 15
@H 55 70
~ SW X I min. D - 17 x24-22x24
o DS 22 x 34 22 x 34 -27 x 27
h min. 1,5 1,5 1.5
h1 2 - 1.5
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance
b
<
od2 N
spigot optional
Connection / Attachment
Pressure connection port2and 4 | G1/4“
Ancillaries attachment AA 2
optional squares Rotation 9aoﬂnol stroke adjustment -
i e DS 0777 gfr(a;li.e adjustable
square square double
diagonal parallel square ‘ :l Max. stroke
+95°
standard f. standard f.
P-Version A-Version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| O° 90°| O0° 90°| 0° 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 138 166 194 222 233 249 277 305 332 388 443 - 9,97
SC2/3 | 86 56,1|114 83,8(141 111|169 139|180 150|197 167|224 195 82,4 52,5| 10,97
SC3 |755 39,6/103 67,3131 95 |159 123|170 134|186 150|214 178|242 206 98,9 63 11,17
SC 3/4 92,7 50,8| 120 78,5|148 106|159 117|176 134|203 162|231 189|259 217 115 73,5| 11,37
SC4 110 62 | 138 89,7149 101|165 117|193 145|221 173|248 201| 304 256 132 84 11,57
SC 4/5 127 73,3|138 84,3| 155 101|182 129|210 156|238 184|293 239|349 295|148 94,5| 11,77
SC5 144 84,5|172 112|200 140|227 168|283 223|338 278|165 105 | 11,97
SC 5/6 161 95,7|189 123|217 151|272 206|328 262|181 116 | 12,17
SC 6 179 107|206 135|262 190|317 245|198 126 | 12,37
Pressure | Rotation | Screw stroke [Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (2 mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
5 . for 1° D 09|D 11
8bar | 0°-90 1/4 rotation 125 154 | 2,34 s 12]s 14 -40to + 80 - 15to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn Please contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5§) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Class5). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00300U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0508e



EDITION 2010
Technical Data
DR/SC00450U

/2\) AIR TORQUE

ENEUMATISCHE

Dimensions in mm ISO 5211 - available flanges

67,5
Standard optional
8 1SO 5211 F10* + F12 F12
[ @ d2 70 - 85
d3 102 125 125
-+ MR TORGUE
@ d4 M10x15 | M12x18 M12 x 18
ort "2’ port "4 2H 70 85
\ D 5 22 x34-27x29
|| swximin . .
P ~ DS 27 x 39 27 x 39
- © h min. 1,5 1,5 15
—
h1 3 = 1.5
*before selecting the flange connection please consider the indications of
12 12 standard n° 5211 on page 0911 of our manual for op. and maintenance
R - —
optional squares <
0 i
square
diagonal @d2
$ spigot optional
# <E’/ standard f. pigetop
/ I Connection / Attachment
Pressure connection port2 and 4 | G1/4“
oL Ancillaries attachment AA 2
square
parallel

Rotation and stroke adjustment
90°

P Max. adjustable
v
o] stroke

1 Max. stroke

DS
double
square
standard f.
A-Version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| O0° 90°| O0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 217 261 304 348 365 391 435 478 522 609 696 - 14,2
SC 2/3 | 135 88,6179 132|222 176|265 219|283 236|309 262|352 306 129 82,4 | 154
SC3 |119 62,8|162 106|206 150|249 193|266 211|293 237|336 280|379 324 155 99 15,6
SC 3/4 146 80,5|189 124|233 167|250 185|276 211|320 254|363 298|406 341 180 115 | 15,9
SC4 173 98,2|216 142|233 159|260 185|303 229|347 272|390 316 | 477 403 206 132 | 16,1
SC 4/5 200 116|217 133|243 159|287 203|330 246|374 290|460 377|547 464|232 148 | 16,4
SCI5 227 134|270 177|314 221|357 264|444 351|531 438|258 165 | 16,6
SC 5/6 254 151|297 195|341 238|428 325|515 412|283 181 | 16,9
SC6 281 169|324 213|411 299|498 386|309 198 | 17,1
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment | (@ mm) | OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
5 5 for 1° D 12| D 1,4
8 bar 0°-90 1/4 rotation 145 2,41 3,78 s 15]s 18 - 40 to + 80 -15to + 150 - 55to + 80

(A) the above indicated moving fime of the actuator is obtained under the following test conditions:
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn

(B) Every temperature range option requires proper components and lubricant.
Please contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Class5). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal fo -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 11.2011.
No guarantee for accuracy.
Older data sheets are invalid.

DRSC00450U
050%9e



EDITION 2010

N —
Technical Data A AIR RQUE

/ PNEUMATISCHE
Dimensions in mm o ISO 5211 - available flanges
: Standard optional
8 1SO 5211 F10* + F12 F12
i [ @ d2 70 S 85
d3 102 125 125
-+ MR TORUE
@ d4 M10x15 | M12x18 M12 x 18
port "2° port “4” oH 70 85
& 22x40-27 x 29
of  [swxlmn ek
© 50 3 DS 27 x 40 27 x40
i [ © h min. 1,5 1,5 15
= hi 3 . 15
*before selecting the flange connection please consider the indications of
12 12 standard n° 5211 on page 0911 of our manual for op. and maintenance
- —
optional squares /!Z <i
= 1
square
diagonal ﬂ—dz_ |

$ igot opti |
# "0/ standard f. pactoptons
/ P-version Connection / Attachment

Pressure connection Port 2 and 4 G1/4«
WL Ancillaries attachment AA 2

square

parallel

Rotation and stroke adjustment
90°

7 Max. adjustable
A
e stroke

[ Max. stroke
DS +95°

double
square

standard f.
A-version

0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 284 340 397 454 477 511 567 624 681 794 908 - 17,8
SC 2/3 | 171 118|228 174|285 231|342 288|364 310|398 344|455 401 166 112 19,3
SC3 |149 84,3|206 141|262 198|319 255|342 277|376 311|433 368|489 425 199 135 19,6
SC 3/4 183 108|240 165|297 221|319 244|353 278|410 335|467 391|524 448 233 157 19,9
SC4 218 131|274 188|297 211|331 245|388 302|444 358|501 415|615 528 266 180 | 20,2
SC 4/5 252 155|275 178|309 212|365 268|422 325|479 382|592 495|706 609|299 202 | 20,5
SC5 286 178|343 235|400 292|456 349 | 570 462|683 575|332 224 | 20,8
SC 5/6 320 202|377 259|434 315|547 429|661 542|365 247 | 21,1
SC 6 355 225|411 282|525 396|638 509|399 269 | 214
Pressure | Rotation | Screw stroke [Chamber| Air volume (1) | Moving time (sec.) (A) Operating Temperature (°C) (8)
max. (STD) (C) adjustment @ (mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
N 5 for 1° D 15|D 1,7
8 bar 0°-90 174 rotation 160 3,14 4,92 s 18] 21 -40to +80 -15to + 150 -55to0 + 80

(A) the above indicated moving time of the actuator is obtained under the following fest conditions:  (B) Every femperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn Please contact Air Torque GmbH.

400 L/min., (4) inside pipe @ 8 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi), (7)

actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:
The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or atf least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00600U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0510e



EDITION 2010

" —
Technical Dafa A'R RQUE

DR/SC00900U
Dimensions in mm ° ISO 5211 - available flanges
Standard optional
1SO 5211 F14 F10*+ F12*
r @ d2 100 - 85
@d3 140 102 125
d4 M16x24 |MI10x 15| M12x 18
2H 100 70
2 RE - 22x39-36 %39
QI | W™ s T 36x39 | 27x39-36x39
h min. 2 2 2
h1 3 . 15

*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and mainfenance

optional squares

»D*
square
diagonal @d?2

% ——
<;"/ standard f. spigot optional
P-version i
/ Connection / Attachment

Pressure connection port2and 4 | G1/4“
Ancillaries attachment AA 4

LS

L
square
parallel

Rotation and stroke adjustment
90°

7 Max. adjustable
vz
o] stroke

1 Max. stroke

,,DS*
doubel
square
standard f.
A-version
0°
-5°
Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| O° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 383 459 536 613 643 689 766 842 919 1072 1225 - 24,3
SC 2/3 | 225 146|301 223|378 299 455 376|485 406 | 531 452|608 529 237 158 27,8
SC3 [193 99 |270 175|346 252|423 329|454 359|500 405|576 482|653 558 284 190 28,5
SC 3/4 238 128|315 205|391 281|422 312|468 358|544 434|621 511|698 587 332 221 29,2
SC4 283 157|360 234|390 264|436 310|513 387|589 464|666 540 | 819 693 379 253 29,9
SC 4/5 328 186|359 217|405 263|481 340|558 416|634 493 | 788 646|941 799|426 285 | 30,6
SC€5 373 216|450 292|526 369|603 445|756 599|909 752|474 316 | 31,3
SC 5/6 418 245|495 321|571 398 | 724 551|877 704|521 348 32
SC6 463 274|540 351|693 504|846 657|568 379 | 32,7
Pressure | Rotation | Screw stroke | Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) () | adjustment (@ mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
N N for 1° D 20| D 2,2
8 bar | 0°-90 174 rotation 180 4,26 6,89 s 24]s 2.8 -40to + 80 -15to + 150 -55to + 80

(A) the above indicated moving time of the actuator is obtained under the following fest conditions:  (B) Every femperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn Please contfact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:
The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC00900U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0511e



EDITION 2010
Technical Data
DR/SC01200U

E'S

PNEUMAT]

Dimensions in mm
94

ISO 5211 - available flanges

Standard optional
1SO 5211 F14 F10* + F12*
_ @ d2 100 & 85
@ d3 140 102 125
d4 M16 x 24 M10x 15 [ M12 x 18
@H 100 85
0 D - 22 x40-36 x40
[ SWxlmn FoeT 36x40 27 x40-36x 40
h min. 2 2 2
h1l 3 = 1.5
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance

D~
square
diagonal

L
square
parallel

optional squares

&
<;"/ standard f.
/ P-version

spigot optional

Connection / Attachment

G1/4*
AA 4

Pressure connection port 2 and 4
Ancillaries attachment

Rotation and stroke adjustment
90°

P Max. adjustable
v
V.1 e

[ Max. stroke

standard f.
A-version

0°
-5°
Output torque for double acting and spring return in Nm Spring | approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| O0° 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 532 638 745 851 893 957 1064 1170 1276 1489 1702 - 34,3
SC 2/3 | 319 217|426 323 | 532 430 | 638 536 | 681 578 | 745 642 | 851 749 315 213 38,2
SC3 277 154 | 383 260 | 489 367 | 596 473 | 638 515 | 702 579 | 808 686 | 915 792 378 255 39
SC 3/4 341 197 | 447 304 | 553 410 | 596 453 | 660 516 | 766 623 | 872 729 | 979 835 441 298 39,7
SC4 404 241 | 511 347 | 553 390 | 617 453 | 723 560 | 830 666 | 936 772 | 1149 985 504 340 40,5
SC 4/5 468 284 | 511 327 | 575 390 | 681 497 | 787 603 | 894 709 | 1106 922 |1319 1135| 567 383 41,3
§C5 532 327 | 638 434 | 745 540 | 851 646 | 1064 859 |1277 1072| 630 425 42
SC 5/6 596 371 | 702 477 | 809 583 (1021 796 (1234 1009| 693 468 42,8
SC6 660 414 | 766 520 | 979 733 |1192 946 | 756 510 43,6
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment @ (mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
for 1° D 27 |D 3,2
8 bar 0°-90° . 200 5,94 9,46 -40to + 80 -15to + 150 -55to + 80
1/4 rotation S 35| S 4,0

(A) the above indicated moving time of the actuator is obtained under the following test conditions:
(1) room femperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn
6000 L/min., (4) inside pipe @ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),
(7) actuator without external resistance load. Caution: It has fo be expected, e.g. for field applications,
when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

(B) Every temperature range option requires proper components and lubricant.
Please contact Air Torque GmbH.

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34

info@airtorque.de - www.airtorque.de Older data sheets

Modifications reserved. Date 11.2011.
No guarantee for accuracy.

DRSC01200U
0512e

are invalid.



EDITION 2010
Technical Data
DR/SC02000U

E'S

PNEUMAT]

ISO 5211 - available flanges

Standard optional
1SO 5211 F16 F14* F12*
@ d2 130 100 g
@ d3 165 140 125
5 = - da M20x30 |M16x24|MI12x 18
. - ZH 130 100 93
ort “2° ort 4~ 0 D - 27 x 40 - 46 x 49
& P @ SWxlmin "osT 46x63 | 36x40 46063
N h min. 2,5 2,5 2,5
hil 1,5 1.5 &
*before selecting the flange connection please consider the indications of
standard n® 5211 on page 0911 of our manual for op. and maintenance
optional squares - o
D
square
diagonal ad2

Connection / Attachment

S sandard spigot optional
/ P-version

Lo Pressure connection port 2 and 4 G3/8*
sqtjare Ancillaries attachment AA 4
parallel

Rotation and stroke adjustment
90°

7 Max. adjustable
vz
o] stroke

1 Max. stroke

standard f.
A-sersion
0°
-5°
Output torque for double acting and spring return in Nm Spring | approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 893 1072 1251 1430 1501 1608 1787 1966 2144 2502 2859 54,6
SC 2/3 | 533 372 | 712 551 | 890 730 [1069 908 |1141 980 |1248 1087|1426 1266 521 360 60,6
S 461 268 | 640 447 | 818 625 | 997 804 |1068 876 (1176 983 | 1354 1162|1533 1340 625 433 61,8
SC 3/4 568 343 | 746 521 | 925 700 | 996 771 |1104 879 |1282 1057|1461 1236|1640 1415 730 505 63
SC4 674 417 | 853 596 | 924 667 |1032 774 |1210 953 |1389 1132|1568 1310|1925 1668 834 577 64,2
SC 4/5 781 491 | 852 563 | 959 670 (1138 849 | 1317 1028|1495 1206 | 1853 1564|2210 1921| 938 649 65,4
SC5 887 566 [1066 745 (1245 923 [1423 1102|1781 1459|2138 1817 (1042 721 66,6
SC 5/6 994 640 |1173 819 |1351 998 | 1709 1355|2066 1713|1146 793 67,8
SC 6 1101 715 (1279 894 | 1637 1251|1994 1608|1251 865 69
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment 2 (mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
b for 1° - 1 152 D 35|D 4,0
o _0n° _ . _ _
8 bar 0°-90 1/4 rotation 0 0 5, s 41]s 46 40 to + 80 15 to + 150 55to + 80

(A) the above indicated moving time of the actuator is obtained under the following fest conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity @n  Please contact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidlifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC02000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0513e



EDITION 2010
Technical Data
DR/SC03000U

ISO 5211 - available flanges

Standard optional
I1SO 5211 F16 F14* F12*
- @ d2 130 - -
?d3 165 140 125
d4 M20x30 |M16x24|MI12x 18
@H 130 112 112
D - 27 x 40 - 46 x 49
= SWxlmn. 56T 26x81 36x40-46 %51
™ h min. 25 2,5 2,5
hil 1,5 - -
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance

optional squares -

-
<
D
square
diagonal
S od2
%/ standard f. spigot optional
/ P-version
Connection / Attachment
L Pressure connection port2and 4 | G1/2“
square Ancillaries attachment AA 4

parallel

Rotation and stroke adjustment

90° P Max. adjustable
U
] stroke
« Max. stroke
DS +95°
double
square

standard f.
A-version

0°
-5°
Output Torque for Double Acting and Spring Return in Nm Spring | approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5bar 5 bar 5,5 bar 6 bar 7 bar 8 bar Torque | Weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| O° 90°| 90° O° in kg
DR 1297 1556 1815 2075 2179 2334 2594 2853 3112 3631 4150 76,3
SC 2/3 | 751 496 1011 755 (1270 1015|1529 1274|1633 1378|1789 1533|2048 1793 801 546 84,3
SE 642 336 | 902 595 |1161 854 1420 1114|1524 1217|1680 1373|1939 1632|2198 1892 961 655 85,9
SC 3/4 792 435 [1052 694 | 1311 954 |1415 1057|1570 1213|1830 1472|2089 1732|2349 1991 1121 764 87,5
SC4 943 534 |1202 793 |1306 897 | 1461 1053|1721 1312|1980 1571|2239 1831|2758 2350 1281 873 89,1
SC 4/5 1093 633 |1197 737 1352 893 |1612 1152|1871 1411|2130 1671|2649 2189|3168 2708|1442 982 90,7
§c5 1243 732 (1503 992 [1762 1251|2021 1510|2540 2029|3059 2548|1602 1091 92,3
SC 5/6 1393 832 |1653 1091|1912 1350|2431 1869|2950 2388|1762 1200 | 93,9
SC 6 1544 931 |1803 1190|2322 1709|2840 2228|1922 1309 95,5
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (@ mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
for 1° D 40 |D 45
8 bar 0°-90° . 265 14,5 | 21,38 -40to + 80 -15to + 150 -55to + 80
1/4 rotation S 45| S 5,0

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qn  Please contact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5§) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:
The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC03000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0514e



EDITION 2010
Technical Data
DR/SC04000U

ISO 5211 - available flanges

5 Standard optional
1SO 5211 F16* F14* F16* + F25
_ 130(F16) oder
— 130 . 200 (F25)
@ d3 165 140 165 254
d4 M20 x 30 | M16x24 | M20x30 | M16x24
@H 130 120 130 200
| D e 55 x 59
@ [SWxImin o T 26 x50 46 x 51 - 55 x 60
® h min. 25 25 25 25
hl 4 - 4 4
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance
optional squares - -
e
D
square
diagonal ad2
o_,/ standard f. spigot optional
P-version
/ Connection / Attachment
oL Pressure connection port2and 4 | G1/2*
square Ancillaries attachment AA 4

parallel

Rotation and stroke adjustment
90°

P Max. adjustable
U
o] stroke

1 Max. stroke

standard f.
A-version

0°
-5°
Output torque for double acting and spring return in Nm Spring | approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| O0° 90°| 90° O° in kg
DR 1795 2154 2513 2872 3015 3231 3590 3949 4308 5026 5744 118
SC 2/3 |1064 703 [1423 1062|1782 1421|2141 1780|2284 1924|2500 2139|2859 2498 1092 731 131
§Cc 3 918 485 [1277 844 |1636 1203|1995 1562|2138 1706|2354 1921|2713 2280|3072 2639 1310 877 134
SC 3/4 1131 626 |1489 985 1848 1344|1992 1487|2207 1703|2566 2062|2925 2421|3284 2780 1528 1023 137
SC4 1343 766 |1702 1125|1846 1269|2061 1484|2420 1843 (2779 2202|3138 2561 | 3856 3279 1746 1170 139
SC 4/5 1556 907 |1700 1051|1915 1266|2274 1625|2633 1984|2992 2343|3710 3061|4428 3779|1965 1316 142
§C5 1769 1048|2128 1407|2487 1766|2846 2125|3564 2843|4282 3560|2183 1462 145
SC 5/6 1982 1188|2341 1547|2700 1906 | 3418 2624 4135 3342|2401 1608 147
SC 6 2194 1329|2553 1688|3271 2406|3989 3124|2620 1754 150
Pressure | Rotation | Screw stroke |Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (@ mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) LLT (Extreme low temperature)
8b 0°-90 o 300 20 33 b 501D 60 40 80 15 150 55 80
°-90° -40to + -15to + -55to +
ar 1/4 rotation S 60| S 7,0 ° ° o

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every femperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity Qv Please confact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5§) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC04000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0515e



EDITION 2010
Technical Data
DR/SC05000U

ISO 5211 - available flanges

Standard optional
1SO 5211 F16* + F25 F25
@ d2 - 200 200
@ d3 165 254 254
d4 M20x30 | M16x24 M16 x 24
@H 130 200 200
o D S 55 x 59
g SWxlm. I 55 x 60 46 x 51 -56 x 60
h min. 2,5 2,5 2,5
hl - 3,5 3.5
*before selecting the flange connection please consider the indications of
standard n° 5211 on page 0911 of our manual for op. and maintenance

204 214

optional squares =

—
D" <
square
diagonal
2d?2
4 —
spigot optional
/ Connection / Attachment
WL Pressure connection port2and 4 | G1/2“
SRl Ancillaries attachment AA 4

parallel

Rotation and stroke adjustment

90° 7 Max. adjustable
%
-] stroke
DS* [ Max. stroke
double +95°
square

0°
-5°
Output torque for double acting and spring return in Nm Spring | approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar torque | weight
0° 90°| 0° 90°| 0° 90°| O0° 90°| O° 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 90° O° in kg
DR 2252 2703 3153 3604 3784 4054 4504 4955 5405 6306 7207 - 127
SC 2/3 | 1332 1014|1783 1465|2233 1915|2684 2365|2864 2546|3134 2816|3585 3266 1238 920 144
SC 3 |1149 767 |1599 1217|2049 1667|2500 2118|2680 2298 (2950 2568 3401 3019 [3851 3469 1486 1104 1475
SC 3/4 1415 969 | 1865 1420|2316 1870|2496 2050|2766 2321|3217 2771|3667 3222|4118 3672 1733 1288 151
SC4 1682 1172|2132 1623|2312 1803|2582 2073|3033 2524|3483 2974|3934 3424|4835 4325 1981 1472 1545
SC 4/5 1948 1375|2128 1555|2398 1825|2849 2276|3299 2726|3750 3177|4651 4078|5551 4978|2229 1656 158
SEI5 2215 1578|2665 2028|3115 2479|3566 2929 | 4467 3830|5386 4731|2476 1839 161,5
SC 5/6 2481 1781|2931 2231|3382 2682|4283 3582|5184 4483|2724 2023 165
SC 6 2748 1983|3198 2434|4099 3335|5000 4236|2971 2207 168,5
Pressure | Rotation | Screw stroke |Chamber| Air volume (L) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (2 mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
for 1° D 6,0|D 7,0
8 bar 0°-90° ) 330 25 40 -40to + 80 -15to + 150 -55to + 80
1/4 rotation S 75| S 8,5

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity @n  Please confact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or at least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC05000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0516e



EDITION 2010
Technical Data
DR/SC10000U

ISO 5211 - available flanges

Standard optional
I1SO 5211 F16* + F25* + F30 F30
- 2 d2 200 (F25) 230
@ d3 298 298
@d3A 254 -
@d3B 165 -
d4 M20 x 30 M20 x 30
d4 A M16 x 24 -
d4B M20 x 30 -
@H 200 -
D = 75x 80
SWxImin-os 75 x 80 55 x 59 - 75 x 80
h min. 2,5 25
hil 4 2
*before selecting the flange connection please consider the indications of

standard n° 5211 on page 0911 of our manual for op. and maintenance

optional squares

D
square
diagonal

L A
spigot optional

Connection / Attachment

AL Pressure connection port 2 and 4 G1/2*
sapare Ancillaries attachment standard AAS5
parallel A.A. with additional adapter plate* | AA4

*optional
Rotation and stroke adjustment
90° Max.adjustable

V.4

stroke
[ Max. stroke

DS
double

95°
square "

Output torque for double acting and spring return in Nm Spring |approx.
Pressure| 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar | 4,5bar 5 bar 5,5 bar 6 bar 7 bar torque | weight
0° 90°| 0° 90°| 0° 90°| 0> 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90°| 0° 90° 90° 0° |inkg)
DR 4169 5003 5837 6671 7005 7505 8339 9173 10007 11674 - 170
SC 2/3 2474 1695|3308 2529|4142 3362|4976 4196|5310 4530|5810 5030|6644 5864 2475 1695 199
SC 3 |[2135 1200|2969 2034|3803 2867|4637 3701|4971 4035|5471 4535|6305 5369|7139 6203 2970 2034 204
SC 3/4 2630 1539|3464 2373|4298 3206|4632 3540|5132 4040|5966 4874|6800 5708|7633 6542 3465 2373 210
SC4 3125 1878|3959 2711|4292 3045|4793 3545|5627 4379|6461 5213|7294 6047|8962 7715 3960 2712 216
SC 4/5 3620 2217|3953 2550|4454 3050|5288 3884|6122 4718|6955 5552 | 8623 7220 | 10291 8887 4455 3051 221
SC5 4115 2555|4949 3389|5783 4223|6616 5057 | 8284 6725|9952 8393 [4949 3390 227
SC 5/6 4610 2894|5444 3728|6277 4562 | 7945 6230(9613 7898 |5444 3729 233
SC6 5105 3233|5938 4067 | 7606 5735|9274 7403 |5939 4068 238
Pressure| Rotation | Screw stroke | Chamber| Air volume (1) | Moving time (sec.) (A) Operating temperature (°C) (8)
max. (STD) (C) adjustment (@ mm) OPEN | CLOSE OPEN CLOSE ST (Standard) HT (High temperature) | LLT (Extreme low temperature)
for 1° D 8 D 9
8 bar 0°-90° ) 420 49 84 -40to + 80 -15to + 150 -55to + 80
1/4 rotation S 10 | S 11

(A) the above indicated moving time of the actuator is obtained under the following test conditions:  (B) Every temperature range option requires proper components and lubricant.
(1) room temperature, (2) actuator stroke 90°, (3) solenoid valve with @ 4 mm and flow capacity @n  Please contact Air Torque GmbH.

6000 L/min., (4) inside pipe @ 11 mm, (5) medium clean air, (6) air supply pressure 5,5 bar (79,75 Psi),  (C) For actuator with stainless steel pinion add 31 Kg approximate weight

(7) actuator without external resistance load. Caution: It has to be expected, e.g. for field applications,

when one or more of the above parameters are different, the moving time will be different.

Operating Medium:

The operating medium must be free of dust and oil. The maximum particle size must not exceed 30u. (ISO 8573 Part1, Classb). In order to prevent water condensation and/or solidifi-
cation (ice when actuator works below 0°C), the operating medium must have a dew point equal to -20°C or af least 10°C below the ambient temperature (ISO 8573 Part1, Class3)

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 11.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC10000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid.. 0517e



EDITION 2010
Part Description
DR/SC00010U

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

08

19.0

!
[ 4
1
!
l ©
i )
= @ .
30 14 16 43 07 20 50
17.1
spring system: L7 -2
17.3
PART N°|Spare parts| UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
05 O 2 BEARING (Piston back) PA46
06 @) 1 BEARING (Pinion top) PA46
07 O 1 BEARING (Pinion bottom) PA46
08 O 1 THRUST BEARING (Pinion) PA46
09 (O] 2 PLUG Silicone
10 1 THRUST WASHER (Pinion) Stainless Steel
13 8 CAP SCREW (End cap) Stainless Steel
14 (O] 2 "O" RING (End cap) M-NBR
15 O 2 BEARING (Piston head) POM
16 (O] 2 "O" RING (Piston) M-NBR
17.1 SPRING
17.2 max. 2 SPRING Si Cr Spring alloy Steel expoy coated
17.3 SPRING
18 1 SPRING CLIP (Pinion) Spring Steel, ENP
19 1 POSITION INDICATOR PA66+GF+CB
19.0 1 GRADUATED RING PA66+GF(+CB)
20 (O] 1 "O" RING (Pinion bottom) M-NBR
21 oo 1 "O" RING (Pinion top) M-NBR
30 2 END CAP Pressure Die Cast Aluminium alloy, anodized and coated
39 1 CAP SCREW (Indicator) PA66+GF+CB
40 2 PISTON Pressure Die Cast Aluminium alloy, anodized
41 1 ACTUATOR IDENTIFICATION LABEL| Polyester-Silver
42 2 END CAP LABEL Polyester-Silver
43 1 SPIGOT (Only on request) Extruded Aluminium alloy, anodized
50 1 BODY Extruded Aluminium alloy, coated
60 1 DRIVE SHAFT Extruded Alluminium alloy, anodized
60.1 1 only f prot. level E a. EC [ INTEGRAL DRIVE SHAFT Stainless Steel, ENP

O Parts included in Complete spare parts kit & Parts included in ,O” ring spare parts kit

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 07.2010.
No guarantee for accuracy.
Older data sheets are invalid.

DRSC00010U
0518e



port Descrpton AIR TORQUE

DR/SC00015U-00030U

PNEUMATISCHE STELLANTRIEBE

39 19 19.0 02 04 03 11 06 21 18 10 08

30 17 16 07 20 43 65 50 41 13 60 12 40 05 09
PART N°|Spare parts| UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
01 1 OCTI-CAM (Stop arrangement)| Stainless Steel
02 2 STOP CAP SCREW Stainless Steel
03 2 WASHER Stainless Steel
04 2 NUT (Stop screw) Stainless Steel
05 @) 2 BEARING (Piston back) PA46
06 @) 1 BEARING (Pinion top) PA46
07 @) 1 BEARING (Pinion bottom) PA46
08 @) 1 THRUST BEARING (Pinion) PA46
09 (O] 2 PLUG Silicone
10 1 THRUST WASHER (Pinion) Stainless Steel
11 0o 2 "O" RING (Stop screw) M-NBR
12 2 PISTON GUIDE PA66+GF
13 8 CAP SCREW (End cap) Stainless Steel
14 oo 2 "O" RING (End cap) M-NBR
15 @) 2 BEARING (Piston head) POM
16 o +] 2 "O" RING (Piston) M-NBR
17 nT;xi SPRING (Cartridge)

17.1 ) SPRING SiCr Spring alloy Steel epoxy coated

17.2 r’;‘;‘xi SPRING

17.3 SPRING

18 1 SPRING CLIP (Pinion) Spring Steel, ENP

19 1 POSITION INDICATOR PA66+GF+CB

19.0 1 GRADUATED RING PA66+GF(+CB)

20 (O3] 1 "O" RING (Pinion bottom) M-NBR

21 o J+] 1 "O" RING (Pinion top) M-NBR

30 2 END CAP Pressure Die Cast Aluminium alloy, anodized and coated
39 1 CAP SCREW (Indicator) PA66+GF+CB

40 2 PISTON Pressure Die Cast Aluminium alloy, anodized
41 1 ACTUATOR IDENTIFICATION LABEL| Polyester-Silver

43 1 SPIGOT (Only on request) Extruded Aluminium alloy, anodized

50 1 BODY Extruded Aluminium alloy, coated

60 1 DRIVE SHAFT Steel, ENP

60.1 1 only f prot. level E a. EC [ INTEGRAL DRIVE SHAFT Stainless Steel, ENP

65 1 PLASTIC INSERT Modified PA66

O Parts included in Complete spare parts kit @ Parts included in ,O” ring spare parts kit

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 07.2010.No guaran-
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 tee for accuracy. DRSC00015-00030U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0519e



"

15

LR

01 08

06

EDITION 2010
Part Description
DR/SC0060U-02000U

19.1 19.0

AV

02

04 03 11 19.5 19.6 18 10

30 14 17 16 60 07 20 43 6 41 13 12 40 05 09
PART N°|Spare parts| UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
01 Stainless Steel ( for AT201U , AT301U )

1 OCTI-CAM (Stop arrangement)
Carbon Steel ( for AT351U y AT651U ) , zinc coated

02 2 STOP CAP SCREW Stainless Steel

03 2 WASHER Stainless Steel

04 2 NUT (Stop screw) Stainless Steel

05 O 2 BEARING (Piston back) PA46

06 O 1 BEARING (Pinion top) High-grade polymers

07 O 1 BEARING (Pinion bottom) High-grade polymers

08 o 1 THRUST BEARING (Pinion) PA46

09 (O] 2 PLUG Silicone

10 1 THRUST WASHER (Pinion) Stainless Steel

11 (O] 2 'O" RING (Stop screw) M-NBR

12 2 PISTON GUIDE PA66+GF

13 8 CAP SCREW (End cap) Stainless Steel

14 [O ) 2 "O" RING (End cap) M-NBR

15 o 2 BEARING (Piston head) POM

16 [O ) 2 "O" RING (Piston) M-NBR

17 (e SPRING (Cartridge) SiCr Spring alloy Steel epoxy coated

max.12

18 1 SPRING CLIP (Pinion) Spring Steel, ENP

19.0 1 GRADUATED RING PA66+GF+CB

19.1 1 POSITION INDICATOR PA66+GF+(CB)

19.5 1 TOP ADAPTOR Extruded Aluminium alloy, anodized

19.6 2 HEX. SOCKET SCREW (Top Adaptor) | Stainless Steel

20 [O ) 1 "O" RING (Pinion bottom) M-NBR

21 [} 1 "O" RING (Pinion top) M-NBR

30 2 END CAP Pressure Die Cast Aluminium alloy, anodized and coated

39 1 CAP SCREW (Indicator) PA66+GF+CB

40 2 PISTON Pressure Die Cast Aluminium alloy, anodized
| 41 1 ACTUATOR IDENTIFICATION LABEL | Polyester-Silver

43 1 SPIGQOT (Only on request) Extruded Aluminium alloy, anodized

50 1 BODY Extruded Aluminium alloy, coated

60 1 DRIVE SHAFT Steel, ENP

60.1 1 only f. prot. level E a. EC| INTEGRAL DRIVE SHAFT Stainless Steel, ENP

65 1 PLASTIC INSERT Modified PA66

O Parts included in Complete spare parts kit

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34

info@airtorque.de - www.airtorque.de

© Parts included in ,O" ring spare parts kit

Modifications reserved. Date 07.2010.

No guarantee for accuracy.

Older data sheets are invalid.

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

DRSC00060U-02000U



EDITION 2010
Part Description
DR/SC03000U-04000U

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

06 21

02 04 03 11 19.6 195 18 10 08

15 01 39 19.1 19.0
|
\ =
| o
TR
SEE " —
L l\ S
30 14 17 16 43 05 20 07 71 70 50 42 41 13 60 12 40
PART N°|Spare parts UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
01 1 OCTI-CAM (Stop arrangement) Carbon Steel, zinc coated
02 2 STOP CAP SCREW Stainless Steel
03 2 WASHER Stainless Steel
04 2 NUT (Stop screw) Stainless Steel
05 O 2 BEARING (Piston back) PA46
06 O 1 BEARING (Pinion top) High-grade polymers
07 O 1 BEARING (Pinion bottom) High-grade polymers
08 O 1 THRUST BEARING (Pinion) PA46
09 (O 4] 2 "O-RING" PLUG Silicone
10 1 THRUST WASHER (Pinion) Stainless Steel
11 (O] 2 'O" RING (Stop screw) M-NBR
12 2 PISTON GUIDE PA66+GF
13 8 CAP SCREW (End cap) Stainless Steel
14 (O +) 2 "O" RING (End cap) M-NBR
15 O 2 BEARING (Piston head) POM
16 (O 4] 2 'O" RING (Piston) M-NBR
17 e SPRING (Cartridge) SiCr Spring alloy Steel epoxy coated
max.12
18 1 SPRING CLIP (Pinion) Spring Steel, ENP
19.0 1 GRADUATED RING PA66+GF(+CB)
19.1 1 POSITION INDICATOR PA66+GF+CB
195 1 TOP ADAPTOR Extruded Aluminium alloy, anodized
19.6 2 HEX. SOCKET SCREW (Top Adaptor) | Stainless Steel
20 (O 4] 1 "O" RING (Pinion bottom) M-NBR
21 (o)X} 1 "O" RING (Pinion top) M-NBR
30 2 END CAP Pressure Die Cast Aluminium alloy, anodized and coated
39 1 CAP SCREW (Indicator) PA66+GF+CB
40 2 PISTON Pressure Die Cast Aluminium alloy, anodized
41 1 ACTUATOR IDENTIFICATION LABEL| Polyester-Silver
42 1  lonly for DRSC4000U END CAP LABEL Polyester-Silver
} 43 1 SPIGOT (Only on request) Extruded Aluminium alloy, anodized
j 50 1 BODY Extruded Aluminium alloy, coated
60 1 DRIVE SHAFT Steel, ENP
60.1 1 lonlyf. prot. level E a. EC| INTEGRAL DRIVE SHAFT Stainless Steel, ENP
65 1  |only for DRSC3000U PLASTIC INSERT Modified PA66
70 1  only for DRSC4000U FLANGE (Optional only for F25 or F16+F25) | Extruded Aluminium alloy, anodized
71 4 lonly for DRSC4000U SOCKET HEAD CAP SCREW (Flange)| Stainless Steel

O Parts included in Complete spare parts kit @ Parts included in ,O” ring spare parts kit

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 07.2010.

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC03000U-04000U
info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0521e



EDITION 2010
Part Description
DR/SC05000U

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

39 19.1 19.0

01

19.6 19.5 18 11 03

08 10

04

30 14 17 16 05 20 07 43
PART N°[Spare Parts UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
01 1 OCTI-CAM (Stop arrangement)| Carbon Steel, zinc coated
02 2 STOP CAP SCREW Stainless Steel
03 2 WASHER Stainless Steel
04 2 NUT (Stop screw) Stainless Steel
05 o] 2 BEARING (Piston back) PA46
06 O 1 BEARING (Pinion top) High-grade polymers
07 O 1 BEARING (Pinion bottom) High-grade polymers
08 o] 2 THRUST BEARING (Pinion) PA46
09.1 (O] 2 "O-RING" PLUG M-NBR
10 1 THRUST WASHER (Pinion) Stainless Steel
11 (O] 2 "O" RING (Stop screw) M-NBR
12 2 PISTON GUIDE PA66+GF
13 8 CAP SCREW (End cap) Stainless Steel
14 [O ) 2 "O" RING (End cap) M-NBR
15 O 2 BEARING (Piston head) POM
16 (O] 2 "O" RING (Piston) M-NBR
17 rr:;((;sz SPRING (Cartridge) SiCr Spring alloy Steel epoxy coated
18 1 SPRING CLIP (Pinion) Spring Steel, ENP
19.0 1 GRADUATED RING PA66+GF(+CB)
19.1 1 POSITION INDICATOR PA66+GF+CB
19.5 1 TOP ADAPTOR Extruded Aluminium alloy, anodized
19.6 2 HEX. SOCKET SCREW (Top Adaptor) | Stainless Steel
20 (O] 1 "O" RING (Pinion bottom) M-NBR
21 [O ) 1 "O" RING (Pinion top) M-NBR
30 2 END CAP Pressure Die Cast Aluminium alloy, anodized and coated
39 1 CAP SCREW (Indicator) PA66+GF+CB
40 2 PISTON Pressure Die Cast Aluminium alloy, anodized
41 1 ACTUATOR IDENTIFICATION LABEL Polyester-Silver
43 1 SPIGOT (Only on request) Extruded Aluminium alloy, anodized
50 1 BODY Cast Aluminium alloy, coated
60 1 DRIVE SHAFT Steel, ENP
60.1 1 only f. prot. level E/ EC| INTEGRAL DRIVE SHAFT Stainless Steel, ENP

O Parts included in Complete spare parts kit

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

@ Parts included in ,O” ring spare parts kit

Modifications reserved. Date 07.2010.

No guarantee for accuracy.

DRSC05000U

Older data sheets are invalid.

0522e



.
por Descrtion AIR TORQUE
R

DR/SC10000U PNEUMATISCHE STELLANTRIEBE

19.6 195 18

17 15 06 21 39 19.1 19.0 02 04 03 11 01 08 10

72l

30 16 14 50 20 07 43 41 131 13 12 42 60 40 05 09.1
PART N°|Spare Parts UNIT Q.TY / NOTE PART DESCRIPTION STANDARD MATERIAL (A) (B)
01 1 OCTI-CAM (Stop arrangement) Nodular Cast Iron, zinc coated
02 2 ANTI BLOW OUT STOP SCREW Stainless Steel
03 2 WASHER Stainless Steel
04 2 NUT (Stop screw) Stainless Steel
05 o 4 BEARING (Piston back) PA46
06 O 1 BEARING (Pinion top) High-grade polymers
07 O 1 BEARING (Pinion bottom) High-grade polymers
08 o 2 THRUST BEARING (Pinion) PA46
09.1 [O 2} 2 "O-RING" PLUG M-NBR
10 1 THRUST WASHER (Pinion) Stainless Steel
11 (O] 2 "O" RING (Stop screw) M-NBR
12 2 PISTON GUIDE PAG6
13 16 CAP SCREW (End cap) Stainless Steel
13.1 16 WASHER (Cap Screw end cap) Stainless Steel
14 [OI) 2 'O" RING (End cap) M-NBR
15 o 2 BEARING (Piston head) POM
16 [O ) 2 'O" RING (Piston) M-NBR
17 LU SPRING (Cartridge) SiCr Spring alloy Steel epoxy coated

max.12
18 1 SPRING CLIP (Pinion) Spring Steel, ENP
19.0 1 GRADUATED RING PA66+GF(+CB)
19.1 1 POSITION INDICATOR PA66+GF+CB
19.5 1 TOP ADAPTOR Extruded Aluminium alloy, anodized
19.6 2 HEX. SOCKET SCREW (Top Adaptor) | Stainless Steel
20 o o 1 "O" RING (Pinion bottom) M-NBR
21 [O ) 1 "O" RING (Pinion top) M-NBR
30 2 END CAP Cast Aluminium alloy, anodized and coated
39 1 CAP SCREW (Indicator) PA66+GF+CB
i 39.1 1 WASHER (Indicator) Stainless Steel
40 2 PISTON Cast Aluminium alloy, anodized
41 1 ACTUATOR IDENTIFICATION LABEL| Polyester-Silver
42 2 END CAP LABEL Polyester-Silver
43 1 SPIGOT (Only on request) Extruded Aluminium alloy, anodized
50 1 BODY Cast Aluminium alloy, coated
60 1 DRIVE SHAFT Extruded Aluminium alloy, anodized
60.1 1 only f. prot. level E / EC | INTEGRAL DRIVE SHAFT Stainless Steel, ENP
O Parts included in Complete spare parts kit & Parts included in ,O” ring spare parts kit

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 07.2010.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC10000U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0523e



snevn® () AIR TORQUE

DR/SC00010U-10000U

ESTELLANIRII

FINEUMAL

Springs S el Springs only for Springs only for
Ca:gﬂ; g’;z:‘ of DR/SC00015U DR/SC00010U
Green
Red
Green
Red
Black
Dimensions of Tools for Maintenanace
DR/SC[sw 1| sw [swa| S3PSerew
Torque Nm
00010U| - - 8 5=>6
00015U| 10 | 10 [ 8 5=>6
00030U| 10 10 10 10=>11
09 00060U| 13 13 10 10=>11
00100U| 13 13 10 10=>11
PART 13 PART 02 PART 04 00150U| 17 17 13 23=>25
Only for DR/SC1000U 00220U| 19 19 13 23=>25
00300U| 19 19 17 48 => 52
00450U| 22 22 17 48 => 52
00600U| 22 | 22 [ 19 82 => 86
- S swi 00900U| 24 24 19 82 => 86
— I I I I I I 01200U| 30 30 22 132 =>138
02000U| 30 30 24 200 => 210
03000U| 36 | 36 [ 22 132 =>138
04000U| 46 46 24 200 => 210
gi‘:znsions in [mm] 05000U| 46 | 46 | 24 200 => 210
(A) Type 03000-04000 -> 12 cap screws; Type 05000-10000 -> 16 cap screws (end cap). 10000U) 24 | 60 | 14 200 =>210
Part st. Description DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC
No. 00010U | 00015U | O0030U | 00060U | 00100U | 00150U | 00220U 00300U 00450U
2 2 Stop cap screw - M6x24 M6x28 M8x31.5 M8x34 M10x41 M12x49 M14x55
4 2 Nut (Stop screw) - M6 M8 M10 M12 M14
9* 2 Plug Non standard special part
11* 2 O-Ring (Stop screw) - 5,28x1,78 7,6x2,62 9,92x2,62 10,69x3,53 13,87x3,53
13(A) | 8 Cap screw (End cap) M5x30 M6x25 M8x30 M10x35
14* 2 O-Ring (End cap) 44,17x1,78|47,35x1,7860,05x1,78|72,70x2,62 | 83,8x2,62 97x2,6 113,9x3,53 |123,42x3,53| 142,5x3,53
16* 2 O-Ring (Piston) 37,7x3,53 |42,86x3,53|56,75x3,53|68,26x3,53| 75,57x5,34 | 86,69x5,34 | 104,14x5,34 | 113,67x5,34 | 129,54x6,99
18 1 | @ of spring clip DIN471 13 14 16 22 25 26 36 38 45
20* 1 O-Ring (Pinion bottom) 17,16x1,78 20,35x1,78|26,65x2,62| 33x2,62 | 34,6x2,62 | 44,12x2,62 | 48,9x2,62 | 55,56x3,53
21* 1 O-Ring (Pinion top) 9,25x1,78 |10,82x1,78|12,42x1,7817,13x2,62| 20,29x2,62| 21,9x2,62 | 29,82x2,62 | 33x2,62 37,7x3,53
Part st. Description DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC DR/SC
No. 00600U 00900U 01200U 02000U 03000U 04000U 05000U 10000U
2 2 Stop cap screw M14x55 M16x68.5 M20x77 M20x85.5 M24x94 M30x108 M30x129 M39x178
4 2 Nut (Stop screw) M14 M16 M20 M24 M30 M39
9* 2 Plug Non standard special part 18,64x3,53 | 23,17x5,34
11* 2 O-Ring (Stop screw) 13,87x3,54 | 15,47x3,53 18,42X5,34 21,59x5,34 27,94x5,34 34,47x6,99
13| 8 Cap screw (End cap) M12x50 M14x55 M16x60 M14x55 M16x60 M16x70
14* 2 O-Ring (End cap) 158,35x3,53 | 177,4x3,53 | 196,45x3,53 | 234,3x5,34 | 253,4x5,34 | 291,47x5,34 | 304,17x5,34 | 417,96x6,99
16* 2 O-Ring (Piston) 145,42x6,99 | 166,7x6,99 | 183,5x6,99 | 221,6x6,99 | 247x6,99 | 258,1x6,99 | 310,5x6,99 390x10
18 1 @ of spring clip DIN471 48 52 58 68 80 85 90 102
20* 1 O-Ring (Pinion bottom) | 59,92x3,53 | 63,1x3,53 | 69,22x5,34 | 81,92x5,34 | 100x5,34 | 109,54x5,34 | 116,84x5,34 | 129,54x6,99
21* 1 O-Ring (Pinion top) 40,87x3,53 | 44,45x3,53 47x5,34 56,52x5,34 | 62,22x5,34 | 74,63x5,34 | 78,74x5,34 | 88,27x6,99
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 03.2012.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Dimensions

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0525e



Actuator Sizes German

EDITION 2010
Typemarking

AIR TORQUE

UMATISCHE STELLANTRIEBE

Actuator Sizes

Valve attachment international
Type I:Icc):r;gﬁ Double Square Square MZEii 8

DR/SC 00010U FO3 / FO4 9/ M - AT 045

DR/SC 00015U FO3FO5 / FO4 11 9/ 1 AT 051U
DR/SC 00030U FO3FO5 / FOAFQ7 / FO5FO7 / FO5 11/14 9/ 14 AT 101U
DR/SC 00060U FO4F07 / FO5F07 / FO5 14/17 11/14/17 AT 201U
DR/SC 00100U FO5F07 / FO7 17 11/14/17 AT 251U
DR/SC 00150V FO5F07 / FO7F10 / FO7 17 /22 14/17 /22 AT 301U
DR/SC 00220U FO7F10/ F10 17/ 22 14/ 22 AT 351U
DR/SC 00300U FO7F10/ F10 22 /27 17 ] 22 AT 401U
DR/SC 00450U F10F12 / F12 27 22 /27 AT 451U
DR/SC 00600U F10F12 / F12 27 22 /27 AT 501U
DR/SC 00900U F10F12 / F14 27/ 36 22/ 36 AT 551U
DR/SC 01200U F10F12 / F14 27/ 36 22/ 36 AT 601U
DR/SC 02000U F12 /F14/ F16 36/ 46 27 | 46 AT 651U
DR/SC 03000U F12 /F14/ F16 36/ 46 27 | 46 AT 701U
DR/SC 04000U F14 / F16 / F16F25 46 / 55 55 AT 751U
DR/SC 05000V F16F25 / F25 46/ 55 55 AT 801U
DR/SC 10000U F16F25F30 / F30 55/ 75 75 AT 1004U

- Standard bold printet

- all types except P version with double flange in some sizes + double square

- Version P P only available with single flange and square
- EC Version only available with stainless steel drive shaftf and double square

How to order:

Pos.1: Actuator type - Feature 1 Pos.6: Flange Connection
D - double acting possible combinations -> s. fop table
S -single acting Pos7:  Key Size
Pos.2: Actuator type - Feature 2 possible combinations -> s. top table
R - Clockwise (CW) .
L - CounterCW > for double acting actuators P0S.8: Protection Levels
-Spri Versions: A/B/D/E/P/EC/S*
g ) zp:li:g glo;i > for single acting actuators /B/D/E/F/EC]
LA Pos.9: Cam
Pos.3: Size without affribute = conical cam with graduated ring
last digit = 0 -> turning range 90° Z (cylindric) = multifunktional indicator
last digit = 2 -> turning range 120°
last digit = 3 -> turning range 135° Pos.10:  Special Attributes
last digit = 5 -> turning range 145° 3 - 3 position
last digit = 8 -> turning range 180° B - 100% or 50% stroke adjustment
D - hydraulic damper
Pos.4: Number of springs per side F - special colour
only for single acting actuators FM - Fail Mid
H - high temperature
Pos.5: Actuator type - Feature 3 N - infgemdl cphoroc’rer
U (Upgrade) = Edition 2010 Q - for assembly across the line
without attribute = Edition 2000 S - fast acting
T - extreme low femperature
W - control medium clean water
Y - centerring*
G - automatic safety device**
. *Details for S = stainless steel see
rdering Example:
Orde g oLt data sheet 0306 / 0524
Position 112 3 4 6 7 '8l9l 10 **not for P-Version, included in standard version
***on request for some sizes
Example S|C| 00100 |-4|U FO5FQ7 17 |A|Z| H

Single acting actuator, spring close, size 00100, 4 springs per side (symmetric sizing for control pressure = 4bar),
Edition 2010, double flange FO5F07, double square 17, version A, multifunction indicator, high temperature

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.
No guarantee for accuracy.
Older data sheets are invalid.

Typemarking
0526e



ninsroe sk (40S) AIR TORQUE

DR/SC00006-10000

ENEUMATISGHE STELLANTRIEBE

Air Consumption of AT-Actuators with 90° turning angle in litre/stroke

Air Supply Pressure Pe in bar
Actuator 25 3 35 4 45 5 55 6 7 8
DR 0,18 0,20 0,23 025 0,28 0,30 0,33 0,35 0,40 0,45
00006 SC/SO 0,07 0,08 0,09 0,10 0,11 0,12 0,13 0,14 0,16 0,18
DR 056 0,64 0,72 0,80 0,88 0,96 1,04 1,12 1,28 144
oooto SC/SO 021 024 027 0,30 0,33 0,36 0,39 0,42 0,48 0,54
DR 084 0,96 1,08 1,20 1,32 1.44 1.56 1,68 1,92 2,16
00015 SC/SO 0,32 0,36 041 0,45 0,50 0,54 059 0,63 0,72 0,81
DR 1.47 1,68 1,89 2,10 2,31 2,52 2,73 2,94 3,36 3.78
00030 SC/SO 0,56 0.64 0,72 0,80 0,88 0,96 1,04 1,12 1,28 1.44
DR 2,80 3,20 3,60 4,00 4,40 4,80 520 5,60 6,40 7,20
000s0 SC/SO 1.09 1.24 1,40 155 1.71 1.86 2,02 2,17 2,48 2,79
DR 4,52 5,16 581 6,45 7,10 7,74 8,39 9.03 10,32 11,61
00100 SC/SO 1.79 2,04 2,30 2,55 281 3,06 3.32 3,57 4,08 4,59
DR 6,37 7.28 8,19 9.10 10,01 10,92 11,83 12,74 14,56 16,38
00150 SC/SO 2,49 2,84 3,20 3,65 3.91 4,26 4,62 4,97 5,68 6,39
DR 10,47 11,96 13,46 14,95 16,45 17,94 19.44 20,93 23,92 26,91
00220 SC/SO 417 4,76 4,76 5,95 6,55 714 7,74 8,33 9,52 9.52
DR 13,58 15,52 17,46 19.40 21,34 23,28 25,22 27,16 31,04 34,92
00300 SC/SO 5,39 6,16 6,93 7,70 8,47 924 10,01 10,78 12,32 13,86
DR 21,67 24,76 27,86 30,95 34,05 37.14 40,24 43,33 49,52 55,71
00450 SC/SO 844 9.64 10,85 12,05 13,26 14,46 15,67 16,87 19,28 21,69
DR 28,21 32,24 36,27 40,30 44,33 48,36 52,39 56,42 64,48 72,54
00600 SC/SO 10,99 12,56 1413 15,70 17,27 18,84 20,41 21,98 25,12 28,26
DR 39,03 44,60 50,18 55,75 61,33 66,90 72,48 78,05 89,20 100,35
00900 SC/SO 14,91 17.04 1917 21,30 23,43 25,56 27.69 29,82 34,08 38,34
DR 53,90 61,60 69,30 77,00 84,70 92,40 100,10 107,80 123,20 138,60
01200 SC/SO 20,79 23,76 26,73 29,70 32,67 35,64 38,61 41,58 47,52 53,46
DR 88,20 100,80 113,40 126,00 138,60 151,20 163,80 176,40 201,60 226,80
02000 SC/SO 35,00 40,00 45,00 50,00 55,00 60,00 65,00 70,00 80,00 90,00
DR 125,58 143,52 161,46 179.40 197.34 215,28 233,22 251,16 287,04 322,92
03000 SC/SO 50,75 58,00 65,25 72,50 79,75 87,00 94,25 101,50 116,00 130,50
DR 185,50 212,00 238,50 265,00 291,50 318,00 344,50 371,00 424,00 477,00
04000 SC/SO 70,00 80,00 90,00 100,00 110,00 120,00 130,00 140,00 160,00 180,00
DR 227,50 260,00 292,50 325,00 357,50 390,00 422,50 455,00 520,00 585,00
05000 SC/SO 87.50 100,00 112,50 125,00 137.50 150,00 162,50 175,00 200,00 225,00
DR 465,50 532,00 598,50 665,00 731,50 798,00 864,50 931,00 1064,00 1197,00
10000 SC/SO 171,50 196,00 220,50 245,00 269,50 294,00 318,50 343,00 392,00 441,00
Calculation: Q=n*V*(pe+pamb)/pamb ; Q = air consumption; n = Cycles; pe = control pressure; pamb = air pressure
Definition Stroke: DR -> 1 stroke corresponds to 1 x OPEN (0°-90°) and 1 x CLOSE (90°-0°)

SC -> 1 stroke corresponds to 1 x OPEN (0°-90°); CLOSE (90°-0°) with springs

Air Consumption of AT-Actuators with 90° turning angle in m3/stroke
conversion: 1L =0,001 m3 /1000L = 1m3

Air Supply Pressure Pe in bar
25 3 3.5 4 4.5 5 5.5 6 7 8
DR 0,00018 0,0002 0,00023 0,00025 0,00028 0,0003 0,00033 0,00035 0,0004 0,00045
SC/SO 0,00007 0,00008 0,00009 0,0001 0,00011 0,00012 0,00013 0,00014 0,00016 0,00018

Actuator

00006

DR 0,4655 0,532 0,5985 0,665 0,7315 0,798 0,8645 0,931 0,1064 0,1197
SC/SO 0,1715 0,196 0,2205 0,245 0,2695 0,294 03185 0,343 0,392 0,441

10000

EXTRACT FROM THE TABLE FOR PURPOSE OF EXAMPLIFICATION OF THE CONVERSION

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 07.2010.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Air Consumption G4

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0527e



petvcions 120-, 1350 50 (40S) AIR TORQUE

DR0OOO15U - 04000U

FNEUMATISCGHE STELLANTRIEBE

e & T

Design: DOUBLE ACTING

(Bottom View 15O 5211)

Dimensions _
in mm ﬂ Position of square
f —Ll Actuator position CLOSE (0°)

il

Square Single Single
Square Square
DOUBLE  PARALLEL DIAGONAL

REREAE

. | (Square drive shaft top)
(Air connection VDI/VDE 3845 ) L . ¥
DR00015U %
L Port'4' DR00030U
for type
DR00060U
DR04000U
Actuator [Type| A | B | C D Fle|n|P|rR|s|T ;2580 7| ala|w|wm Fl:;f\ge °°'ir‘:"f;9h'
DR0O0012U | 120° 153 124
DRO0013U | 135° 165 69 72 M5x8 | 80 [ 30 | N 20 | 32 | 24 1/8" 42 42 - M5 - FO4 1.4
DRO0018U | 180° 192 1,57
DR0O0032U | 120° 172 2,03
DR0O0033U | 135° 185 85 (845 | M5x8 | 80 | 30 | N 20| 32 | 24 1/8" 42 50 70 Mé6 | M8 | FO5 + FO7 226
DR0O0O038U | 180° | 216 2,52
DR0O0062U | 120° | 229 3,29
DR0O0063U | 135° | 247 102 | 93 M5x8 [ 80 | 30 | 17 | 20 | 32 | 24 1/8" 42 50 70 Mé | M8 | FO5 + FO7 3,82
DR00068U | 180° | 291 4,28
DRO0102U | 120° | 264 4,55
15 | 106 | M5x8 | 80 | 30 | 17 | 20 | 32 | 24 1/8" 42 50 70 Mé | M8 | FO5 + FO7
DROO108U | 180° | 335 593
DRO0152U | 120° | 292 6,31
DR0O0153U | 135° 316 127 | 1185 Mbx8 | 80 | 30 [ 17 | 20 | 32 | 24 1/4" 42 70 102 | M8 | M10 | FO7 + F10 7,05
DRO0158U | 180° | 372 7,15
DR00222U | 120° | 345 101
DR00223U | 135° 374 145 | 136 | M5x8 | 80 | 30 | 27 | 30 | 32 | 24 1/4" 58 70 102 | M8 [ M10 | FO7 + F10 1.4
DR00228U | 180° | 443 12,6
DR0O0302U | 120° | 377 12,1
DR0O0303U | 135° | 408 157 | 1465 M5x8 | 80 | 30 | 27 | 30 | 32 | 24 1/4" 58 70 102 | M8 [ M10 | FO7 + F10 13,6
DRO0308U | 180° | 483 15,2
DRO0602U | 120° | 478 23,8
DR0O0603U | 135° 517 196 | 181 M5x8 | 80 | 30 | 27 | 30 | 32 | 24 1/4" 675 | 102 | 1256 | M10 | M12 | F1I0 + F12 26,7
DR0O0608U | 180° | 611 291
DRO1202U | 120° | 594 43,5
DR0O1203U | 135° | 641 245 | 2215 M5x8 | 130 | 30 | 36 | 50 | 32 | 24 1/4" 80 140 - M16 - F14 48,2
DR0O1208U | 180° | 754 52,6
DR02002U | 120° / /
208,5| 262 | M6X10 | 130 | 30 | 36 | 50 | 45 | 40 3/8" N5 | 165 - M20 - F16
DR02008U | 180° | 867 106
DR0O3002U | 120° / /
330 | 330 | M6X10 [ 130 | 30 | 36 | 50 | 45 | 40 1/2" 15 | 165 - M20 - F16
DR0O3008U | 180° | 1023 127
DRO4002U | 120° | / /
DRO4008U | 180° | / /
Dimensions in mm; *ofther connections available
Specification:
Max. supply pressure: 8 bar Torque: With the same operating pressure the torque is
Operating pressure:  2,5-8 bar equivalent to the standard actuator. See data sheet
other dimensions: see standard data sheet of standard actuator.
Material: see data sheet 120°-135°-180° actuators Working Medium: refer to AIR TORQUE manual instruction.
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. 120°/135°/180°

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0601e



Design:

EDITION 2010
Actuators 120°, 135° a. 180°
DR0O0015U - 04000V

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

DOUBLE ACTING

02_ 04

':::.' ig?tr: Quantity / Note Description Standard Material (A) (B)
01 1 Octi-Cam (Stop arrangement) Carbon Steel, zinc coated

02 2 Stop Cap Screw Stainless Steel

03 2 Washer Stainless Steel

04 2 Nut (Stop screw) Stainless Steel

05 | © 2 Bearing (Piston back) PA46

06 9) 1 Bearing (Pinion top) High-grade polymers

07 @) 1 Bearing (Pinion bottom) High-grade polymers

08 9] 2 | 3 pcs. for model DRO0600U Thrust Bearing (Pinion) PA46

09 | © O 2 Plug Silicone

10 1 Thrust Washer (Pinion) Stainless Steel

n o O 2 O-Ring (Stop screw) M-NBR

13 8 Cap Screw (End cap) Edelstahl

14 o O 2 O-Ring (End cap) M-NBR

15 9) 2 Bearing (Piston head) POM

16 o 0O 2 O-Ring (Piston) M-NBR

18 1 Spring Clip (Pinion) Spring Steel, ENP

19 1 for types DRO0015U - 00030U Position Indicator PA66+GF+(CB)

19.0 1 Graduated Ring PA66+GF+CB

19.1 1 for types DRO0060U - 04000U | Position Indicator PA66+GF+(CB)

19.5 1 Top Adaptor Extruded Aluminium alloy, anodized
19.6 2 Hex. Socket Screw (Top Adaptor) Stainless Steel

20 o O 1 O-Ring (Pinion bottom) M-NBR

21 o O 1 O-Ring (Pinion top) M-NBR

30 2 End Cap Pressure Die Cast Aluminium alloy, anod. a. coated
39 1 Cap Screw (Indicator) PA66+GF+CB

40 2 Piston Pressure Die Cast Aluminium alloy, anodized
4] 1 Identification Label Polyester-Silver

43 1 Spigot (only on request) Extruded Aluminium alloy, anodized
50 1 Body Extruded Aluminium alloy, coated
60 1 Drive Shaft Steel, ENP
60.1 1 only for protection ,E” a. ,EC" | Integral Drive Shaft Stainless Steel, ENP

65 1 Plastic Insert Modified PA66

O included in spare part kit

Note:

Air Torque GmbH
Im Katzentach 16-18

O included in O-Ring spare part kit

(A) For detail of material end coating specifications refer to the catalogue.
(B) For different soft parts material depending on operatfion femperature range refer fo the catalogue.

- DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.

No guarantee for accuracy.
Older data sheets are invalid.

120°/135°/180°
0602e



(EDPJES%':: ?Alcg‘uo’rors @ A.R TORQUE

Description

EUMAIISCGHE STELLANTRIEBE

General Information:

Air Torque 3 position pneumatic actuators 90° provide an operation of 0° - 45° - 90° or 0° - 90° - 180° for 180° actuator
rotation. The infermediate position is achieved by an external mechanical stop with 2 auxiliary pistons (for spring return
actuators it may be only one auxiliary piston). This infermediate stop position is adjustable, for example 5°, 20°, 30°, 50°,
75° efc. The intermediate position is easily achieved by adjusting the external nuts located oufside the two end-caps.
Both type, double acting and spring return, are available.

Field of application: For dosing, for exact filling and for any kind of services where on 90° rofation an infermediatfe
stop position is desired. e :

To control and operate the 3-Position actuators a system of solenoid valves and a sequence of air supply is required:

ration 3-Position Actuators ED 201
doopeblg C::Tir? osiilo ctuators 010 Rotation Rotation Solenoid Valve Pressurized
u 9 90° 180° energized Port
Rotation 90° Rotation 180°
-Type: 3PDDR..90°  -Type: 3PD DR ..180° T LY ol 2
90° ->0° 180° > 0° SV2 4
0° > X° 0°->Y° first SV3 + affer SV1 D+2
] L
X° > 90° Yo > 180° SV1 2
I I 90° > X° 180° > Y° sv3 D
D 2 4 | D
el X > 0° Yo > 0° SV2

] T\ svs T-ZHE\N sv2 X: Infermediate position, 0° to 90°
ZZMN sv1 Y: Infermediate position, 90° to 180°
®

Note: 1. As an alternative, the solenoid valve SV3 can be replaced by 2 solenoid valves directly applied to NA-
MUR connections on the 2 aukxilliary bodies.
2. As an alfernative, the solenoid valves SV1 and SV2 can be replaced by one 5/3 bistable solenoid valve
directly applied to NAMUR connections on the central body.

3-Position Actuators ED 2010, Rotation 90°

. Solenoid Valve ener- | Pressurized

Rotation ized Port
Spring return - type: 3PD SC ... Spring return - type: 3P SC ... gize il
0° > 90° SV1 2

90° ->0° air failure at port 2 - apring action

Ilg 0°->X° first SV3 + after SV1 D+2
D 2| 4 | o 2| 4 | o X°->90° SV1 2

o3| AN EE ZZME\/\I sv3 *90°>X° | first SV1 + after SV3 24D
ZIZI];[T]\/\I svi ZIZI]:[T]\/\I svi X > 0° Abluft an 2 - Federwirkend

® ®

*Note: This function is achievable only with 3-Position Spring Return actuators with 2 auxilliary pistons (external
mechanical stop).
Note: As an alternative for 3PD, the solenoid valve SV3 can be replaced by 2 solenoid valves directly applied to

NAMUR connections on the 2 auxilliary bodies.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Dosing

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0603e



—_—
3 ostion Actuator AIR TORQUE
.\ .

Description

. PNEUMATISCHE STELLANTRIEBE
et

3PD for model: Spring return and double acting 90°, plus double acting 180°
@71

A(90°) / A2 (180°)

T PORT '4'

PORT ‘2|

-
3P only for model: Spring return 90°
DOUBLE PARALLEL ~ DIAGONAL
SQUARE SINGLE SINGLE

SQUARE SQUARE

( TOP SQUARE DRIVE SHAFT )

4
Al (90°) —H—
I 1 ONLY FOR MODEL 3P/3PD

DR/SC00030U 90°
3P/3PD DR/SC00030U 180°

FOR MODEL
3P/3PD DR/SC 00060U - 03000U 90°
3P/3PD DR/SC 00060U - 03000U 180°

Actuator** A Al A2 T8O ISO*
Type 3PD/3P 90° | Q0° | 180° 228 Flange

DR/SC00030 392 | 273 | 454 | 85 845 | Mbx8 | M5x8 | 80 | 30 | 11 | 20 | 32 | 24 | 42 1/8" FO5+F07 | 80 | 70 | M6 | M8

DR/SC00060 481 | 342 | 568 | 102 93 Mb5x8 | Mbx8 | 80 | 30 | 17 | 20 | 32 | 24 | 42 1/8" FO5+F07 | 80 | 70 | M6 | M8

DR/SC00100 578 | 409 | 672 | 1156 106 Mb5x8 | Mbx8 | 80 | 30 | 17 | 20 | 32 | 24 | 42 1/4" FO5+F07 | 80 | 70 | M6 | M8

DR/SC00150 617 | 438 | 730 | 127 | 1185 | M5x8 | Mbx8 | 80 | 30 | 17 | 20 | 32 | 24 | 42 1/4" FO7+F10 | 70 | 102 | M8 [ M10

DR/SC00300 798 | 565 | 948 | 157 | 1465 | M5x8 | M5x8 | 80 | 30 | 27 | 30 | 32 | 24 | 58 1/4" FO7+F10 | 70 | 102 | M8 | M10

DR/SC00600 989 | 705 | 1177 | 196 181 M5x8 | M5x8 | 80 | 30 | 27 | 30 | 32 | 24 | 675 | 1/4" F10+F12 | 102 | 125 | M10 | M12

DR/SCQ1200 | 1290 | 909 | 1514 | 245 | 221,5 | M5x8 | M5x8 [ 130 | 30 | 36 | 50 | 32 | 24 | 80 | 1/4" F14 40|/ [MI16| /
DR/SC03000 | 1725 | 1218 | 2030 | 330 | 330 |M6x10| M5x8 | 130 | 30 | 36 | 50 | 45 | 40 | 115 | 172 F16 65| / |[M20| /
*Note: Other connections available; ** Further models on request; Dimensions in mm
Specification: Output torque: With the same operation pressure and/or the same
Max. supply pressure: 8 bar number of springs, the torque is equivalent to the stan-
Operating pressure: 2,5 - 8 bar dard actuator.
Other dimensions: see data sheet Operating media: See data sheet of standard actuator.
Material: see data sheet of 3P actuator Temperature: -20°C bis +80°C
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Dosing

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0604e



EDITION 2010
Pneumo - Hydraulic
Speed Control

PNEOMATISCHE STELLANTRIEBE:

Technical Data: DR/SC00030U - DR/SC03000U
Adjustable operating time for 90° stroke HCD Actuator =
Air supply 5,5 bar (80 Psi)
Actuator Min. approx. | Max.
Type (Sek.) **  [(Sek.) **

HCD DR/SC00030U 25 >20

HCD DR/SC00060U 3 >20

HCD DR/SC00100U 35 >20

HCD DR/SC00150U 4 >20

HCD DR/SC00300U 6 >20

HCD DR/SC00600U 8 >30

HCD DR/SC01200U n >30

HCD DR/SC03000U 15 >30

Air Speed-Flow
** Actuator operating time without resistance load Control Solenoid

Valve

The operating times depend on:
- Air supply pressure

- Valve forque Type HCD SC00030U => HCD SC03000U: Preumnatic / Hydraulic Circuit Scheme
- Adjustment of the speed flow control

Funchi [ . = [
uncrion:

Y= =+

G— | G— - —)
| / m‘—ﬂ( [l | \ |
I : |_| [ 1
/ ' \
Piston Throttle 2 t ::% ﬂ 4 Piston Throttel
I 2 4

Flow Capacity Required: 3/23§I‘32°"’ /EZ y — W\ ss,')r:egelz Egllg::ve g::?:%
For type HCD DR/SC00030U - 00300U 5 d:) s
0to 300 NL/min at 5,5 bar (80 psi) 1
For type HCD DR/SC00400U - 03000U Type HCD DR00030U => HCD DR03000U: Pneumatic / Hydraulic Circuit Scheme

0to 1500 NL/min af 5,5 bar (80 psi)

Solenoid valve and speed flow control are
not a part of the actuator. 7-’

Iy,
)
!
thﬁj

= \ |

\

[ |
Piston Thro{tle 2 t @ @ ﬂ 4 Piston Throttle
|

5/2 Solenoid /EEZ

Valve

W Double Bidirectional
Speed Flow Control

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Speed Control

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0605e



o

o

ITELCas

EDITION 2010

N —
Pneumo - Hydraulic A'R TOHQUE
. 3

Speed Control _ —
P PNEUMATISCGHE STELLANTRIEBE

Dimensions and Technical Data: DR/SC00030U - DR/SC03000U

(Top Square Drive Shaft)

Only for type Only for type
HCD DR/SC00030U HCD DR/SC00060U - 03000U Single
(Air Connection VDI/VDE 3845 ) Square
4 4 PARALLEL
—I_-— <
— . } T Port '4'
o < o Single
R K . Square
D DIAGONAL
o N
NPARNP)
1 i
Port'2' [ T~ Square
__I DOUBLE
ca. Weight
in KG
Actuator A B|c| D E |Fle|N|P|R|s |z |50 5O Q |l | w | wi [DrR*|sc
Type 228 Flange
HCD DR/SC00030U | 2835 | 85 | 845 | M5x8 |M5x8 | 80 | 30 | 11| 20 | 32 | 24 | 42 | 178" |Fo5+F07 | 50 | 70 | M6 | M8 | 31 | 32

HCD DR/SC00060U

3695 | 102 | 93 | M5x8 |M5x8 | 80 | 30 | 17 | 20 | 32 | 24 | 42 | 1/8" |FO5+F07 | 50 [ 70 [ M6 | M8 | 67 | 6,1

HCD DR/SC00100U

4325 | 115 | 106 | M5x8 | M5x8 | 80 | 30 [ 17 | 20 | 32 | 24 | 42 | 1/4" | FO5+F07 | 50 [ 70 [ M6 | M8 | 65 | 75

HCD DR/SC00150U

471 127 |118,5| M5x8 [ M5x8 | 80 | 30 | 17 | 20 | 32 | 24 | 42 | 1/4” [FO7+F10 | 70 [102| M8 |M10| T 12

HCD DR/SC00300U

6145 | 157 [146,5| M5x8 | M5x8 | 80 | 30 | 27 | 30 | 32 | 24 | 58 | 1/4” | FO7+F10 | 70 | 102| M8 |M10| 21,56 | 23

HCD DR/SC00600U

7605 | 196 | 181 | M5x8 | M5x8 | 80 | 30 | 27 | 30 | 32 | 24 |67,5| 1/4" | FI0+F12 | 102|125 [M10(M12| 45 | 495

HCD DR/SCO01200U | 964 | 245 |221,5| M5x8 | M5x8 [ 130 | 30 | 36 | 50 | 32 | 24 | 80 | 1/4" F14 40| - [M16| - | 75 | 84
HCD DR/SC03000U | 1254 | 330 | 330 [Méx10| M5x8 [ 130 | 30 | 36 | 50 | 45 | 40 | 115| 1/2" F16 165| - [M20| - | 160 | 180
* Note: Ofther connections available. Dimensions in mm. ** DR = double acting / SC = spring return with 6 springs per side
Specification:
Max. supply pressure: 6,5 bar (95 psi) Other dimensions:  see data sheet of standard actuator
Operating pressure: 2,5 - 6,5 bar Operating media:  see AIR TORQUE manual instruction
Hydraulic fluid biodegradable. Temperature: -20°C to +80°C

Important Note:

For a correct operation of this actuator we suggest a forque sizing based on a safety factor of
at least 30%.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Speed Control

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0606e




—_—
soor s (42)) AIR TORQUE
. |

Fail Safety Position _ —
Ty ENEUMATISCGHE STELLANTRIEBE

General Information:

The 180° spring refurn actuators with 90° fail safety position are used for 0°-90°-180° operations where in case of air
failure the actuator has fo return fo the 90° position.

At both ends of the actuator a spring set is mounted and the springs can be compressed in two directions: toward end
caps or inward. Pressure supplied af port 4 forces the pistons foward actuator end caps and rotate the actuator drive
shaft from 0° or 180° compressing the springs, while pressure supplied at port 4 forces the pistons inward and rotate the
actuator drive shaff from 90° to 0°.

From fully close position (0°) or fully open position (180°) the fail safe operation is achieved in case of air or electrical
failure by extension of the compressed springs. They push the pistons fo rotate the actuator drive shaft from 0° or 180°
position to 90° position.

Operation: (For Standard Assembly ST)

|: W MM j A system of solenoid valves that control the sequence of air supplies
- - is required in order fo operate correctly the 180° spring return actua-
] (v MM [ for with 90° Fail Safety position.

2 x 3/2 way solenoid valve
1 x 5/3 way solenoid valve

from 90° to 180°:

When compressed air is supplied at the port 2, air forces the pistons
tfoward actuator end caps and compresses the springs from the
center to the outfside ends. A counterclockwise rotation is obtained.

— from 90° to 0°:

When compressed air is supplied at the port 4, air forces the pistons
inward and compresses the springs from their oufside ends to the
f Y center. A clockwise rotation is obtained.

Air fail operation:

From 180° position: the air pressure loss (air or electric failure) af port
2 allows the springs to force the pistons inward (until 90° position)
with the exhaust air exiting at port 2, a clockwise rotation is achieved.

From 0° position: the air pressure loss (air or electric failure) at port 4
allows the springs to force the pistons foward the actuator (until 90°
position) with the exhaust air exiting at port 4, a counterclockwise
rotation is achieved.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Fail Safety Posifion

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0607e




—_—
Actuator (1807wt AIR TORQUE
- '

Fail Safety Position

PNEUMATISCHE STELLANTRIEBE

271

(Air Connection VDI/VDE 3845 ) ((Bottom View 1SO 5211 )

T Port '4'

For type
FM SC00158
->
FM SC01208

Single Single
Square Square Square
DOUBLE PARALLEL DIAGONAL

&

AC'T‘fgg’** A|lB|lc|Dpl|eE

T-1SO ISO*
F G | N P R S | Z1 208 Flange Q | Ql W | Wi

FM SCO00158U | 581 | 127 | 118,56 | M5x8 | M5x8

80 | 30 | 17 | 20 | 32 | 24 | 42 1/4" |FO7+F10| 70 | 102 | M8 | M10

FM SC00308U | 749 | 157 | 146,5|Mbx8 | M5x8

80 | 30 | 27 | 30 | 32 | 24 | &8 1/4" |FO7+F10| 70 | 102 | M8 | M10

FM SC00608U | 951 | 196 | 181 |M5x8|Mb5x8

80 | 30 | 27 | 30 | 32 | 24 | 675 | 1/4" |F1I0+F12| 102 | 125 | MI0 | M12

FM SC01208U | 1180 | 245 |221,5|Mbx8 | M5x8

130 | 30 | 36 | 50 | 32 | 24 | 80 1/4" F14 140 M16 |/

~

*Note: Other connections on request; ** Other models on request; Dimensions in mm

Specification:

Max. supply pressure: 8 bar
Operating pressure; 2,5 - 8 bar

Ofher dimensions: see std. data sheet
Material: see data sheet Fail-Mid

Output torque: With the same operating pressure and/or the same
number of springs, the torque is equivalent to the stan-
dard actuator. See data sheet of standard actuator.

Operatfing media: Refer fo AIR TORQUE manual insfruction.

Temperature: -20°C to +80°C

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.
No guarantee for accuracy. Fail Safety Position
Older data sheets are invalid. 0608e



_—
Spring Refum Actuators AIR TORQUE
————

o .
180° Rotation SNEBTRTISCHE STELLANTRIERE:

General Information:

AIR TORQUE Single acting 180° actuators ,EDITION 2010” provide a rotation of
180° and in case of air or electric failure the closing is provided by the spring
return operation.

The external travel stop adjustments are available as a standard in fully OPEN
position (180°) and in fully CLOSE position (0°), and they are easily and precisely
adjustable by +/-5° in both directions.

Fields of application: 3 or 4 way valves, special valves for sample taking and
any application where a 180° rotation is required.

Specification:

Max. supply pressure: 8 bar

Operating pressure: 2.5 -8 bar

Temperature: -20°C to +80°C

Other Dimensions: see standard data sheet

Operating media: see AIR TORQUE
manual instruction

Spring Return Actuator Output Torque (Nm)

Pressure 2,5 bar 3 bar 3,5 bar 4 bar 4,2 bar 4,5 bar 5 bar 5,5 bar 6 bar 7 bar 8 bar Spring
g_ Spring 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° 0° 180° | 180° 0°
= | Set |stat End |Start End |Start End [Start End |Stat End |Start End |Start End |Start End |Start End |Start End |Start End |Start| End
, 1 4 19 6,0 3,6 77 53 9.3 69 10 7,6 11,0 8,6 127 102 | 143 119 64 4,0
§ 2 63 3 8,0 5 8,7 55 9.7 64 n3 81 130 98 147 N4 | 180 147 85 53
8 3 84 43 10,0 6,0 n7 7.6 133 93 167 126 | 200 16 106 | 66
e 4 104 6 120 72 153 105 | 187 138 | 128 79
° 3 8 45 109 75 139 104 | 168 133 18 145 | 197 163 [ 227 192 | 256 221 10,1 6,7
§ 4 1.6 7 14,6 10 157 11,1 176 129 | 204 158 | 234 187 263 217 |322 275 135 89
8 5 153 95 182 124 | 211 154 | 241 183 | 299 242 | 358 30 169 | 1M1
e [ 18,9 12 21,9 149 | 277 208 [336 267 |202| 133
3 158 83 | 21,6 141 | 275 199 |333 258 | 356 281 391 316|449 374 [507 432 21 13,3
§ 4 23 13 288 188 | 31,2 21,2 [ 347 247 |405 305 [463 363 |521 421 | 637 5837 277 | 177
g 5 302 177 | 361 23,6 | 419 294 |477 352 | 593 468 7 585 (346 | 221
@ 6 375 224 | 433 283 | 549 399 | 665 515 | 415 | 265
, 3 238 11 |329 203 (421 294|512 386 |549 422 | 604 477 | 695 569 | 787 66 34,7 22
g 4 34,7 179 | 439 27 475 30,7 53 362 [ 622 453 | 71,3 545 | 805 636 | 988 819 462 | 293
8 5 457 246 | 54,8 33,8 64 429 | 731 521 | 915 704 | N0 887 | 578 | 367
e 6 56,7 314 | 658 405 |841 588 | 102 771 | 693 44
3 361 192 | 494 325 | 627 458 76 591 | 813 644 | 893 724 | 103 857 [ 16 99 473 | 304
g 4 52,5 30 658 433 | 71,1 487 | 791 566 | 924 699 | 106 832 | 119 965 | 146 123 63 40,5
8 5 69 409 | 823 542 | 956 675 | 109 808 | 135 107 162 134 | 788 | 50,7
e 6 854 51,7 99 65 125 92 162 N8 | 945 | 608
3 583 288 (797 503 | 101 71,8 | 123 933 | 131 102 144 ns 166 136 187 158 786 | 492
ﬁ 4 848 456 | 106 671 15 757 | 128 88,6 | 149 110 7 132 192 163 | 235 196 105 | 656
g 5 m 624 | 133 839 | 154 105 176 127 | 219 170 | 262 213 131 82
e 6 138 792 | 159 101 | 202 144 | 245 187 | 157 | 984
X 3 755 396 | 103 673 | 131 950 | 159 123 170 134 186 150 | 214 178 | 242 206 98,9 63
§ 4 110 62 138 89,7 | 149 101 165 17 193 145 | 221 173 | 248 201 304 256 132 84
% 5 144 845 | 172 12 | 200 140 | 227 168 | 283 223 | 338 278 165 105
e [ 179 107 | 206 135 | 262 190 317 245 198 126
@ 3 149 84 206 141 262 198 | 319 255 | 342 277 | 376 3M 433 368 | 489 425 199 135
S 4 218 131 274 188 | 297 21 331 245 | 388 302 | 444 358 | 501 415 | 615 528 266 180
§ 5 286 178 | 343 235 | 400 292 | 456 349 | 570 462 | 683 575 | 332 | 224
e 6 355 225 | 4N 282 | 525 396 | 638 509 | 399 | 269
3 277 154 | 383 260 | 489 367 | 596 473 | 638 515 | 702 579 | 808 686 | 915 792 378 | 255
§ 4 404 241 51 347 | 553 390 | 617 453 | 723 560 | 830 666 | 936 772 | 1149 985 504 | 340
g 5 532 327 | 638 434 | 745 540 | 851 646 1064 859 | 1277 1072 | 630 | 425
? 6 660 414 | 766 520 | 979 733 | 1192 946 | 756 | 510
n 3 461 268 | 640 447 | 818 625 | 997 804 | 1068 876 | 1176 983 |[1354 1162 | 1533 1340 625 | 433
8 4 674 417 | 853 596 | 924 667 | 1032 774 | 1210 953 [1389 1132 [ 1568 1310 [ 1925 1668 834 | 577
g 5 887 566 1066 745 | 1245 923 |[1423 1102 | 1781 1459 (2138 1817 [ 1042 | 721
@ 6 101 716 | 1279 894 | 1637 1251 | 1994 1608 | 1251 [ 865
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 03.2012.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. SC180°

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 060%9e



S e s AIR TORQUE

180° Rotation

" ,;!.J,'__Liurj\lfm,{a _.n!:ﬂ b .;'h“"i I".‘ﬂ;‘:: =
L

SC00018 -> SC000308

SC00608 -> SC02008

(Air Connection VDI/VDE 3845 )

(Bottom View 150 5211 )

Single Single
Square Square
PARALLEL DIAGONAL
T Port '4'
Square
DOUBLE
Actuator** T-1SO 1SO*
A B C D E F G N [P | R S Z1 Q Ql w [ Wi
Type 228 Flange
SC00018 | 258 | 69 7 M5x8 | M5x8 | 80 30 1n 20 32 24 42 1/8" Fo4 42 - M5 -
SC00038 | 291 85 | 845 | M5x8 | M5x8 | 80 30 1n 20 32 24 42 1/8" FO5 - FO7 50 70 M6 | M8
SC00068 | 386 | 102 | 93 | M5x8 | M5x8 | 80 30 17 20 32 24 42 1/8" FO5 - FO7 50 70 M6 | M8
SC00108 | 449 | 115 | 106 | M5x8 | M5x8 | 80 30 17 20 32 24 42 1/4" FO5 - FO7 50 70 M6 | M8
SC00158 | 493 | 127 | 1185 | M5x8 | M5x8 | 80 30 17 20 32 24 42 1/4" FO7 -F10 70 102 | M8 | MI10
$C00228 | 576 | 145 | 136 | M5x8 | M5x8 | 80 30 27 20 32 24 58 1/4" FO7 -F10 70 102 | M8 | MI10
SC00308 | 631 157 | 1465 | M5x8 | M5x8 | 80 30 27 30 32 24 58 1/4 FO7 - F10 70 102 | M8 | MI10
SC00608 | 802 | 196 | 181 | M5x8 | M5x8 | 80 30 27 30 32 24 | 675 /4" F10-F12 | 102 | 125 | M10 | M12
SCO01208 | 1006 | 245 | 2215 | M5x8 | M5x8 | 130 | 30 36 50 32 24 80 1/4" F14 140 - M16 -
$C02008 | 1142 | 2985 [ 262 | Méx10 | M5x8 | 130 | 30 36 50 45 40 15 3/8" F16 165 - M20 -

*Note: Other connections available; **other models possible; ***For top square drive shaft see data sheet; Dimensions in mm

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 03.2012.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. SC180°

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0610e



EDITION 2010
Fast Acting Actuators
SC00100U - 05000U

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

Design:  Single Acting

Special Body

Technical Data and Operating Times:

* min. Operating Time (sec.)
Actuators | Air Connection | Exfra Air Bore (mm) Spring Return
Type FA Size Port 2 Air Connection
Port 2 Port 4 Port EAC OPEN CLOSE
FA SC00100U | G 1/8"-1SO228 - @6 24,5 - 0.3 0,25
FA SC00150U | G 1/4"-1SO228 - @7 @5 - 04 0,35
FA SC00220U | G 1/4"-ISO228 G1/4180228 29 - 28 0,15 0,20
FA SC00300U | G 1/4"-ISO228 G1/4180228 29 - 28 0,20 0,25
FA SC00450U | G 1/4"-ISO228 G1/4180228 210 - 210 0,22 0,28
FA SC00600U | G 1/4"-ISO228 G1/4"180228 210 - 210 0,28 0,35
FA SC00900U | G 3/8"-ISO228 G3/8"-150228 @12 - 212 0,32 0,40
FA SC01200U | G 3/8"-1SO228 G3/8"-150228 @12 - 212 0,38 0,45
FA SC02000U | G 1/2"-ISO228 G1/2"180228 213 - 213 0,46 0,55
FA SC03000U | G 1/2"-ISO228 G1/2"180228 @15 - @15 0,52 0,60
FA SC04000U | G 3/4"-ISO228 G1/2"180228 218 - 216 0,87 0,95
FA SC05000U | G 3/4"-ISO228 - 220 - - 1,00 1,30

Test Condition:

* The MINIMUM Operating Time is obtained by the following test conditions:

(1) Room Temperature, (2) Spring Return Actuator with max. number of springs, Stroke: 90°, (3) Minimum inside diameter for air
supply circuit equal fo air bore Port 2, (4) Medium clean air, (5) Air supply pressure: 6bar (87psi), (6) Actuator without external
resistance load, (7) Supply circuit without solenoid valve.

Attention: The indicated operating times are strictly related to the above specified test conditions. The operating times on the
field applications are different depending on the working conditions.

Note:

For other dimensions see catalogue or technical data sheet.

For maintenance and installation see manual instruction.

The Fast Acting actuator cycle life may result lower than for the standard actuators in relation fo the field of working conditions.

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.
No guarantee for accuracy. FASC

Older data sheets are invalid. 0611e



—_—
Fost Acting Actuators AIR TORQUE

SC00T100U - 05000V

PNEUMATISCHE

Design:  Single Acting

FA SC00100U - 00150U Port 2:
Air connection for

-@- internal chamber ) 24

with special bigger
bore

32

Port 4:
Air connection for
external chambers

Connection for type Connection for type
FA $C00220U => 0600U FA SC00900U => 02000U

FA SC00220U - 02000U

Port 2: 40

Air connection for
infernal chamber

32
45

Port 4:
Air connection for
external chambers

Port 2:
Port EAC: ) Air connection for | Port 4:
Extra air connections for external chambers internal chamber | Air connection for
external chambers

Exhaust air holes for SC (filter only on request)

Port 4:

Port 2: ) Air connection for
FA SC03000U - 04000U AN ctonio! 20 external chambers
internal chamber )
L) - T A
(@) @ 06 @) i 4
o = L 0
= <
2 _$_
Port EAC:
Extra air connections for external chambers
Exhaust air holes for SC (filter only on request)
Port 4:
Air connection for
FA SC5000U external chambers
45
—
o
<
Port 2:
Air connection for
internal chamber
with special bigger
bore
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. FASC

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0612e



EDITION 2010
Fast Acting Actuators
DR 00100U - 5000U

Double Acting

Design:

Special Body

FA DROO100U to FA DRO0150U

. DO NOT REMOVE
— Special Body @ THE SCREW

FA DR00220U to FA DR05000U

Special threaded

End Cap .
Special threaded

Piston

External Cap Screw __|

S NSy Internal Cap Screw

Stroke Adjustment
Technical Data and Operating Time:
. * min. Operating Time (sec.)

Actuator Air Connection | Air Connection Extra Air Air Bore (mm) Double Acting

Type FA Size Port 2 Size Port 4 Connection port 2 Port 4 Port EAC e e
FA DROOT00U G 1/8"150228 G 1/8"1S0O228 - 26 24,5 - 0,09 012
FA DR00150U G 1/4"150228 G 1/4"1S0228 - @7 @5 - 0,18 023
FA DR00220U G 1/4"150228 G 1/4"1S0228 G1/4"450228 29 » 28 0,06 0,09
FA DR00300U G 1/4"150228 G 1/4"1S0228 G1/4"450228 29 » 28 0,07 0,10
FA DR00450U G 1/4"150228 G 1/4"1SO228 G1/4"450228 210 - 210 0,09 0,12
FA DR00600U G 1/4"150228 G 1/4"-1S0228 G1/4"450228 210 - 210 0,15 023
FA DRO0900U G 3/8"-150228 G 3/8"-1S0O228 G3/8"150228 @12 - @12 0220 0,30
FA DR01200U G 3/8"-150228 G 3/8"-1SO228 G3/8"150228 @12 - @12 025 035
FA DR02000U G 1/2"150228 G 1/2"1S0228 G1/2"450228 213 - 213 0,30 0,40
FA DR03000U G 1/2"150228 G 1/2"1S0228 G1/2"450228 @15 - @15 035 0,45
FR DR04000U G 3/4"-1S0228 G 1/2"180228 G1/2"180228 218 - 216 037 0,48
FA DR05000U G 3/4"150228 G 1/2"1S0228 - @20 - o 0,40 0,50

Test Condition:

* The MINIMUM Operating Time indicated is obtained in the following fest conditions:
(1) Room Temperature, (2) Double Acting Actuator, Stroke: 90°, (3) Minimum inside diameter for air supply circuit equal to air bore
Port 2, (4) Medium clean air, (5) Air supply pressure: ébar (87psi), (6) Actuator without external resistance load, (7) Supply circuit

without solenoid valve.

Attention: The indicated operation times are strictly related to the above test conditions. The operating times on the field applica-
tions are different depending on the working conditions.

Note:

For other dimensions see catalogue or technical data sheet.

For maintenance and installation see manual instruction. The Fast Acting actuator cycle life may result lower than for the standard
actuators in relation to the field conditions.

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. FADR
info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0613e



EDITION 2010
Fast Acting Actuators
DR 00100U - 5000U

Design: Double Acting

FA DR0O0100U to FA DR0O0150U

FA DR00220U to FA DR02000U

FA DRO3000U bis FA DR04000U

Port 2:
Air connection for
infernal chamber

Dimensions in mm

with special bigger
bore

Port 4:
Air connection for
external chambers

32

Interface connection for type
FA DR00220U to FA DRO0600U

Interface connection for type

FA DR0O900U to FA DR02000U

24

Port 2:
Air connection for
internal chamber

Port 4:
Air connection for
external chamber

Port EAC.:
Extra air connections for
external chambers

Port 2:
Air connection for
internal chamber

40

45

Port 2:
Air connection for
internal chamber

Port 4:
Air connection for
external chambers

Port 4:
Air connection for
40 external chambers

s (D -

2
Port EAC.
Extra air connections for external
chambers

FA DRO5000U

-
Y

Port 4:
Air connection for
external chambers

Port 2:
Air connection for
internal chambers

with special bigger
bore

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.
No guarantee for accuracy.
Older data sheets are invalid.

FADR
0614e




—_—
Fost Actng Actucto AIR TORQUE

DR/SC 10000U e ——

Design:
ORIng (11) Nut (04) Cap Screw (02F) O-Ring (11)
Washer (03) Washer (03)
) DO NOT REMOVE
Nut (04) — O-Ring (11) THE SCREW
i
Special Special
threaded End threaded Special Body (50F)
Cap (32) Piston (43) Port 4: G1/2"
Air connection fo
External Cap Internal Cap 5 external chambers
Screw (24) Screw (23)
approx. 1100 mm
r
o
<
> Part No. Quantity Part No. Quantity
£ 0
g ° 02F 2 24 2
32
9 03 4 32 2 Port 2: G1"
'8 g 04 6 43 2 Airconneoﬁon for
S5 infernal chamber
£ = n 6 50F 1
g O with special bigger bore
& 23 2 = s

Technical Data and Operating Times:

* minimum Operating Time (sec.)
. . . . Air Bore (mm)
Air Connection Air Connection . .
Actuator Type size Port 2 size Port 4 Spring Return Double Acting
Port 2 Port 4 OPEN CLOSE OPEN CLOSE
FA DR/SC10000U G 17150228 G 1/2"-180228 221 213 1.5 1.4 1.5 14
Test Condition:

* The MINIMUM Operating Time indicated is obtained in the following test conditions:

(1) Room Temperature, (2) SC -> Spring Return Actuator with maximum number of springs per side, Stroke: 90°; DR -> Double Acting
Actuator, Stroke: 90° (3) Minimum inside diameter for air supply circuit equal fo air bore Port 2, (4) Medium clean air, (5) Air supply
pressure: 6bar (87psi), (6) Actuator without external resistance load, (7) Supply circuit without solenoid valve.

Attention: The indicated operating times are strictly related to the above test conditions. The operating times on the field appli-
cations are different depending on the working conditions.

Note:

For other dimensions see catalogue or technical data sheet.

For maintenance and installafion see manual instruction. Fast Acting actuator cycle life may result lower than for the standard
actuators in relation o the field conditions.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 03.2012.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. FA10000

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0615e



EDITION 2010
Extreme Low Temp. LLT
-55°C (-67°F) bis +80°C (+176°F)

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

41
Part No. Qty. Note Description / C ion Pi
Stainless Steel (only for DR/SC00015U - 00150U)
01 1 n/a for DR/SC00010U Octi-Cam (Stop arrangement)
Carbon Steel / Nodular Cast Iron, zinc coated
02 2 n/a for DR/SC00010U Stop Cap Screw Stainless Steel A2 70 (ISO 3506)
03 2 n/a for DR/SC00010U Washer Stainless Steel A2 (ISO 3506)
04 2 n/a for DR/SC00010U Nut (Stop screw) Stainless Steel A2 70 (ISO 3506)
05* 2 4 Stk for DR/SC10000U Bearing (Piston back) PA46
for DR/SC00010U - DR/SC00030U PA46
06* 1 Bearing (Pinion top)
for DR/SC00060U - DR/SC10000U HGP
for DR/SC00010U - DR/SC00030U PA46
07* 1 Bearing (Pinion bottom)
for DR/SC00060U - DR/SC10000U HGP
08* 2 1 pcs. for DR/SC00010U Thrust Bearing (Pinion) PA46
o e for DR/SC00010U - DR/SC04000U Plug Silicone
for DR/SC05000U - DR/SC10000U O-Ring Plug Special Silicone
10 1 Thrust Washer (Pinion) Stainless Steel AlSI 304
n* 2 n/a for DR/SC00010U O-Ring (Stop screw) Special Silicone
12 2 Piston Guide PAG6+GF
8 for DR/SC00010U - DR/SC02000U
13 12 for DR/SC03000U and DR/SC04000U Cap Screw Stainless Steel A2 70 (ISO 3506)
16 for DR/SC05000U and DR/SC10000U
131 16 for DR/SC10000U Washer (Cap screw end cap) Stainless Steel A2 (ISO 3506)
14* 2 O-Ring (End cap) Special Silicone
15* 2 Bearing (Piston head) POM
16* 2 O-Ring (Piston) Special Silicone
17 max. 12 | for DR/SC00030U - DR/SC10000U Spring (Cartridge) SiCr Spring alloy Steel, coafted
171 max. 2 | for DR/SC00010U - DR/SC00015U Spring SiCr Spring alloy Steel, coated
172 max. 2 | for DR/SC00010U - DR/SC00015U Spring SiCr Spring alloy Steel, coated
173 max. 2 | for DR/SC00010U - DR/SC00015U Spring SiCr Spring alloy Steel, coated
18 1 Spring Clip (Pinion) Stainless Steel AlSI 302
19 1 for DR/SC00010U - DR/SC00030U Position Indicator PAG66+GF+CB / Stainless Steel
19.0 1 Graduated Ring PA66+GF+(CB)
191 1 n/a for DR/SC00010U - DR/SC00030U Position Indicator PA66+GF+CB
195 1 n/a for DR/SC00010U, only for DR/SC10000U Top Adaptor Extruded Aluminium alloy, anodized
19.6 2 n/a for DR/SC00010U, only for DR/SC10000U Hex. Socket Screw (Top Adaptor) Stainless Steel
20* 1 O-Ring (Pinion bottom) Special Silicone
21* 1 O-Ring (Pinion top) Special Silicone
o e for DR/SC00010U - DR/SC04000U End Cap Pressure Die Cast Aluminium alloy, anodized and coated
for DR/SC05000U and DR/SC10000U Cast Aluminium alloy, anodized and coated
39 1 Cap Screw (Indicatfor) PAG6+GF+CB
o 3 for DR/SC00010U - DR/SC04000U e Pressure Die Cast Aluminium ally, anodized
fur DR/SC05000U and DR/SC10000U Cast Aluminium alloy, anodized
41 1 Label Polyester-Silver
42 2 only for DR/SC00010U, 5000U and 10000U End Cap Label Polyester-Silver
43 1 Spigot (Only on request) Extruded Aluminium alloy, anodized
= ; Bodly Extruded Aluminium alloy, coated
for DR/SC05000U and DR/SC10000U Cast Aluminium alloy, coated
1 60 1 only for DR/SC00010U and DR/SC10000U Drive Shaft Extruded Aluminium alloy, anodized
| 60.1 1 for DR/SC00015U - DR/SC05000U Integral Drive Shaft Stainless Steel AlSI 316 (1,4401), E.N.P.
| 65 1 Plastic Insert PA66 modified

Notes: *suggested SPARE PARTS for maintenance

Lubricant: GLLT Grease; For operation installation and maintenance see the manual for use and maintenance.

Technical Data:

Operating Temperature: -55°C (-67°F) to +80°C (+176°F) / up to -60°C (-76°F) only for short period of time.

Operating Time: fo be verified on each application depending on working conditions.
Working Pressure: max. 8 bar
Operating Media: dry or lubricated air or inert/non-corrosive gases provided they are compatible with infernal actuator parts and lubricant.

The operating media must have a dew point equal at least 10°C below the ambient temperature. The maximum particle size must not exceed 30pum.

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 10.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34

info@airtorque.de - www.airtorque.de

No guarantee for accuracy. ELLT

Older data sheets are invalid. 0616e



EDITION 2010

Pneumatic Actuators
Operating Media Water

AIR TORQUE

PNEUMATISCHE STELLANTRIEBE

und groBer

nur fur Typ DR/SC00220

30/32
PartNo.| Qty Description Material Specification Corrosion Protection**
01 1 Octi Cam only for model DR/SC00015U - 00150U Stainless Steel - -
02 2 Stop Cap Screw for DR/SC00015U - 00150U A2 70 1SO 3506-1 -
02F 2 Cap Screw only for DR/SC00220U - 10000U A270 1SO 3506-1 -
03 2/6 | Washer 1.4301 UNI EN 10088-2
04 2/4 | Nut (Stop screw) A2 70 1SO 3506-2 .
04F 2 Nut (Screw internal stroke adj.) only for model DR/SC00220U - 1000U A2 70 1SO 3506-2 -
05* 2 Bearing (Piston back) POM - -
06+ 1 Bearing (Pinion top) for model DR/SC00010U - 00030U POM - -
Bearing (Pinion fop) for model DR/SC0O0060U - 10000U HGP - -
o7+ 1 Bearing (Pinion bottom) for model DR/SC00010U - 00030U POM - -
Bearing (Pinion bottom) for model DR/SC00060U - 10000U HGP - -
08* 2 Thrust Bearing (Pinion) POM - -
0o o Plug for model DR/SC00010U - 04000U Silicone - -
Plug for model DR/SC05000U - 10000U M-NBR - -
10 1 Thrust Washer (Pinion) 1.4301 UNIEN 10088-2 =
1n* 2/6 | O-Ring (Stop scew) M-NBR 5 5
12 2 Piston Guide PA66+GF - -
8 Cap Screw (End cap) for model DR/SC00010U - 02000U A2 70 1SO 3506-1 -
13 12 Cap Screw (End cap) for model DR/SC03000U - 04000U A270 1SO 3506-1 -
16 Cap Screw (End cap) for model DR/SC05000U - 10000U A270 1SO 3506-1 -
14* 2 O-Ring (End cap) M-NBR - -
15* 2 Bearing (Piston head) HGP 5 =
16* 2 O-Ring (Piston) M-NBR - -
17 nr?gl]sz Spring (Cartridge) SiCr Spring Alloy Steel | UNI EN 10270-2 Standard
18 1 Spring Clip (Pinion) C75 UNI EN 10132-4 Standard
19.0 1 Graduated Ring for model DR/SC00010U - 10000U PA66+GF(+CB) - -
19.1 1 Position Indicator PAb6+GF+CB - -
19.5 1 Top Adaptor for DR/SC00060U - 10000U Aluminium 6026 UNI EN 573/3
19.6 2 Hex. Socket Screw (Top adaptor) A2 70 1SO 3506-1 -
20* 1 O-Ring (Pinion bottfom) M-NBR 5 5
21* 1 O-Ring (Pinion fop) M-NBR - -
23 2 Screw (internal stroke adj.) only for model DR/SC00220U - 10000U A270 1SO 3506-1 -
24 2 Screw (external stroke adj.) only for model DR/SC00220U - 10000U A270 1SO 3506-1 =
30 2 End Cap for model DR/SC00010U - 00150U EN AC-46000 UNI EN 1706 Anodized + Polyester coated
12 2 End Cap for model DR/SC00220U - 05000U (threaded) EN AC-46000 UNI EN 1706 Anodized + Polyester coated
End Cap for model DR/SC10000U (threaded) EN AC-42100 UNI EN 1706 Anodized + Polyester coated
39 1 Cap Screw (Indicator) PA66+GF+CB 1SO 3506-1 -
40 2 Piston for model DR/Sc00010U - 00150U EN AC-46000 UNI EN 1706 Standard
40F 2 Piston for model DR/SC00220U - 05000U (threaded) EN AC-46000 UNI EN 1706 Standard
Piston for model DR/SC10000U (threaded) EN AC-46400 UNI EN 1706 Standard
41 1 Identification Label Polyester-Silver RC 45 -
43 1 Spigot (on request) Extr. All. EN AW-6063 UNI EN 573/3 Standard
50 ] Body for model DR/SC00010U - 04000U Extr. All. EN AW-6063 UNI EN 573/3 Standard
Body for model DR/SC05000U and 10000U All. EN AC-42100 UNI EN 1706 Standard
60 1 Drive Shaft for model DR/SC00010U - 10000U 1.4401 / 316 EN 10088-3 / ASTM A582 | Standard
65 1 Plastic Insert for model DR/SC00015U - 03000U Modified PA66 - =
Notes: Technical Data:

* Suggested SPARE PARTS for mainfenance.

** For other kinds of standard protection see manual.
Lubricant: STD Grease

For maintfenance and/or spare parts refer fo the manual.

Operating Temperature: +1°C to +80°C

Operating Time: depending on each application a. working conditions
Arbeitsdruck: max. 8bar

Wasserqualitat: Clean Water

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 10.2011.
No guarantee for accuracy.
Older data sheets are invalid.

DRSCW
0617e




EDITION 2010

Pneumatic Actuators Aln TOHQUE
L |

with add. Travel Stop - FISCHE STELLANTRIEBE
PNEUMATISCHE STELLANTRIEEBE

DR/SCO00015U - DR/SC10000U Special threaded
End Cap (32)
O-Ring (11)

Washer (03)

‘ Nut (04)

Stop Screw

(221G - 50%) : @ AIR TORQUE
(222G - 100%)

Stop Screw | /

Typ A &) a o

itk

L min. (approx.)

L max. (approx.)

Stop Screw
TypB®w

Part No. Quantity Part No. Quantity
03 2 221..G (50%) 2
04 2 222..G (100%) 2
32 2

Parts and
Quantity for
one Actuator

Note:
(A) - For the type of the screw see the table.

Actuator with Travel Stop for 50% stroke adjustment (90°-45°)

?JR/S CB: 00015 | 00030 | 00060 | 00100 | 00150 | 00220 | 00300 | 00450 | 00600 | 00900 | 01200 | 02000 | 03000 | 04000 | 05000 | 10000

50%

":: 162 | 180 | 244 | 270 | 296 | 365 | 371 | 453 | 468 | 521 624 659 760 995 918 1060

L::;x' 176 196 266 | 295 324 | 399 | 409 | 497 515 571 680 725 838 1080 1006 1160

ssg:;?” A-SW3 A-SW4 A-SW5 B-SW8 B-SW10 B-SW10 B-SW13 B-SW17 | B-SW22 | B-SW22 | B-SW30
Actuator with Travel Stop for 100% stroke adjustment (90°-0°)

DR/SC

U..B | 00015 | 00030 | 00060 | 00100 | 00150 | 00220 | 00300 | 00450 | 00600 | 00900 | 01200 | 02000 | 03000 | 04000 | 05000 | 10000

I'r:::‘ 158 184 242 280 303 356 368 449 461 531 628 653 762 910 910 1060
L rr::‘x' 186 216 286 330 359 424 444 537 555 631 739 785 918 1080 1086 1260
Ss;::\)lv A-SW3 A-SW4 A-SW5 B-SW8 B-SW10 B-SW10 B-SW13 B-SW17 | B-SW22 | B-SW22 | B-SW30

Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 12.2011.

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. DRSC-TRAVEL STOP

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0618e



STAINLESS STEEL
Actuators
Technical Data

131

30 14

50.1

only for size DRSC00450S and bigger

141

02 04 03 1 21 06 01 09

46/47

a 05 40 12 601 20 07

only for size DRSC00015US

17.3

17.2

LAl

Part | Spare . A S
No. Parts Quantity / Note Description Specification

Stainless Steel ( only for DRSC00015S - DRSC00150S)
01 1 OCTI-Cam (Stop arrangement) -

Carbon Steel, zinc coated
02 2 Stop Cap Screw Stainless Steel A2 70 (ISO 3506) / optional Stainless Steel A4 70
03 2 Washer Stainless Steel A2 (ISO 3506) / optional Stainless Steel A4
04 2 Nut (Stop screw) Stainless Steel A2 70 (ISO 3506) / optional Stainless Steel A4 70
05 O 2 Bearing (Piston back) High-grade polymers
06 O 1 Bearing (Pinion top) High-grade polymers
07 O 1 Bearing (Pinion bottom) High-grade polymers
08 ©) 2 Thrust bearing (Pinion) High-grade polymers
09 o O 2 not for DRSC00450S a. bigger Plug M-NBR / Silicone
10 1 Thrust washer Stainless Steel AlSI 304
n o 0O 2 O-Ring (Stop screw) M-NBR
12 2 Piston guide High-grade polymers
13 8 Cap screw Stainless Steel A4 70 (ISO 3506)
13.1 8 not for DRSC00450S a. bigger Washer Stainless Steel A4 (ISO 3506)
14 o O 2 O-Ring (End cap) M-NBR
14.1 o O 2 not for DRSC00450S a. bigger O-Ring (Body extension) M-NBR
15 O 2 Bearing (Piston head) High-grade polymers
16 o O 2 O-Ring (Piston) M-NBR
17 max.12 | for DRSC00030S-DRSC02000S Spring (Cartridge)
17.1 Spring . X

N SiCr Spring alloy steel coated
17.2 max.4 | not for DRSC00015S Spring
17.3 Spring
18 1 Spring clip (Pinion) Stainless Steel AlSI 302
19.1 1 Position indicator High-grade polymers
20 O O 1 O-Ring (Pinion bottom) M-NBR
21 O O 1 O-Ring (Pinion top) M-NBR
. % for DRSC000155-DRSC00300S EBEIGERE Stainless Steel 1.4408 (EN 10283) / CF8M (ASTM A351), ENP
for DRSC00450S a. bigger Stainless Steel 1.4401 (EN 10088-3) / F316 (ASTM A 182), ENP
39 1 Cap screw (Indicator) High-grade polymers
40 2 Piston Pressure Die Cast Aluminium alloy, anodized
41 1 Label Polyester-Silver
42 2 End cap label Polyester-Silver
. Stainless Steel 1.4401 (EN 10088-3) / F316 (ASTM A 182), for DRSC00015S

44 1 NAMUR connection plate -

Stainless Steel 1.4408 (EN 10283) / CF8M (ASTM A351)
45 2 Cap screw (Connection plate) Stainless Steel A4 70 (ISO 3506)
46 O O 1 O-Ring port 2 (Connection plate) M-NBR
47 O O 1 O-Ring port 4 (Connection plate) M-NBR
50 1 Body Stainless Steel 1.4401 (EN 10088-3) / F316 (ASTM A 182), ENP
50.1 2 not for DRSC00450S a. bigger Body extensions Stainless Steel 1.4401 (EN 10088-3) / F316 (ASTM A 182), ENP
60.1 1 Integral drive shaft Stainless Steel 1.4401 (EN 10088-3) / F316 (ASTM A 182), ENP

O Parts included in Spare Part Kit

[ Parts included in O-Ring Kit

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen

Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 12.2011.
No guarantee for accuracy.
Older data sheets are invalid.

EA
061%9e




S —
e AIR TORQUE
ORQU

Technical Data SREDTATISCHE STELLANTRIEBE

Top Detail

DRSC000158 | D71
DRSC00300S

DRSC00450S
DRSC02000S

Air Connection VDI/VDE 3845

DRSCO00015S - DRSC00300S
T Port '4'

A
Actuator DRSC DRSC DRSC DRSC DRSC DRSC DRSC DRSC DRSC
Type 00015S | 00030S | 00060S | 00100S | 00150S | 00300S | 00450S | 00900S | 020008 Port 2! 24 ‘
A 141 159 21 248 268 345 412 492 630 [~
B 69 85 102 15 127 157 177 2205 298,5
C(ca) 75 86 99 n4 128 159 210 250 335
F 80 80 80 80 80 80 80 130 130 DRSC00450S - DRSC02000S
G 30 30 30 30 30 30 30 30 30
Port 2 2x Port 4
N n n 17 17 17 27 27 36 36 T T
P 20 20 20 20 20 30 30 50 50
T 18O 228* 1/8" 174" 1/4" 1/4" 174" 174" 1/4" 1/4" 3/8"
@Z1 37 37 37 37 37 51 60 68 104 @ 65
ISO Flange Fo4 F05 FO5 + FO7 | FO5 + FO7 | FO7 + F10 | FO7 + F10 | F10 + F12 F14 F16
Q 42 50 50 50 70 70 102 140 165
Q1 - - 70 70 102 102 125 - - BOdy e COp
w M5 M6 M6 M6 M8 M8 M10 M16 M20
W1 - - M8 M8 M10 M10 M12 - -
Srtione F03 ; . : : - - |Roer2| -
ISO Flange Bottom View ISO 5211
SW ox11 1x12 14x16 17x19 17x19 22x24 27x29 27x29 36x39
] n)\(ln. oS 1x12 14x16 17x19 - 22x24 27x29 - 36x39 46x49

*NPT (ANSI B1-20-1) Threads available on request only for DRSC00015S - DRSC00300S.

P 00015S | 00030S | 00060S | 00100S | 00150S | 00300S | 00450S | 00900S | 02000S w
eues Type DR SC |DR SC|DR SC|DR SC|DR SC|DR SC|DR SC |DR SC|DR SC Wi
nzZE('j«) ec) | 02 [025(025[ 03| 03|04 |04]05|05|07]09]|12[12]15] 2 |24]35]a
CLOSE
rmeny  Ge0) | 02|03 | 03]035/035| 05| 05| 06|06 | 09| 11 14|14 18] 22|28] 4 |40
A"g’s‘;‘me W 009 016 031 051 071 154 241 426 10
A"C\g‘;?e w 015 026 049 078 m 2,34 378 6,89 152
LB kg) | 2729384060 64|88 |094[123]133|226[245(346|377 | 58 | 65 | 135 | 150
approximate (ka) i ' ' i ' i ' ’ i ' ' ' i sl Square Square Square

_— ’ ; ) " DOUBLE (stby PARALLEL DIAGONAL
Note: (A) The above moving times of the actuator are obtained in the following test conditions:

For model DRSC00015S - DRSC00450S: (1) Room Temperature, (2) Actuator Stroke 90°, (3) Solenoid Valve with orifice of 4

mm and a flow capacity of Qn 400L/min., (4) Inside pipe diameter 8 mm, (5) Medium clean air, (6) Air supply pressure

5,5 bar (79,75 Psi), (7) Actuator without external resistance load.

For model DRSC00900S - DRSC02000S: (1) Room Temperature, (2) Actuator Stroke 90°, (3) Solenoid Valve with orifice of ‘
11 mm and a flow capacity @n 6000L/min., (4) Inside pipe diameter 11 mm, (5) Medium clean air, (6) Air supply pressure sw swW $

5,5 bar (79,75 Psi), (7) Actuator without external resistance load. | | | | <

Cautions: Obviously on the field applications, when one or more of the above parameter are different, the moving time
will be different.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 12.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. EA

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0620e



; EDITION 2010 A i
Multifunction |n<cj(i::<§:§r"es AIR TOHQUE
— —ar DR/SC00010U - 00150U

SLHE STELLANIT RIEBE

DR/SC00015U - 00030U

Cam insert for
mechanical

: Plastic insert Plastic indicator
) switch
Metal pin for PN. 10619 P.N. 10519, yellow SW11->P.N. 05519, black
sensor confact yellow
P.N. d5x10 Plastic insert

P.N. 10519
black
Plastic insert
P.N. 10519
black
Plastic insert P.N. 05519
. P.N. 10519
Metal insert for yellow
sensor confact Dimensions in (mm)
P.N. 10419 _
Cam insert for 10 -
Metal pin for mechanical switch D
sensor contact P.N. 10619
P.N. d5x10 yellow

Cam insert for
mechanical
switch

P.N. 10619, black

46,5

Plastic insert Metal insert for 3
Plastic insert P.N. 10519, black sensor contact
P.N. 10519, black P.N. 10419
DR/SC00060U - 00150U
Plastic insert

Cam insert for
mechanical
switch

P.N. 10619, yellow

P.N. 10519, yellow

Plastic indicator
SW11 ->P.N. 05519, black

Metal pin for
sensor confact

EEERKI0 Plastic insert

P.N. 10519
Plastic insert Lelel
P.N. 10519 P.N. 05519
black

Dimensions in (mm)
Metal insert for Plastic insert
sensor contact P.N. 10519 ]
P.N. 10419 yellow g o
N

Metal pin for
sensor contact Cam insert for
P.N. d5x10 mechanical switch

P.N. 10619
yellow
Cam insert for 0
mechanical £
switch
P.N. 10619, black
Plastic insert Plastic insert Metal insert for
P.N. 10519, black P.N. 10519, black sensor contact
P.N. 10419
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 12.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. MFA00010U-00150U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0701e



EDITION 2010 Accessories
Mulfifunction Indicator A.R T
DR/SC00220U - 10000U >

ORQUE

IALISLHE STELLANI RIEDE

DR/SC00220U - 00600V

Plastic insert Plastic indicator
TAI. 50519, yellow % P.N. PT45519, black
Cap screw
Specicl Washer P.N. 05039
S.S. screw P.N. PT35039A
for Special S.S. screw for
sensor sensor contact
contact P.N. 40319
P.N. 40319
Plastic insert
P.N. 50519
black
FeRle ey Plastic insert =
P.N. 50519 PN. 50519
black vellow
Dimensions in (mm)
&
1 0}
Special S.S. screw o
for sensor contact ~
P.N. 40319
Cam insert for
mechanical Cam insert for mechanical
switch switch
P.N. 50619, black P.N. 50619, yellow =
DR/SC00900U - 10000V
Washer Cap screw

P.N. PT35039A P.N. 05039

Plastic indicator
P.N. PT65519, black

o

Plastic insert
P.N. 60519, yellow
Plastic insert
P.N. 60519
black

Special S.S.
screw
for
sensor contact .
P.N. 40319 Special S.S. screw
for sensor contact o
P.N. 40319 — |
Plastic insert |
P.S.sélé:s;r;se Plastic insert |
black P.N. 60519
ﬂ
n —
RE]
Special S.S. screw
for sensor contact )
Cam insert for P.N. 40319 Cam insert for
mechanical mechanical T
switch switch A\ 4 Dimensions
P.N. 60619, black P.N. 60619, yellow F in (mm)
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 12.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. MFA00220U-00600U

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0702e



L AIR TORQUE

AdOpTOI’S NEUMATISCGHE STELLANT R
Adaptors: A C
S/
B
e -
all dimensions in [mm]
Part No. A B C Part No. A B C
SW external SW internal SW external SW internal

ADH11/09 11 9 11 ADH17/14 17 14 17
ADH14/09 14 9 16 ADH22/16 22 16 22
ADH14/10 14 10 16 ADH22/17 22 17 22
ADH14/11 14 11 14 ADH27/22 27 22 27
ADH14/12 14 12 16 ADH27/24 27 24 27
ADH17/10 17 10 17 ADH36/27 36 27 36
ADH17/11 17 11 17 ADH36/30 36 30 36
ADH17/12 17 12 17 ADH55/46 55 46 55
Centerring:
Design A: Design B: |

gD
‘ @D agd
T ‘ T
} Zd @ d1
Type ISO Part No. D d di| H | De- Type ISO Part No. D d dl| H | De-
Flange (f8) sign Flange (f8) sign
00010 |FO3 ZRF03/S03 25 |21,7| / 3 A 00450 |F10+F12 |ZRF10/S10 (only F10) 70 62 / ) A
FO4 ZRF04/504 30| 25| /7 |35] A F12 ZRF12/S12 85 |76 | /| 6| A
00015 |FO3+F05 | ZRF03/S03 (only FO3) 25 |21,7| / 3 A 00600 |F10+F12 |ZRF10/S10 (only F10) 70 62 / ) A
FO4 ZRF04/504 30| 25| /7 |35] A F12 ZRF12/S12 85 |76 | / | 6| A
00030 |F03+F05 | ZRFO3/S03 (only FO3) 25 |21,7| / | 3 A 00900 |F10+F12 |ZRF12/S12 (only F12) 85 |76 | / | 6 | A
FO4+F07 | ZRFO4/S04 (only FO4) 30 25 / 135 A F12 ZRF12/S12 85 76 / 6 A
FO5+F07 | ZRFO5/S05 (only FO5) 35 30 / 4 A F14 ZRF14/S14 100 | 90 / 7 A
00060 | FO5 ZRF05/S052 35 |322]| / 4 A 01200 |F10+F12 |ZRF12/S126 (onlyF12) | 85 78 / |45 A
FO5+F07 | ZRF05/S052 (only FO5) 35 |322| /| 4] A F14 ZRF14/S14 1009 | /7|7 A
00100 |FO7 ZRFO7/S07 55 48 / |45 A 02000 |F14 ZRF14/S14 100 | 90 / 7 A
FO5+F07 | ZRFO5/CRD2530 (onlyFo5) | 35 | 28 | 40 | 3,8| B F16 ZRF16/S16 1301120 7/ | 9 | A
00150 |FO7 ZRFO7/507 55 | 48 | / |45] A 03000 |F16 ZRF16/516 130120 /7 | 9 | A
FO5+F07 | ZRFO5/CRD2530 (only FO5) 35 28 | 40 | 3,8 B 04000 |F16 ZRF16/S16 130 | 120 | / 9 A
FO7+F10 | ZRFO7/S07 (only FO7) 55 48 / |45] A F16+F25 | ZRF16/S16 130 | 120 | / 9 A
F10 ZRF10/S10 70 62 / 5 A ZRF25/S25 200 | 187 | / 9 A
00220 |FO7+F10 | ZRFO7/S07 (only FO7) 55 | 48 | / |45] A 05000 |F16+F25 |ZRF25/S25 (onlyF25) | 200|187 | / | 9 | A
F10 ZRF10/S10 70 62 / ) A 10000 |F16+F25 | ZRF25/S25 (only F25) 200 | 187 | / 9 A
00300 |F07+F10 | ZRFO7/507 (only FO7) 55 [ 48 | 7 [45] A +F30
F10 ZRF10/S10 70 62 / 5 A
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 12.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. ADHZR

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0703e



Er?elzlggicz glc’rouo’rors A.R TORQUE

MANUAL

UMATISCGHE STELLANTRIEBE

INSTALLATION, MAINTENANCE AND OPERATING INSTRUCTION MANUAL
For ACTUATORS EDITION 2010:

* DR/SC *Double acting “DR” and Spring return “SC” *90°-180° Stroke

1. GENERAL P.0901e 6. MAINTENANCE INSTRUCTIONS P.0903e
2. WARNING P.0901e 7. STORAGE INSTRUCTIONS P.0907e
3. WORKING CONDITIONS AND TECHNICAL DATA P.0901e 8. LIFTING AND HANDLING P.0907e
4. OPERATING FUNCTION AND DIRECTION OF ROTATION P.0902e 9. NOTES REGARDING THE FLANGE CONNECTION P.0907e
5. INSTALLATION INSTRUCTIONS P.0902e

U GENERAL

This instruction manual contains important information regarding the installation, operation, maintenance and storage for AIR TORQUE rack and pinion pneu-
matic actuators. Please read these instructions carefully and keep them for future reference. It is important that the use and maintenance of the actuator is
made only by properly frained personnel.

2. WARNING

. Do not operate the actuator using inflasmmmable, oxidizing, corrosive, explosive or unstable gases or liquids (use only not dangerous fluids — group 2 according
to 97/26/EC directive). Moreover, for actuators installed in potentially explosive zones, make sure that the infernal parts of the actuator do not come info
contact with the external atmosphere.

. Referring to the Machinery Directive 2006/46/EC, the actuators can be classified as “PARTLY COMPLETED MACHINERY” (see the DECLARATION OF
INCORPORATION). Therefore the actuator can not put into service until the machinery and/or the system, where the actuator is incorporated, will be declared
in compliance with the requirements of the Directive 2006/42/EC.

. Air Torque actuators are designed, produced and classified according to the ATEX Directive 94/9/EC (see actuator label and safety instructions). The use of
the actuators in potential explosive atmosphere zones has to comply with the ATEX classification indicated on the actuator label and according to the ATEX
safety instructions.

. The use, the installation and the maintenance of the Air Torque actuators must be made by adequately frained personnel. For the use, installation and main-
fenance of Air Torque actuators it is recommended to comply fo the safety nofice and to use proper equipment fo protect health and prevent accidents.

. It is important that the actuator is used only within the working limits indicated in the technical specifications.

. Do not operate the actuator over temperature limits: this could damage internal and external components (disassembly of spring return actuator may become
dangerous).

. Do not operate the actuator over pressure limits: this could damage infernal parts as well as cause damage to the housing and end-caps.

. Do not use the actuator in corrosive environments with incorrect protection: this could damage the internal and external parts.

. Do not disassemble individual spring cartridges, this may result in personal injury. If maintenance to springs is necessary, send them to AIR TORQUE.

. Close and disconnect all air supply lines and make sure that air connections are vented during maintenance and installation on valve.

. Do not disassemble the actuator or remove end caps while the actuator is pressurized.

. The 4TH GENERATION Upgrade Series actuators are designed to be used only on valves.

. Before installing the actuator onto the valve make sure that the rotation direction and the position indicator are in the correct position.

. If the actuator is incorporated in a system or used within safety devices or circuits, the customer shall ensure that the national and local safety laws and
regulations are observed.

3. WORKING CONDITIONS AND TECHNICAL DATA

. Operating media:
Dry or lubricated air or inert gases, provided that they are compatible with the actuator internal parts and lubricant. The operating media must have a dew
point equal to ~20°C (-4°F) or at least 10°C below the ambient temperature. The maximum particle size contained into the operating media must not exceed

30 um.
. Supply pressure:

The maximum supply pressure is 8 bar (116 Psi), only for AT801U it is 7 bar (101,5 Psi).
For double acting and spring refurn actuators the working pressure is from 2.5 bar (36 Psi) to 8 bar (116 Psi).
. Operating temperature:
==> "Standard” actuators from -40°C (-40°F) to +80°C (+176°F)
==> Actuators for high temperature "HT” from -15°C (+5°F) to +150°C (+300°F)
==> Actuators for extreme low temperature “LLT” from -565°C (-67°F) to + 80°C (+176°F)
Caution: for low and high temperature service, special grease and special components are required. Please contact AIR TORQUE. Working at high or low
femperature can affect the life and the output torque of the actuator.
. Operating time (see technical data sheet):
Caution: the operating fime depends on several factors such as supply pressure, supply systfem capacity (pipe diameter, flow capacity of pneumatic acces-
sories), valve type, valve torque and figures, applied safety factor, cycle frequency, temperature, etc.
. Rotation and stroke adjustment (see technical data sheet):
For standard actuators (90° rotation), 120° actuators (120° rotation), 135° actuators (135° rotation) and 180° actuators (180° rotation).
Stroke adjustment at 0°(closed pistons): +15°maix/ - 5°. Stroke adjustment af 90°, 120°, 135° and 180°(open pistons): +5°/-15°max. For actuator AT045U the stroke
adjustment at 90° (open pistons) is available only on request.
. Lubrication:
The actuators are factory lubricated for the life of the actuator in normal working conditions.
The standard lubricant type GSTD is suitable for use from -40°C (-40°F) to +80°C (+176°F).
For extreme low temperature (LLT) and high temperature (HT) service, special grease is required: please contact Air Torque.
. Construction: Rack and pinion actuator design suitable for both indoor or outdoor installations.
. Protection and corrosion resistance:
All the actuators are supplied with corrosion profection for normal environments. For corrosion resistance of the different types of protection see technical data
sheet. Before installing the actuator in aggressive environment, ensure that the selected protection level is suitable.
. Actuator designation and marking (see technical data sheets):
The actuator type, size, operating pressure, output forque, direction of rotation, spring action, operating temperature and type of connections/interfaces are
determined by designation.
. All' AIR TORQUE actuators are supplied with an identification label showing the serial number and all necessary information on use, service, operation and
product designation. Where applicable, the label indicates the classification according to ATEX Directive 94/9/EC.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Manual E

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0901e



EDITION 2010

Pneumatic Actuators Aln TORQUE

MANUAL

PNEUMATISCHE STELLANTRIEBE
e & T

4. OPERATING FUNCTION AND DIRECTION OF ROTATION

| The actuator is a pneumatic device for remote operation of industrial valves. The operation (90°,120°,135° or 180° rotation) may be activated by different
methods:

. Direct mounting of solenoid valve (5/2 for double acting, 3/2 for spring return) to pressure connections 2 and 4, connected to supply and control lines.

. Screwed connection (fo pressure connections 2 and 4) with air lines from separate control cabinet. The standard rotation (when port 4 is pressurized or
for spring action) is clockwise to close. When port 2 is pressurized, counter-clockwise rotation is obtained.
Air Torque actuators can be supplied with different types of assembly/rotation direction depending on the type of required operation and/or installation,
see fechnical data sheets.

Double Acting operation function (standard rotation type “ST”) TOP View Single Acting operation function (standard rotation type “ST”) TOP View
Air supplied to port 2 forces the pistons Air supplied to Port 4 forces the pistons Air supplied to Port “2” forces the pistons The loss of air pressure (air or electric failure) |
towards the actuator end caps. A counter- inward. A clockwise rotation is achieved. toward the actuator end caps, compressing  at Port “2” allows the springs to force the
clockwise rotation is achieved. Exhaust air Exhaust air exits from Port 2. the springs. A counter-clockwise rotation is pistons inward. A clockwise rotation is achie-
exits from Port 4, achieved. Exhaust air exits from Port 4. ved. Exhaust air exits from Port 2.

5. ACTUATOR INSTALLATION INSTRUCTIONS
The Air Torque actuator is a pneumatic device for the remote operation of industrial valves. The actuator will operate through 90°,120°,135° and 180° rotation
permitting the opening and closing of many types of valves up to 180° rotation.
All the necessary technical information to install the actuator correctly and safely onto a valve i.e.: Dimensions, Oufput torque, Supply pressure, Air volume,
Stroke adjustment, Operating fime, Operating temperature, Direction of rotation and Weight is stated clearly on the Actuator label, in the catalogue and
technical data sheets. Please read all technical information before proceeding with the actuator installation.

5.1 Important safety notice!

. For safety reasons, the actuator must not be pressurized at any time during installation as injury may result.

. The utmost cleanliness is required during air supply connection to the actuator i.e. the connecting pipe thread, fittings and seals must be clean and dirt-free.

. When fitting accessories onfo the actuators, assemble them in such a way that the emergency control of the solenoid valve and the top of the drive
shaft are easily accessible, should emergency manual operations be required.

. Before fitting onto the valve, make sure that the actuator/valve are correctly orientated, depending upon which direction of rotation is required.

. For spring return actuators, avoid that dangerous and/or corrosive substances in the working environment enter into the external chambers by using
adequate filters and/or solenoid valves.

. Remove plugs from actuator air connections during installation and operation. Protect the air connections of actuators not being used immediately.

5.2 Interfaces for actuator control and connections, figure A:
5.3 Assembly of accessories: Solenoid valves and switchboxes, figure B:

. Solenoid valve mounting:
Before mounting a solenoid valve, ensure that the actuator is in its normal position (closed position) with pistons inwards.
For standard rotation type “ST” (clockwise to close) assembly: the groove on the drive shaft or on the position indicator 2 must be horizontal to the
longitudinal axis of the actuator in closed position.
Fit the solenoid valve 4 onto the actuator 3 using the provided screws (max. tightening forque see table).
. Switchbox mounting:
Fit the switchbox and bracket 1 onto the actuator 3 using four provided screws (max. tightening forque see table).

Tightening torque table:

Position indicator VDI/VDE 3845 M.. Nm
Ancillaries M5 5->6
attachment M6 10->11

M8 23 ->25
M10 48 > 52
VDI/VDE 3845 M12 Al
Pressure M14 132> 138
connection M16 200 -> 210
M20 390->410
1SO5211 / DIN 3337 M24 675 > 705
Valve actuator attachment bl V30 1340 > 1200
Fig. A Fig. B

5.4  Assembly of valve figure C:
Before proceeding with the assembly of the actuator onto the valve, be sure that the actuator operates
in the desired direction of rotation when pressurised and both actuator / valve are in the correct posi-

| fion.

Important: when using a spring return actuator for a fail safe operation, ensure that when air or electri-
city failure occurs the direction of rotation is correct for your application.
Fit the actuator 3 onto the valve 5. It is possible to assemble the valve onto the actuator in two ways:

. Direct-mount: fit the stem of the valve 5 directly into the female connection of the actuator 3 and bolt
together through the valve ISO pad (max. fightening forque see table).

. Bracket-mount: mounting with a bracket 6 and coupling 7, the bracket is bolted fo the actuator / valve
o join them together and the coupling is used to connect the actuator output drive fo the valve stem
(max. fightening forque see table).

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Manual E

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0902e



_—
Er?elzlgg:icz glc’?uo’rors A'R . Rqu

MANUAL —
STEL! hﬁ;‘“. El

PNEUMATISCHE

6. MAINTENANCE INSTRUCTION
With the information given below, AIR TORQUE provides the end user with all the required information necessary for maintenance. Under normal condi-
tions, the actuator requires only periodic observation fo ensure proper operation.
Maintenance (disassembly, maintenance and rebuilding) of AIR TORQUE actuators is allowed only to AIR TORQUE personnel or properly instructed person-
nel. In case of controversy the product guarantee will expire! Spare kits for maintenace are available to replace all seals and bearings (soft parts indicated
info the table), that may be necessary between 300.000 and 1.000.000 cycles depending on operating and environmental conditions and actuator size.

6.1 DRAWING WITH ITEMIZED COMPONENTS AND RECOMMENDED SPARE PARTS

05+ 01 0B* 41 02 04 03 11* 08 10 32190 190 18 50

Type ExXImm| ExX2mm | 2 d mm

DRSC00010U / 8 13
DRSC00015U 10 8 14
DRSC00030U 10 10 16
DRSC00060U 13 10 22
DRSC00100U 13 10 25
DRSC00150U 17 13 26
DRSC00220U 19 13 36
DRSC00300U 19 17 38
DRSC00450U 22 17 45
DRSC00600U 22 19 48
DRSC00900U 24 19 52
DRSC01200U 30 22 58
DRSC02000U 30 24 68
DRSC03000U 36 22 80
DRSC04000U 46 24 85
DRSC05000U 46 24 90

Part [Quantity |Note Part Description Part | Quantity | Note Part Description

1 1 not for DRSC00010U OCTI-CAM (Stop arrangement) 17.3 | max.2 not for DRSC0O0030U-DRSC05000U |Spring for DRSC00010U and DRSC00015U

2 2 not for DRSC0O0010U Stop cap screw 18 |1 Spring clip (Pinion)

3 2 not for DRSC00010U Washer 19 |1 not for DRSC00010U Position indicator for DRSC00015U + 00030U

4 2 not for DRSC00010U Nut (Stop screw) 190 |1 Graduated ring

05 |2 Bearing (Piston back) 191 |1 not for DRSCO0015U-DRSCO0030U | Position indicator

06 |1 Bearing (Pinion top) 195 |1 not for DRSC00010U-DRSC0O0030U | Top adaptor

o7+ |1 Bearing (Pinion bottom) 196 |2 not for DRSCO0010U-DRSCO0030U | Hex. socket screw (Top adaptor)

08* (2 1 piece for DRSC00010U Thrust bearing (Pinion) 20* |1 O-Ring (Pinion bottom)

09* |2 not for DRSC05000U Plug 21 1 O-Ring (Pinion fop)

09.1* |2 O-Ring for DRSC05000U 30 (2 End cap

10 1 Thrust washer (Pinion) 39 |1 Cap screw (Indicator)

n (2 not for DRSC0O0010U O-Ring (Stop screw) 40 (2 Piston

12 2 not for DRSC00010U Piston guide a1 |1 Actuator identification label

13 8/12/16 (A) Cap screw (End cap) 42 |2 End cap label

14+ (2 O-Ring (End cap) 43 |1 Spigot (only on request)

15* (2 Bearing (Piston head) 50 |1 Body

16* (2 O-Ring (Piston) 60 |1 Drive shaft

17 min5/mox.12 | for DRSC00030U-DRSC05000U Spring (Cartridge) 601 |1 only for type ,E” and ,EC” Integral drive shaft

171 [max.2 not for DRSCO0030U-DRSC05000U | Spring for DRSC00010U + 00015U 65 |1 Plastic insert

172 [max.2 not for DRSCO0030U-DRSC05000U | Spring for DRSC00010U + 00015U

*Suggested SPARE PARTS for maintenance; Notes: (A) 12 pieces for type DRSC03000U/DRSC04000U, 16 pices for type DRSC05000U

6.2 DISASSEMBLY

When disassembly of actuator is required for maintenance, firstly remove the actuator from the valve. Before performing any disassembly operations it is
important to verify that the actuator is not pressurised.

Always use caution and double check that the ports 2 and 4 are vented and are free from any accessory and/or device. When the actuator is a spring refurn
unif, make sure that the actuator is in the failed position and with pistons completely inwards before disassembling.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Manual E

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0903e



EDITION 2010

Pneumatic Actuators Aln TORQUE

MANUAL

PNEUMATISCHE STELLANTRIEBE

A.  Removal of position indicator and graduated ring (Part N° 19,19.0,19.1), figure 01: [Fig 07)
. Remove cap screw (39) if fitted.

. Lift position indicator (19 or 19.1) off shaft, it may be necessary to pry gently with a screwdriver.

. Lift, if necessary, the graduated ring (19.0) off the bodly, it may be necessary to pry gently with a screwdriver.

B. Removal of stop cap screws (Part N° 02), figure 02:
. Remove both stop cap screws together with nut (04) and washer (03).
U Remove stop screw o-rings (11) and discard if replacing all soft parts.

C.  End caps disassembly (Part N° 30), figure 03:

. End caps disassembly for spring return actuators (disassemble one end cap at a time).
Unscrew the end cap bolfs (13) in the sequence shown in figure 03, until the end-caps are free from springs force (for AT0O45U and AT051U
20-23 turns of the screws, for AT101U fo AT801U 4-5 turns of the screws). P Fig. 02
Then completely unscrew the screws and remove the end-cap and the springs. “\‘“U S
If there is still force on the end-caps affer unscrewing as indicated above, this may indicate that
spring cartridge is damaged or that the pistons are not completely closed, so any further disassem- ) .
bly should be discontinued. 5
Further disassembly of the end caps may result in injury. =l

. End caps disassembly for double acting actuators (disassemble one end cap at a time)
Unscrew the end cap bolfs (13) in the sequence shown in figure 03, until the screws are completely
unscrewed and the end caps are free.

. Remove the o-rings (14) using a screwdriver. Discard soft parts if replacing.

. Only for actuators with adjustment 50% or 100%, remove the nut 04R, the washers 03R and o-rings 11R and discard soft parts if replacing.

Fig. 05] D. Pistons disassembly (Part N° 40), figure 04: M
A > . Holding the body (50) in a vice or similar device, rotate the drive shaft (60) until the
pistons (40) are released.
Caution: air pressure should not be used fo remove the pistons from the body.
. Remove o-rings (16) using a screwdriver. Remove the piston back (05) and piston
head (15) bearings.
. Discard bearings when replacing all soft components.

E. Drive shaft disassembly
(Part N° 60), figure 05:

. If necessary, remove the graduated ring (19.0) with a screwdriver, remove the spring clip (18) using snap-ring
pliers or screwdriver for spiral rings, remove the thrust washer (10) and the external thrust bearing (08).
Apply downward force to top of drive shaft (60), until it is partially out of the boftom of the body when it is possible to remove the internal thrust bearing (08)
and the octi-cam (01), then push the pinion (60) completely out of the bodly. If pinion is not easily removed, gently tap the top of the shaft with a plastic
hammer.

. Remove top (06) and bottom (07) pinion bearings and top (20) and bottom (21) pinion o-rings.

. Discard bearings (06) and (07), internal and external thrust washer (08) and o-rings (20) and (21) if replacing the soft components.

All the components disassembled and not replaced will have to be cleaned and inspected for wear and before reassembly, if necessary, also replace
the plugs (09).

6.3  ASSEMBLY:  [Fia.od

Prior fo assembly, ensure that: :

. all the components are perfectly clean and in good condition.

. the spare parts and the lubricant used are suitable for the operating temperature of the actuator (see Air Torque technical data
sheefts).

. Note: The lubricants suitable for the various operating temperatures (Standard, HT and LLT actuators) are available in Air Torque.
Only for “standard” actuators, for femperature from -40°C (-40°F) fo +80°C (+176°F), it is possible to use lubricant Dow Corning type
Molykote® G-2003.

A. Drive shaft assembly (Part N° 60), figures 06, 07 and 07A:

Install fop (06) and bottom (07) bearings, grease and insert the botfom (20) and fop (21) pinion o-rings onto the

shaft.

. Grease the outside surface of the drive shaft as shown in figure 06.

. Insert partially the drive shaft (60) in the body (80), install octi-cam (01) in the correct position (for standard
assembly or for lock-out) as shown in figures 07 and 07A, relafed to the botfom and top of the drive shaft and
the rotation of the actuator when energised. Install the internal thrust bearing (08). Insert completely the drive
shaft in the body.

. Fit external thrust bearing (08), thrust washer (10) and then external spring clip (18) using snap ring pliers or
screwdriver for spiral rings.

B. Pistons assembly (Part N° 40), figures 08, 09, 10 and 11:

. Grease and install o-rings (16), piston back (05) and piston head (15) bearings.

. Grease the infernal surface of the body (60) and the piston (40) rack teeth.

. Insert the female connection of the drive shaft (60) in a properly fixed coupling.

. Ensure that the octi-cam is in the right position as shown in figure 09.

. For standard rotation assembly type “ST” (clockwise to close), rotate the body (50) about 40-45° clockwise
from top view, as shown in figure 10.

. Insert and press the two pistons (40) simultaneously inside the body (50) until the pistons are engaged,
then rotate the body anticlockwise from fop view until the stroke is completed.

. Ensure that with pistons completely closed, the rotation obtained referred to the axis of the body is about
over 0° for models ATO51U - AT801U (0,5° over 0° for ATO45U) and that the dimension “A” on both sides is
the same as shown in figure 11.

Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Manual E

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0904e



EDITION 2010

A
Pneumatic Actuators Aln TORQ“E
£

MANUAL : —
PNEUMATISCHE STELLANTRIEBE

C.  End cap (Part N° 30) assembly, [Fig. 08 [Fig 09
figures 12, 13 and 14: =
+  Assemble one end cap at a time. Ty PR
+  Lubricate the body. e — '. H ',','.','.'. f
. For spring return actuators, insert the springs in | \n ,,..u_
each end cap according to the desired con- |

AT | ez ,,,,,,%;1

figuration, as shown in figure 12 and related |. . 2 Oxﬁlivﬂ" ’J""d
fables. For models DRSC00030U -> DRSC5000U | [ '=||j %: D o
insert spring cartridges as shown in figure 13. bl

. Fit end cap o-ring seal (14) info the groove on both end caps.

. Fit end caps onto the body (60), verifying that the o-ring remains in the groove.

. Only for actuators with 50% or 100% stroke adjustment, ensure that the adjustment screws 221G/222G are completely screwed info the end-cap.

. Insert the cap screws (13) and fighten each only partially. Complete tightening by making 1-2 turns for each screw in the sequence shown in figure 14
until tightening is completed. See the table for screw fightening torque.

Fig. 15

&

D.  Assembly of stop cap screws (Part 02) and stroke adjustment for models DRSC00015U -> DRSC5000U, figures 15 and 16:

. Fit the stop cap screws (02) in the body.

. Stroke adjustment for actuators with standard type “ST” rotation / assembly (clockwise to close).
Stroke adjustment in close position: with the actuator in close position 0°, screw or unscrew the right (from fop view) stop cap screw until the desired
stop position is achieved. Then tighten the stop adjustment nut (04) fo lock it in place.
Stroke adjustment in open position: with the actuator in open position 90°, screw or unscrew the left (from top view) stop cap screw until the desired
stop position is achieved. Then tighten the stop adjustment nut (04) o lock it in place.
For spring return actuators, it could be necessary o make rotation tests to verify the correct stroke adjustment in open position.

. Only for actuators with adjustment 50% or 100%, fit on end-cap adjustment screws 221G/222G the o-rings 11R, the washers 03R and the nuts 04R.
To adjust the stroke in open position: with the actuator in partially or totally open position, screw or unscrew the end-cap adjustment screw 221G/222G
until the desired position is achieved.
It is important that the two end-cap adjustment screws are both in contact with the pistons. Then lock the nuts 04R.

E. Assembly of graduated ring and position indicator (Part N° 19,19.0,19.1), figures
17,18 and 19:

. Fix the graduated ring (19.0) to the body.

. If necessary, correctly position the “Top Adaptor” (19.5) and lock it with the proper
screws (19.6).

. Insert the indicatfor (19 or 19.1) making sure that it indicates the correct actuator
position.

. Screw the indicator screw (39) if assembled.

Spring set configuration of SC/SO00010U and SC/SC00015U:

Tab.01: Spring set configuration DRSC00010U Tab.02: Spring set configuration DRSC00015U
Side B Side A Side B Side A LF2-128] Side B Side A
Spring Set | DRscooo10U DRsC00010U Spring Set | DRSC00015U | DRSCO0015U | DRSCO001SU | DRSC00015U
Spring type Spring type Internal External Internal External
S1-1 1 (green) 1 (green) springtype | springtype | springtype | spring type
S1-2 1 (green) 2 (red) S1 1 (green) — 2 (black)
$2-2 2 (red) 2 (red) 52 — 2 (black) — 2 (black)
$2-3 2 (red) 3 (black) S3 — 2 (black) — 3 (red)
S3-3 3 (black) 3 (black) S4 e 3 (red) e 3 (red)
S5 — 3 (red) 1 (green) | 2 (black)
S6 1 (green) | 2 (black) 1 (green) | 2 (black)
7. STORAGE INSTRUCTIONS S7 1(green) | 2 (black) | 1(green) 3 (red)
If the actuator is not for immediate use, the following precaution must be taken for storage: & l(green) | 3(red) | 1(green) | 3(red)
. Store the actuator in a clean and dry environment and at temperature between -20°C (-4°F) and +40°C (+104°F).
. It is recommended that the actuator be stored in its original box.

. Do not remove the plastic plugs on air supply ports.

8. LIFTING and HANDLING
It is recommended fo lift the actuators with proper, adequate and permitted systems in relation to the actuator weight and by following the ruling laws
in terms of safety and health protection. The weight of the actuators is indicated on the Air Torque catalogue and on the related technical data-sheets.
During the lifting and the handling of the actuators, it is recommended fo avoid clashes and/or accidental falls in order to avoid irreparable damages |
to the actuators and to compromise the functionality.
Contact Air Torque for any information and technical data-sheets.

Flange [(Md max.all. (Nm)| Flange [Md max.all. (Nm)| Flange |Md max.all. (Nm)
9. NOTES regarding the FLANGE CONNECTION 03 2 10 500 F25 8000
Extract from the standard DIN ISO 5211:
The torque values in the following table show the maximum torques which i e iE JI000 0 151000
are allowed to be transmitted by the flange connection: Fo5 125 Fl4 2000
Fo7 250 F16 4000
Air Torque GmbH
Im Katzentach 16-18 - DE - 76275 Ettlingen Modifications reserved. Date 06.2011.
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34 No guarantee for accuracy. Manual E

info@airtorque.de - www.airtorque.de Older data sheets are invalid. 0905e



Name of company:

Address:

Foundation:
Staff:

Manager:

Products:

Capacity:

Applicated
standards
and regulations:

Quality assurance
of the products:

COMPANY PROFILE AIR TORQUE

[ VIATISCGHE STELLANT RIEBE

AIR TORQUE GmbH

AIR TORQUE GmbH

Im Katzentach 16-18

76275 Ettlingen

Tel.  07243-5934-0 Internet: http://www.qirforque.de
Fox: 07243-5934-34e-Mail:  info@airtorque.de

1991 - HRB 1908 E
12

Dipl-Ing. Mark Schmidt
Dipl-Ing. Lorenz Stolzenberg

Pneumatic part turn actuators
Double acting and single acting actuators

Torque:

- Double acting actuators from 7,3 Nm to 10007 Nm at
6 bar qir pressure

- Single acting actuatos from 8,1 Nm to 4068 Nm at
6 bar air pressure

Turning range:
90° - 120° - 135° - 180°

6.000 Actuators/Month

ISO 5211

DIN 3337
VDI/VDE 3845
NF E 29 - 409

Manufactured to a quality system assessed and approved
to ISO 9001 (production Italy)
Lloyd’s Register of Approval Cerfificate No: LRC 160122

Application: Part turn actuators are used for automatical operation
of valves, which purpose is to reduce, cut off or bypass
a stream of material with adjustable cross-sections
Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 07.2009.
No guarantee for accuracy. Company Profile
Older data sheets are invalid. 1101e



REFERENCES

i
-
&
AIR TORQUE Deutschland GmbH Phone +49-7243-5934 0
Im Katfzentach 16-18 Fax +49-7243-5934 34
76275 Efflingen Emaiil info@airtorque.de
certified acc. to DIN EN ISO 9001:2000 Internet www.airforque.de

Company Location Company Location

ABB GENEVA Switzerland DUPONT England

AGIP Galliano ELF Atochem Leuna, Germany
AIR-LIQUIDE Germany, France ELF Tanklager Hartmannsdorf, Germany
AKZO Elsterberg, Germany ENEL [taly

AKZO Holland FASERWERK Kehlheim Kehlheim, Germany
BASF AG Antwerpen FLOURDANIEL Eng. South Africa

BASF AG Ludwigshafen, Germany HAARMANN & REIMER Holzminden, Germany
BASF AG Schwarzheide, Germany HENKEL KGoA Dusseldorf, Germany
BAYER AG Bitterfeld, Germany HIMONT [taly

BAYER AG Indonesia HOECHST AG Frankfurt, Germany
BOEHRINGER Ingelheim, Germany HOECHST AG Gersthofen, Germany

BSL Olefinverbund GmbH

Leipzig, Germany

HOFFMANN - LA ROCHE

Grenzach, Germany

CASSELA AG Frankfurt, Germany JOHN BROWN Eng. Holland

CIBA-GEIGY AG Grenzach, Germany MANNESMANN DEMAG Deutschland

DEGUSSA AG Rheinfelden, Germany MIBRA Tagebau Proven, Germany

DOW Agrosciences Drusenheim, France NESTLE I.C.I. ZENICA England

DOW Benelux Terneuzen, Holland NISSAN CARS Japan

DOW Deutschland Stade, Germany PANTOCHIM Belgium

DOW Deutschland RheinmUnster, Germany RHONE POULENC RORA England

DOW Deutschland Ahlen, Germany SACHTLEBEN Chemie Duisburg, Germany

DOW Izolan Viadimir, Russia SAMSON AG Frankfurt, Germany

DOW Olefinverbund Schkopau, Germany SOLVAY Belgien

DOW Wolff Bomliz, Germany TOYOTA CARS Japan

DSM Holland WACKER Chemie Burghausen, Germany
Air Torque GmbH

Im Katzentach 16-18 - DE - 76275 Ettlingen
Tel.: +49 (0)7243 59 34-0 - Fax : +49 (0)7243 59 34-34
info@airtorque.de - www.airtorque.de

Modifications reserved. Date 11.2011.
No guarantee for accuracy. References
Older data sheets are invalid. 1102e



